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PA3JIEJ 1. NPEJJIOKEHUE
(SENTENCE)

B 3aBUCHMMOCTH OT 11e7TM BBICKA3bIBaHUS MPEIJIOKEHUS B AHTJIUHUCKOM SI3BIKE
JIEJISITCS Ha:
a) moBecTBOBaTeabHEBIC (Declarative Sentences):

We are lucky. Hawm Beser.
0) BonpocutenbHbie (Interrogative Sentences):
How are you? Kak nmoxuBaere? Kak nema?
B) noBeuTenbHbIe (Imperative Sentences):
Put your books away, please. Y6epure, noxxanyicra, CBOU KHUTH.
Consider fig.1. Paccmotpum puc. 1.
r) Bockiunarensubie (Exclamatory Sentences):
I’m so hungry! S Tak ronoaex!
Bce »Tm mpemioxkeHus MOTYT OBITh KaK YTBEPAUTCIBHBIMU, TaK U
OTPHUIATETHHBIMH.
B 3aBHCHMOCTH OT CTPYKTYPBI MPEIOKEHHUS ICIATCS HA MPOCTHIC U CIIOKHBIEC.
[TpocTeie TIPEIITOKCHHSI MOTYT OBITH HEPacIPOCTPAHCHHBIMHA WU

pacripocTpaHeHHbIMU. CJI0KHBIE MPEIJIOKEHUS MOTYT OBITh CII0KHOCOUYUHEHHBIMU
WJIW CJIOKHOIOJYMHEHHBIMU.

IopsaoKk ¢JI0OB B aHIVIMMCKOM NMOBECTBOBATEJILHOM NpPeII0KeHUHU
(Word Order)

B anrnmiickom s3bike, B OTJIIMYME OT PYCCKOI0O, CYIIECTBYET (PUKCUPOBAHHBIM
HOPSZIOK CJIOB B NMPEAJIOKEHNUHU, KOTOPBII MOKHO IPEAICTABUTH CIEAYIOIUM 00pa3oMm:

IMopsiIoK CJ10B AHTIHIHCKOTO MPOCTOr0 PACHPOCTPAHEHHOT O
NMOBECTBOBATEJILHOTO NPe/II0KEHNSI

0 1 2 3 4
OOCTOATELCTEO IToanexkaniee Crasyemoe HOIOHEHHE OOCTOATELCTEO
Adverbial modifier Subject Predicate Object Adv. modifier

A A & A A

HpOCToe; COCTAaBHOE
HMCHHOE, COCTABHOC
[NarojibHo¢

% Koceennoe - Indirect‘

% IIpsmoe - Direct ‘

TIpeano:xHoe
| Prepositional

OnpeneneHHs
Attribute

Ilpumeuanue: OrnpeneneHue HE UMMEET TMOCTOSHHOIO MeCTa B CTPYKType
MIPEJIOKEHUs, OHO OOBIYHO BXOJIUT B COCTaB CMBICIIOBOM TPYMIIBI ONpPEASasieMOro
CJIOBa, pacroJjiarasich cjieBa WIH CIipaBa OT HETO.



Hoonesxccamee u ckazyemoe SBISIOTCA 00s3aTEeNIbHBIMU  4ICHAMH B
AQHTJIMICKOM TIPEJIOKEHUH (KPOME MOBEITUTENBHBIX MPEIOKEHUI), B TO BpeMsl Kak
Jpyrue 4WiIeHbl MPEJIOKEHUS] MOTYT OTCYTCTBOBaTh. [loaTOMY npu mepeBojie HaJIo B
NEPBYIO OUepeb HANTH MOJIeKaIIee U CKa3yeMoe.

Iloonesxcawgee B aHTIUICKOM TIPEUIOKEHUM MOXET OBITh BBIPAXKEHO
CYLIECTBUTEIBHBIM (TIE€PBOE CYIIECTBUTENIbHOE 0€3 Mpeiuiora U He CTosliee Mociie
rjiaroia), MECTOMMEHHEM B HUMEHHTEIIbHOM Tanexe (somebody, I, she w np.),
WH()UHUTHUBOM, TepPYHJINEM, YUCJIUTEIBHBIM, CyOCTaHTUBUPOBAHHBIM
MpUJIaraTeIbHbIM.

Ckasyemoe MOXeT OBITh BBIPAXEHO TIJarojioM B TOW WJIM HWHOW BHJIO-
BpEMEHHOU popme.

The students are engaged in doing the Cmyoenmul 3aHSTHI BBITOJIHEHUEM

experiment. AKCIEPUMEHTA.

The blind usually walk with white sticks. Cnenste 00bIYHO XOAST € OCTBIMU
MaJI0YKaMH.

They don’t know the rules. OHnu He 3HAIOT MpaBUIIA.

Two is a cardinal numeral. Jlea — KOMMYECTBCHHOC YUCIIMTEIBHOC.

To read much is to know much. MHoro yumams — MHOTO 3HATh.

Reading did much to me. Ymenue MHOTO J1aJI0 MHE.

Mectoumenus they v one 3aMEHSIOT MOJUIEXKAlEEe B HEONPEACICHHO-IUNYHOM
MPEJI0KEHUH, MECTOUMEHUE if yOTpeOIsieTCsl B O€3TUYHOM

One can often see him here. Ero Mo>xHO 371€Ch 4aCTO BUJIETD.
They say he is clever. ['oBOpAT, UTO OH yMEH.
It is cold today. CeroaHst X0JIOIHO.

B npemnoxenusix c 00opoTrom there is/are (GopMalbHBIM TOJICKAIINM
ABIIIETCS CJIOBO there, KOTOpOE, OJHAKO, HE MMEET CaMOCTOSATEIbHOTO 3HAYCHMS.
Takue npenyokeHus: yKa3blBalOT HA HAJTUYUE MIPEMETa B ONPeIeTICHHOM MECTE:

There are different types of telephones.  Cywgecmeyrom (ecmsv) pa3nudHble THUITHI
TenedOoHOB.

Mectoumenue it ynoTpeOssgeTcss TakkKe B YCHUIUTEIbHO-BBLICIUTEIBHOMN
KOHCTPYKUIMU it is ... that (which, who, when) nyis BbifeneHUs JTIOO0T0 4YieHa
MPEVIOKEHUST (KPOME CKa3yeMoro), KOTOPhIH MOMEIIAeTCsd MEXIY WICHaMHU 3TOU
KOHCTPYKIUH («B paMKy»). YcuwieHue (BbIJCICHUE) OMPEIEICHHOrO0 CJIoBa C
MTOMOIIIBIO TaKOW KOHCTPYKUMH (it is ... that) nepeBoaUM CIOBAaMU THUTIA «UMEHHO,
moObKo, IMO, Kak paz» W TPOAOIDKAEM TEPEeBOJ, COXpaHss TMOPSAOK CJIOB
AHTJIMICKOTO MPE/JI0KECHHUS:



I UmenHO

M II | II v
1. It was Popov who invented radio. Hmenno TlonoB uzobpen paauo.
I
| II I 1| B AY/
2. It was not until 1995 that he published U monskoe B 1995 1. oOH
his book. omyOJUKOBAJ CBOIO KHUTY.

Jlononnenue CTOWUT cpady TOCIE CKa3zyeMmoro (BBIPaKEHHOTO TIEPEXOIHBIM
TJIarojioM).

Ob6cmosimenbcmeo OOBIYHO CTOUT B KOHIIE MPEIONKCHUS WU B Hadaje ero,
OJTHAKO BCTpPEYACTCS W B CEpPeAWHE NPEIJIOKCHHS (Yalle BCEro B BHUJC Hapeyus
HEOTIPE/ICIICHHOTO BPEMCHH ).

Onpeodenenue MOXET CTOSTH JIO0 M TIOCNIC JIFOOOTO WieHa TIPEIJIOKCHUS,
BBIPKCHHOT'O CYIIIECTBUTCIIBHBIM.

B aHrIMiickoM NpemIoKeHUH, B OTIMYUE OT PYCCKOTr0, OT MECTOTOJIOKCHHUS
CJIOBA 3aBUCHT, KAKUM UYJICHOM TPEJIOKECHHUS OHO SBIIICTCS, M M3MCHCHHE TOPSIKA
CJIOB B MPEIONKCHUH TPUBOJIUT K H3MEHEHHIO €T0 CMBICIIA!

She made five calls in ten minutes. OHna cnenana msaTh 3BOHKOB 3a 10 MUHYT.
A ship that is in difficulty can call the  Kopabib B TpyaIHOM NOJIOKEHUU MOXKET
nearest coast station and, if necessary,  BbI3BaTh  Onmxaiimyio  OeperoByio
ask for help. CTaHIIMI0O H, €CIU  HEOoOXOJUMO,

IMOMPOCUTHL TIOMOIIb.

Ecnmu moBecTBOBaTeNbHOE NIPEMIOKCHHE SBISETCS OTPHUIATEIBHBIM, TO
OTpULIATENIbHAsT YacTUIA kOt CTaBUTCS IOCJEe MOJAIBHOTO IJIarojia WIN JUYHOU
(bopMBI BCTIOMOTATEIBHOTO TJ1ar0J1a, BXOAIIETO B COCTaB CKa3yeMoro:

Y ou must not miss lectures. Bbl He 10MKHBI IPOITYCKATh JIEKITUH.

B aHrnmiickom mpenyioXeHWH, B OTIMYHUE OT PYCCKOTO, MOXKET OBITh TOJBKO

oJHO oTpuuaTenbHoe ¢yioBo. ([locie MmecTonMeHus no apTUKIbL HE YyIIOTpedseTcs. )

I said no word about it to anybody. S He ckazan 00 3TOM HUKOMYy Hu CJIOBA.

BonpocureabHble Npea0KeHUS
(Interrogative Sentences)

Bomnpocs! nonpasaenstorcs Ha:
a) o01ume, OTHOCSAUIUECS KO BCEMY MNMPEUIOKEHUIO U TpeOyIolue OTBETa «0a» WIH
«uemy («yesy/«no» questions);
0) crenuanbHbIe K OTJASIBHBIM WIeHaM TpeioxKeHus (wh-questions);
B) anbTepHATUBHBIC (alternative questions);
r) pacwieHeHHbIe (disjunctive questions/tag questions).

a) Oobwuii eonpoc (yes/no question) HAYMHAETCA CO BCIIOMOTATEIbHBIX
1J1arosoB to be, to have, to do (B nuunoit dbopme), will/shall, would/should vnu c



MOJAJIBHBIX TIJIarOJOB B COOTBCTCTByIOH_[CI;'I q)opMe, KOTOPBIC CTaBATCA IICPCH
IO JICKAILI M

Are you coming with us? Tosl upems ¢ Hamu?

No, I’m not. Her.

Did they give a discount? Onu ganu cKuaky?

Yes, they did. Ha.

Can you write in Java? Tsl MOKeIIb UcaTh Ha sA3bIKE Java?
No, I can’t. Her.

OtpunarensbHas Qopma OOIIKMX BOMPOCOB BBIPAXKAET YAMBICHHUE WU
COOTBETCTBYET B PYCCKOM SI3bIKE BOIPOCAM, HAUYMHAIOIIUMCS C «pazge?» Wiu
«HeyxHcenu?»:

Didn’t you tell them about the deal? Pa3zee (Heyrcenu) THI HE CKazal UM O
caenke?

Aren’t you going to the conference? Pazee (neyycenu) Bwl He wuzere Ha
KOH(pepeHIUI0?

0) Cneuyuanvuvie eonpocvl (wh-questions) OTHOCITCS K KaKOMY-HUOYIb
yreHy mpennoxkeHus. OHM HAYMHAIOTCS C BOMPOCHUTENHHOTO CJIOBAa, KOTOPOE
MOKa3bIBaCT, K KAaKOMYy WICHY NpPEeIOKEHHs ‘OTHOCHTCS Bompoc. OCHOBOHM st
00pa30BaHUS CIICIIUATBHBIX BOIIPOCOB CITYKaT OOUINE BOMIPOCHI.

YTBepauTebHoe NpeaaoKeHne
[Tognexamiee | Ckazyemoe | JlononHeHme OO0CTOATENBECTBO
A student is doing an experiment |in the laboratory now.
O01mmii Bonmpoc
Is |a student doing lan experiment |in the laboratory now?
CrenuajJbHbIH BONPOC
What |is |a student doing in the laboratory?
Why an experiment |in the laboratory now?
How far is the construction site from Kak pmameko otTcioga  cTpouTeNbHas
here? rIomaaka’?
Why have you come? [louemy ThI nputIen?
Where do you live? I'ne BBI xxuBeTe?

BOHpOC K MDOMJICKAIICMY HWIIH CT0 OIPCACICHUIO HMCCT IIOpAIOK CJIOB
IMOBCCTBOBATCIBLHOI'O IIPECATTOKCHUA.

Who is doing an experiment in the Kmo  mnpoBOOAUT  DKCIEPUMEHT B
laboratory? nabopaTopuu?

B) Anvmepnamuenslit éonpoc 1o Gopme TpeaAcTaBiIseT coOoM aBa O0IUX
BOTIPOCA, COCTMHEHHBIX COI030M «0F» (BTOPO BOMPOC OOBIYHO OBIBACT HETIOJIHBIM).
ITo conepkaHUIO albTEPHATUBHBIN BOMPOC SBISACTCS CHEIUATBHBIM, T. K. OTHOCHTCS



K KakoMy-HHOY/b 4YJIeHY MpeJIoKeHHUs (Yalle BCero K OOCTOATENbCTBY), MOITOMY
TpeOyeT MOJIHOTO OTBETA, KaK U CIeHaIbHbIM BOIPOC.

Do you like tea or coffee? — I like tea.
You go there, or will your colleague? — My colleague will.

r) OcoObIM BHUJIOM OOIIMX BOIMPOCOB SBISIOTCA TaK Ha3bIBaeMbIC
pacuwieHeHHble Bonipockl (Disjunctive Questions/Tag Questions).

PacunenenHslii  BOmpoc  MpeicTaBisieT co0OMl  yTBEpIUTEIbHOE WM
OTPHUIIATEJILHOE TMOBECTBOBATEIBHOE TIPEJJIOKEHHE, K KOTOPOMY MPUCOCTUHEH
KpaTKuil OOIIHMI BOMPOC, COCTOSIIUNA U3 COOTBETCTBYIOIIETO MECTOUMEHUS U TOTO
BCIIOMOTaTEIbHOTO WJIM MOJIAJILHOTO TJIaroja, KOTOPhIA BXOAUT B COCTaB CKa3yeMOoro
MOBECTBOBATEILHOTO mpeanioxeHus (do, does win did, ecnu ToBeCTBOBATEIHHOE
npensioxxenue B Present unu Past Indefinite):

+ KpaTKUH OOLIHI BOIIPOC
Y TBepIKICHIC (tagpquestion) ’
1. | You speak French, | don’t | you?
2. | She isn’t | very busy, 1s she?
3./ You are | working hard, | aren’t | you?
4 4 4 4
A B B A

0 ] /
Kpartkuit o01uii BOmpoc COOTBETCTBYET B PYCCKOM SI3BIKE CIIOBAM «He Hpasoa
au? ne mak au? oa?y:

1. BsI roBopure no-ppaHiry3cku, He Tak Ju?
2. Bsl MHOrO paboraere, He mpapjaa Jiu?
3. Omna He o4eHb 3aHATa, Aa?

Practice
Exercise 1. Point out subjects and predicates in the following sentences. Translate
the sentences into Russian.

. Many great men in England have been buried in Westminster Abbey.

. Everyone is ready to help him.

. Our astronauts have spent hundreds of hours in outer space.

. One needn’t go to a post-office to send a letter.

. To send letters from one community to another was necessary even in ancient
times.

. There is a railway road connecting these two towns.

It 1s autumn.

. He was late for the train.

. It has been raining for two days.

. He began to prepare for exams.

. She stopped crying and looked at me hopefully.
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12. He is considered to be a clever man.
13. His work is interesting and important.
14. Jack has to take a taxi.

Exercise 2. Point out objects. Translate the sentences into Russian.
1. They pick apples in October.
2. Tom sold his car.
3. Satellite Internet offers two-way data communication.
4. Electronics encompasses broad range of technology.
5. We won’t go out unless it stops raining.
6.1 live in the house by the sea.
7. He asked me to open the door.
8. The keys to the boxes were lost.
9. One can daily see him in the bar.

Exercise 3. Point out attributes and adverbial modifiers. Translate the sentences
into Russian.
1.1 am going to read the newspaper delivered.
2. Here 1s the document to be typed.
3. The problem being discussed is very important.
4.1 read this article with great interest.
5. He told me about this tragic event at home yesterday.
6. He offered me a cinema ticket at the university yesterday.
7. We often come across this expression on business English.
8. He has sent me a few English books to read in my spare time.
9. Show me the telegram received in the morning.

Exercise 4. Arrange these groups of words in the right order. Add (.), (?) or (!).
Describe each sentence as a statement, question, command or
exclamation.

1) the coffee, don’t, spill;

2) today’s papers, have, you, seen;

3) to meet you, how, nice;

4) my umbrella, where, did, you, put;

5) arrived, the train, fifteen, minutes, late;

6) have, discussed, the problem, they;

7) in our, student, group, studies, this;

8) examinations, June, will, take, students, the, next;

9) laboratories, are, at, there many, the, University;
10) factories, furniture, produce, these;

Exercise 5. Put questions to the words in bold type.
1. Michael doesn’t like sweet things.
2.1 went to the theatre but | don’t remember the play.
3. The game was cancelled.



4. My father never left his native country.
5. 8he used to live next door.
6. The children can read French.
7. There are twelve students in the group.
8. The document was signed by the President.
9. At nine o’clock next morning he will be taking part in the discussion of a very
important scientific issue at our University.
10. Alan is leaving in a week.

Exercise 6. Define the types of the sentences. Translate them into Russian.
1. It 1s this last category that is of interest to us.
. One cannot live without friends.
. It often snows in February.
. It was this scientist who discovered this reaction.
. They say Ed is the best football-player.
. It was Tsiolkovsky who suggested the idea of a man-made satellite.
. One who wants to be a teacher should love children.
. It was not till 1959 that scientists succeeded in this field.
9. It is too dark outside.
10. It is clear.

(e BN I o) RNV, I SR OS I \O)]

Exercise 7. Point out 1) disjunctive questions, 2) alternative questions and

3) questions to the subject.

1. Does he often come here?

2. Who often comes here?

3. When does he come here?

4. He often comes here, doesn't he?

5. Does he or his friend often come here?

6. He doesn't often come here, does he?

7. What lay on the table?

8. Did the book lie on the table or on the floor?

9. The book lay on the table, didn't it?

Exercise 8. Put all possible special questions to the following sentences.
1. Last night they went to the drama theatre to see a new play.
2. By the time he came home his younger sister had done all home exercises.
3. Every day at 5 o'clock the homeless black cat came to the back door of the old
country house to get something to eat.
4. There are many flowers in our garden in summer.
5. He makes many mistakes when he writes his dictations or compositions.
6. The telegram will have been delivered before they get this letter.
7. The theatre was being built when [ moved to this street.
8. The students had written their test by 12 o'clock yesterday.
9. Next year she will have taught English for 20 years already.
10. The students are listening to the lecturer attentively.



HNuBepcus
(Inversion)

KpoMe  oOTMEUEHHBIX  BBIIIE  CJIy4aeB  OTCTYIUIGHHS OT  MPSMOTO
(bUKCUPOBAHHOTO TMOPSJKA CIOB B AHTJIMHCKOM MPEIJIOKEHUU (BOMPOCUTEIBHBIC
npeioKeHus, 000poT there is / are, yCUIUTEILHO-BBIICIUTENIbHAS KOHCTPYKIUS it
is ... that), B 00IIECTBEHHO-TIOJUTUYECKON U TEXHUYECKOMN JIUTEPAType CYIIECTBYIOT
OTCTYIUICHHUSI TIO CTHJIMCTHYECKUM COOOpaKeHMSIM, KOTJa HEOOXOIWMO BBIJICIUTH
KaKON-HUOYIb BTOPOCTEIICHHBIN YieH MpeioKeHus. BeijensemMoe ciioBo, €Ciu 3To
HE HapylIaeT TPaMMaTUYECKUX CBS3EH MEXIYy CI0BaMH, OOBIYHO BBIHOCHICS B
Hayajgo mpeiokeHus. Takod cmocoO yCWICHHUS 3HAYECHHUS KaKoro-jinbo wieHa
MIPEJIOKEHUS HAa3bIBACTCSl MHBEPCHUEH.

1. Ilpu uHBEpCUU B HAYAJIO TIPEAJIOKEHUS MOKET BBIHOCUTHCS
a) JOTIOJTHCHHE:

This mistake we observed in all his HUmenno ymy ouwuéxy Mbl HAOII01aTH
articles. BO BCEX €r0 CTAThsIX.

0) ckazyemoe:
In the vacuum was a new sample. B Bakyyme Haxoouscs HOBBII oOpasell.

B) CMBICJIOBAas YacTh CJOXHOTO CKa3yeMOro, KOTOpass MOXXET OBbITh BbIpa)KEHa
npujiaraTeJbHbIM, TPUYACTUEM HACTOALLETO BpemeHu (mpudactuem I), mpuuactuem
MpoLIeAIero BpeMeHu (npuyactuem Il) wiu CynecTBUTENBHBIM € MIPEAJIOIOM:

Remaining to be discussed is the main (Tenepp) octaercst 06CYIUTH OCHOBHYIO
problem. npoOJieMy.

2. MuBepcusi Takke BCIpEUaeTCs B  YCTYNUTEIBHBIX MPEIIOKESHUIX
(Concession Clauses). B 3ToM ciydae NpuaaToqHOE MPEI0KCHUE HAUUMHACTCS HE C
cotoza though (although) <«xoms», a CcO CMBICJIOBOM 4YacTh CKa3zyeMoro,
BBIpQXKECHHON TpWIArarelibHbIM WM MpUYacTHEM (MHOTJA CYIICCTBUTEIIBHBIM), 3a
KOTOpOU CIEeNYIOT COI03bI though v as:

Difficult though it may be the problem Xomsa 5>T0 MOXeT OBITb W TPYIHO,
will be formulated. 3aja4a OyaeT chopMyIUupoBaHa.

3. HuBepcuio MOTYT BBI3bIBaTH HEKOTOpPHIE HApEyMs, COIO3HBIE ClOBa H
CJIOBOCOUYETAHUS, €CIIM OHU CTOSIT B HAYaJIe MPEJJIOKEHUS:
only — TOJbKO
never — HUKOT/a ... He (K CKazyeMoMmy)
rarely — penko
nowhere — Hur 1€
not only ... but — He TONBKO ... HO U
hardly ... when — eniBa ... Kak
neither ... nor — a Tax ke ... He (K CKa3yeMoMmy)
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given — TIpu YCJIOBUH, €Clid (AaHO), €CIM UMEETCS
provided (that), providing that — npy ycJlIOBUH, €CIU
save — 3a UCKIIIOYEHUEM TOT0, YTO; KpOME

Only in special cases do the waves Tonbko B 0COOBIX CIydasXx BOJIHBI
reinforce one another. YCUJIUBAIOT APYT JIpyTa.

Not only did the current stop but ... He moavko npexpaTuics TOK, HO U ...
Now the system recovers from a fault Tenepr cucrema o0cBOOOXHAaeTCS OT
given a fault occurs. OIMOKU mpu ycaoeuu, 4YTO OIIKOKa

HUMECT MECTO.

Exercise 1. Translate the following sentences into Russian.

1. Given a particular network, one can always examine all possible states of the
system.

2. He had perfect knowledge of all the aspects of the situation save one.

3. The insertion of this metal does not change the temperature provided the third
metal is of the same temperature.

IHoBennTe/bHBbIE MPe/JI0MKeHUSsI
(Imperative Sentences)

[loBenuTenpHOE MNPENNIOKEHUE CIYKUT U BBIPAXKEHUA NPUKA3aHUA,
npocbObl, coBeTa, 3ampenieHus. OHO MOKET ObITh KaK YTBEPAUTENIbHBIM, TaK U
OTpULATENbHBIM. [lOBEIUTENBPHOE NPEMIOKEHNE HAYMHAETCA C IJaroja, KOTOPBIH
CTOUT B MHUHUTHBE 0€3 YACTUIIBI «f0» (B YTBEPAUTEIbHOM MPEJI0KEHUN ), UIIU CO
BCIIOMOTaTEIbHOIO  Ilarona  «do» W OTPULIATENIBHOM  YacTULBl  «HOt)
(B OTpULIATEILHOM MPEAJIOKEHUH).

Open the book, please. OTkpoii (Te) KHUTY, TTOXKATYHCTA.
Don’t wait for me. He »xaute MeHs.

Jlnst BBIpaXkKeHUsI TOOYXKICHHS K JIEMCTBUIO, OOpAIIEHHOTO K IEPBOMY H
TpeTheMy JIMUY, Tharoi «let» ynotpeOnsieTcs mepel] COOTBETCTBYIOIIMM JIMYHBIM
MECTOMMEHHUEM B OOBEKTHOM MajJieke (WU CYIIECTBUTEIBHBIM B OOIIEM MajexKe) U
MHOUHUTUBOM 0€3 «foy. dDopmy BTOpPOro nuIa MOBEIUTEIBLHOTO MNPEIJIOKEHUS B
TEXHUYECKOM JuTeparype (Harp. «considery) nydlie nepeaaBaTh (GOpMON MEpBOTo
JMIa MHOKECTBEHHOIO YuCa:

Juyo Ymeepoumenvnasa gpopma Ompuyamenvnan gpopma
l-e |Let me (us) turn on the light. Don't let me (us) turn on the light.
[To3BoJIb (T€) MHE 3a)KE4h CBET. JlaBaiite HEe OyJeM 3aKUTaTh CBET.
JlaBaliTE 3aXKKEM CBET.
2-e  |Turn off the light. Don't turn off the light.
Brixiroune cBer. He BeIKITIOUAKTE CBET.
Be careful. Don't be careless.
Bynb(Te) 0OCTOPOKHBI. He OynbpTe HEOPEIKHBI.

11



Consider fig. 1.
Paccmotpum puc. 1.
3-¢ |Let him(her, them) define the area Don't let him (her, them) define the
of this surface. area of this surface.
[TycThk oH (OHa, OHM) ONIPEACITUT [IycTte OoH (OHA, OHHM) HE OMpEACIISICT
TUTOIIA (b ATON TTOBEPXHOCTH. TUTOIIA (b ATON TTOBEPXHOCTH.
Let the pressure fall. Don't let the pressure (it) fall.
ITycTh naBnenue (OHO) majaer. He nagaii(te) napienuio (eMy) najath.

CJ10:kHO€ TIpeaJIo:KeHue

CnoxHoe TpeIIoKEHNE COCTOUT U3 JBYX WIM HECKOJIBKUX HPOCTHIX
MIPEIJTOKCHHA, BRIPKAIOIINX OJHY MBICIIb.

CnoxHbIE TPEIIOKCHUS  OBIBAIOT  JIByX THIIOB:  CIIOKHOCOYMHEHHBIC
(Compound Sentences) u cinoxuononunHeHusie (Complex Sentences).

C10:KHOCOYMHEHHDbIE TPeIT0KEeHUS
(Compound Sentences)

CJI0’)KHOCOUYMHEHHOE MPEJIOKEHUE COCTOMT W3 PABHOIPABHBIX MPOCTHIX
npeioxkeHuit (clauses), rpaMMaTHUYECKU HE3aBUCSAIIUX JApyr oT apyra. [IpocTeie
npeioxkenust (clauses) COeTUHSIOTCS COYMHUTEIBLHBIMU COIO3aMU U OOBIYHO
OTACISIOTCS 3alsITOM:

The signal was given, and the steamer CurHan ObUT J1aH, ¥ MAPOXOJl MEAJIEHHO
moved slowly from the dock. OTOIIEJ OT MPUCTAHHU.

CounHUTENbHBIC COIO3bI JCMSITCS Ha MPOCThIC U COCTaBHBIC: and — W, a, but —
HO, OF — WJIH, UHaue, as well as — Tax xe kak (u), both ... and — v ... u, not only ...
but also — He TONBKO ... HO W, either ... or — WM ... WU, neither ... nor — HYU ... HNU.

Jlns coenmuHEHUsT HE3aBUCHUMBIX TMPEIJIOKEHUN CIIy)KaT TakXke Hapeuus
moreover — KpoMe TOr'0, CBEpX TOTO; therefore — 1mosTOMy;, SO — TaK, 4TO, UTaK;
however — onnako; nevertheless — Tem He MeHee; still, yet — TeMm He MEHEe, BCE Ke;
besides — xpome T0T0; otherwise, else, or else — B IpOTUBHOM Cily4ae, MHAYe.

JIBa Ui HECKOJIBKO MPOCTHIX MPEIOKEHUH (clauses), Kak U B PyCCKOM SI3bIKE,
MOT'YT COCIUHATBCS B CIOKHOCOYMHEHHOE TMpeJIoKeHHe U 0e3 coro3a (B 3TOM
ClIy4yae MEXIY MPOCTHIMU MPEIJIOKEHUSIMH MOXHO IO CMBICITY MOCTaBUTH COHO3
and). ~ Mexny  TpeqIOXKEHUSIMU, BXOASIINIMMU B COCTaB  OECCOIO3HOIO
CJIO’)KHOCOYMHEHHOTO MPEJJIOKEHUS, CTABUTCS TOYKA C 3aIsTOH.

He will return from London in June; his sister will stay there another month.

Ca0:XKHOIOTYMHEHHBIE TPeIT0Ke HUS
(Complex Sentences)

Kaxnpiii wien mnpennoxkenus (mojjexaliee, CKazyeMmoe, JIONOJHEHUE,
00CTOATENBCTBO, ONPEIETICHNE) MOKET OBITh BRIPAKEH:
1) omHUM CIIOBOM;
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2) rpymroi cioB (6e3 ckazyemoro);
3) IpUAATOYHBIM MPEATIOKEHUEM (CO CKa3yeMbIM).

Cyl1iecTByeT NATh TUIIOB MPUAATOYHBIX IpeASIoKeHu (clauses):

1) mpunatounoe nojexariee (Subject Clause);,

2) mpuaatounoe ckazyemoe (Predicative Clause);

3) npupatounoe nonosHutenbHoe (Object Clause);

4) npunarouynoe onpenenutensHoe (Attributive/Relative Clause);
5) npunarounoe obctosarenbcTBeHHOE (Adverbial Clause).

CroXHOTIOTUMHEHHBIE TIPEJIOKEHUSI COCTOST U3 IJIaBHOTO (main clause) n
OJIHOTO WJIM HECKOJIbKUX NPUAATOUHBIX (subordinate clauses). Mexny TTaBHbIM U
MPUAATOUYHBIM(HU) TPEITIOKCHUSIMH  yCTAaHABIMBAIOTCS OTHOIICHHUS  TMOJIYHUHEHMUS,
CMBICJIOBOM 3aBUCHMOCTH MPHUAATOYHOTO TPEJIOKEHUS] OT OJHOIO0 U3 UJICHOB
raBHOTro. CMBICTIOBasE 3aBUCUMOCTb CTPYKTYpPHO O(OpMIIS€TCS MOCPEICTBOM
MOAYMHUTEIBHBIX COIO30B U COIO3HBIX CII0B (Who, when, that, while, before v 1p.), a
TaKke 6ECCOI3HO, ¢ IOMOITLI0 HHTOHAITUH

He thought that the train arrived at 6.15. On gymai, uyTo moe3j npuxoaut B 6.15.

After the agreement had been signed, the  Ilocnie Toro kak cornamenue ObL10

delegation left for England. MOATIMCAHO, JeJeralius yexasa B
AHTIIHIO.

B anrnuiickom s3pike, B OTJIMYME OT PYCCKOTO, MPHUAATOYHbBIE TPEJIOKESHUS
4acTO HE OTIENSAIOTCS 3aMATON OT IJIaBHOTO.

CxeMaTH4ecKd CTPYKTYPY CIONKHOMOJAUYMHEHHOTO TPEIOKEHUS] MOYKHO
MPEICTaBUTh CIEIYIONIMM 00pa3oM:

Subject Clause
Predicative Clause
Main clause + Object Clause
Attributive/Relative Clause
Adverbial Clause
Kind of clause Usual conjunctions Examples
‘Tun nmpuaaTo4Horo OOBIYHBIE COIO3BI ITpumepsl
TIPEIJIOKEHUS
Subject Clause Who, which, what, where, | What is done cannot be
when, how, why, etc. undone.
Predicative Clause That, 1f, whether, as 1if, |The truth was that he didn't
etc. love her.
Object Clause who, which, what, that, |I don't know what happened
etc. yesterday.
Attributive/Relative Who, whose, which, that, |[He is the customer whose
Clause where, when, etc. address I lost.
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CyliecTByIOT  pa3jM4YHblE  TUIBl  OPUAATOYHBIX  OOCTOSTEIHCTBEHHBIX
IIPEIIOKEHNN :

Kind of an Adverbial Usual Examples
Clause conjunctions [Tpumepsl
Tun npugaTouHoro OOGBIYHBIE COIO3BI
TIPEJIOKEHHUSI
Time Clause when, before, after, | When he had gone, she sighed. I'll

since, while, as |call you as soon as you come home.
soon as, once

Conditional Clause if, unless What will I do if he doesn’t come? I'll
go to the country unless it rains.

Purpose Clause in order to, so that | The police locked the door so (that)
no one could get in.

Reason Clause because, since, as | Since it was Sunday, he stayed in bed.

Result Clause so that She got such a shock that she fainted.

Concession Clause (al)though, in spite | Though he is French, he speaks
of the fact, while English well.

Place Clause where, wherever He said he was happy where he was.

Practice
Compound sentences with the same subject.

Exercise 1. Join these sample sentences to make compound sentences. Use words in
brackets.

Model: 1 took the shoes back to the shop. I complained about them (and).
— I took the shoes back to the shop and complained about them.

1. Jim built his own house. He designed it himself. (Jim not only ... but ... as well)

2. We agree to the terms of payment. We object to the time of delivery. (but)

3. We received your telegram on Monday. We sent the answer on Tuesday. (and)

4. The manager objects to the terms of payment. He objects to the time of delivery.
(not only ...but also)

Compound sentences with different subjects and with «so / for».

Model:  The taxi stopped at the station. Two men got out of it. (and)
The taxi stopped at the station and two men got out of it.

. You can give some advice. Your colleague can. (either you ... or)

. The old lady was nervous. She wasn’t used to strangers calling late at night. (for)

3. The telephone connects you to a person directly. Your question will be answered
immediately. (and)

4. 1 like ice-cream. Michael doesn’t like sweet things. (but)

5. The alarm-clock rang. I had to get up. (and)

N —
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Exercise 2. Complete the sentences with noun clauses (or that-clauses) as subject of
a sentence (sentences with noun clause subjects usually begin with it).

Model: He feels angry. It’s not surprising. — It’s not surprising (that) he feels angry.

1. She has resigned from her job. It’s a shame ....

2. There are no lights on. It’s strange ....

3. You were insured. It’s a good thing ....

4. You’ve passed your exam. It’s splendid ....

5. They didn’t get married. It’s a great pity ....

6. Everybody should know what to do. It is essential ....

Exercise 3. In the following complex sentences find subject clause, predicate
clause, object clause. Translate them into Russian. (OGpatute
BHMMaHWEe, 4YTO: a) B MPUAATOYHBIX NPEHJIOKEHUAX IOJICKAIIUX,
CKa3yeMbIX U JIOTIOJHUTEIbHBIX, KOTOPbIE BBOASTCA CIOBaMu whose, who,
what, when, how, why wu T. 1., Bcerga ynoTpeOseTcs: MOPSAOK CJIOB
MMOBECTBOBATEIBLHOIO TMPEJIOKEHUSI B OTIMYUE OT CaMOCTOSTEIbHBIX
BOIIPOCUTEIBHBIX MpeasiokeHuil; 0) coto3 that B object clauses yacto
OITyCKaeTCs ).

1. Do you know how a four-cycle diesel works?

2. When heating gases we find they act in exactly the same way as liquids.

3. The question is whether they will arrive in time to take part in this work.

4. The doctor’s advice was that my sister should go to the South immediately.
5. That the matter should have taken sucha turn is not surprising.

6. The laboratory assistant said he would demonstrate a linear amplifier.

7. He 1sn’t what he pretends to be.

Exercise 4. Join these sentences using who or which (all of them will also join with
that).

Model: He’s an accountant. He does my accounts.
He’s my accountant who does my accounts.

1. She’s the nurse. She looked after me.

2. That’s the magazine. It arrived this morning.

3.1read books. I borrow them from library.

4. There are some infinite numbers. They are larger than any number we can possibly
write no matter how long we work.

5.1 met Professor Smith. He’s Tom’s supervisor.

Exercise 5. Join these sentences with one of the conjunctions in brackets.

Model: 1 lost a lot of weight. I was ill. (when)
I lost a lot of weight when I was ill.
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1.1 phoned home. I arrived at the airport building. (immediately after)

2. We instructed our London office to prepare the goods for shipment. We received
your telegram. (as soon as)

3.1 reached my house. It started raining. (by the time)

4. Fast neutrons can penetrate any material and must be slowed down. They can be
absorbed. (before)

5. She pressed the button. The lift stopped. (when)

Exercise 6. Join these sentences with the conjunctions to say why. More than one
order is possible.

Model: Service in this hotel ought to improve. There’s been a change of management.
(because) — Service in this hotel ought to improve because there’s been a
change of management.

. Could you sell your old computer to me? You have no further use for it. (as)
. You don’t like Bill. Why did you invite him? (seeing that)

. You are here. You can as well give me a hand. (since)

. The soup was very salty. We were thirsty afterwards. (as)

. It was too dark to go on. We camped there. (as/because/since)

. Tom knows French. He’d better do the talking. (as/since/seeing that)

AN N kAN =

Exercise 7. Complete the following sentences to say where.
Model: This is the exact spot where the accident happened.

Some television programs are familiar everywhere .
I like to spend my leave where .

He went where .

The house stands where .

She was welcome where .

NhAELD =

Exercise 8. Complete the following sentences to say how. Use conjunction as — Kak,
as if (as though) — kax 6yomo, kak ecnu owvt, that — umo, so that (so) —
mak umo.

Model: 1t sounds as if it’s raining.

1. Younever do anything the way .
2. He went to the lecture early .

3. She sat behind me .

4. The weather was so bad .

IIpaBuiio coriiacoBaHus BpeMeH
(Sequence of Tenses)

HpaBHHO corjiacoBanusi BpEMEH OOBIYHO HCﬁCTByeT B CJIOXKHOIIOAYNHCHHBIX
MMPCAJIOKCHUAX C NpUIaTOYHbIMHU MNpCAJIOKCHUAMU CICAYHOIINX THUIIOB:
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JOTIOJIHUTENbHBIX MPUAATOYHBIX MpeiokeHusx — Object Clauses, npuaaTOYHbBIX
npennoxenusix BpemeHu — Time Clauses, nenu — Purpose Clauses, cnenctBus —
Result Clauses, ycnoBHbIX mnpemyioxkeHusx nepsoro tuna — Conditional Clause —
Type I).

[IpaBuno coriacoBaHusi BpEeMEH B AaHTJUHCKOM SI3bIKE€ MPEACTABISICT
ONpeeNEHHYI0 3aBUCUMOCTh BPEMEHHM TJIarojia B MPUJATOUYHOM MPEI0NKEHUU OT
BPEMEHHU TJIaroJjia B INIaBHOM MPEJIOKEHUH.

OcHOBHBIE TIONIOKEHMSI TIpaBUJa COTJACOBAaHUS BpPEMEH CBOJATCS K
CIeIyIOUIEMY:

1. Ecnu ckazyeMoe TJIaBHOTO MPEAJIOKEHHS BBIPaXKEHO T1arojoM B HACTOSAIIEM
WK OyAylleM BPEMEHH, TO CKa3yeMoe MPUIaTOYHOTO MPEIOKEHUS MOKET CTOSITh B
JT000M TpeOyeMOM IO CMBICITY BPEMEHH.

I am busy.
s 3aHAM.

He knows (that) I was busy yesterday.
On 3naem, 9to s Obl71 32HST BUEpA.

[ will be busy.
s OyOy 3aHST.

2. Ecnu ke ckazyeMoe IJIaBHOTO MPEJI0KEHUs CTOUT B MPOIIIEAINIEM BPEMEHH,
TO CKazyemoe MPHUIATOYHOrO MPEIJIOKCHHUSL TaKKe JOJKHO CTOATh B OJHOM W3
npomenmux BpeMeH (Past Simple, Past Continuous, Past Perfect, Past Perfect
Continuous, Conditional (Future in the Past).

Korma neiicTBusi, BBIpaXXEHHBIE CKa3yeMbIMH OOOUX  MPEJIOKCHHM,
MPOUCXOJAT OJHOBPEMEHHO, TO B TPHUIATOYHOM TMPEIJIOKECHHUH CKa3yemMoe
ynotpebnsiercss B Past Simple win Past Continuous, KOTOpble Ha PYCCKUH SI3BIK
OOBIYHO MEPEBOJISITCS HACTOSIIAM BPEMEHEM.

He said (that) our prices were high. OH cka3zan, 9T0O HAIY 1IEHBI BHICOKHE.

Ecnu - menctBue, BBIPAXEHHOE CKa3yeMbIM MPUIATOYHOIO MPEIAT0KEHUS,
NPEAMIECTBOBAIO  JACUCTBUIO TJIABHOTO MPEIJIOKEHUSA, TO B NPUIATOYHOM
npeioxkenun ynorpeonsiercs Past Perfect inu Past Perfect Continuous, KOTopbie
MEPEBOASATCS NPOIIEAIINM BPEMEHEM.

He said that he had signed the contract. OH cka3an, 4TO noOnucan KOHTPAKT.

Ecniu B nmpumatroyHoM TNpeNsio)KEHUM pedb HUAeT O Oyaylem, To
ynotpebisatotes hopmbl Conditional (Future in the Past).

He said that business would improve. OH cka3zan, 910 OU3HEC yAYyUMIUMCA.
Sequence of Tenses

He lives in New York. OpxHoBpeMeHHOe AeiicTBUE

I thought (that) he lived in New York. A oyman, (uro) oH scueem B Hpio-
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Hopke.

My mother is sleeping.
I knew that my mother was sleeping.

OnIHOBpEMEHHOE IEHCTBUE
S 3nan, uTo MO Mama cnum.

He has returned from London.
I was told that he had returned from
London.

IIpenmecrByrouiee gerncTeue
MHe cka3anu, 4TO OH 6epHyCcA U3
JlonnoHa.

He bought a new car.
I heard that he had bought a new car.

IIpenmecrByrouiee gencTeue
A cavuman, (910) OH Kynuji HOBYIO
MalIuHy.

He will send us a letter.
I supposed that he would send us a letter.

[Tocnenyromee nercraue
A mnonazan, 4Tto OH nNpuwilem HaM
IMACHMO.

[IpaBuno corjacoBaHusi BpeMeH JIEUCTBYET TaKXkKe MPHU MEPexolie U3 MpsMOil
peuH B KOCBEHHYIO PeUb, €CJIU TJ1aroj, BBOASIINN KOCBEHHYIO peUb, yoTpebsercs B
OJIHOM U3 MPOLIEIIINX BPEMEH.
IIpsimasi 1 KOCBeHHasl peyb
(Direct and Indirect / Reported Speech)

Peub, KoTOpas mepenaer MOUIMHHBIE CIOBAa KaKOrO-IuMOO JUla, Ha3bIBACTCS
npamou peuvto (Direct Speech).

Peus, nepenaBaemasi He CIOBO B CJOBO, @ TOJNBKO MO COJAEPKAHHUIO, B BHUJE
MPUAATOYHBIX NPEIJIOKEHUM, Ha3bIBaeTCs KocgeHHou peuvio (Indirect Speech /
Report speech):

Ilpamasn peus Koceennas peus

He has said that the ship will arrive at
the end of the week.

OH ckazan, 4yTto mapoxoj npulOyAeT B
KOHIIE HEJICJIH.

He has said: “The ship will arrive at the
end of the week”.

On ckazan: «[lapoxon mpuOyaeT B KOHIIE
HECIN.

She mentioned that the date of the next
meeting hadn’t been fixed yet.
Ona ymomsiHyna, 4TO JaTa CIEAYIOIIETO

“The date of the next meeting hasn’t been
fixed yet”, she mentioned.

«/latra  cmemyromero coOpaHus  He

YCTAHOBJICHA», YIIOMAHYJIA OHA.

C06paHI/I$I C1IC HC YCTAHOBJICHA

“Calculate the profits for the first year”,
he said.

«PaccuuTaliTe mpuOBLIL 32 MEPBBIA TOAY,
CKazaJj OH.

He told them to calculate the profits for
the first year.

OH Belen UM paccuuTarh NMPUOBUTHL Ha
CJICIYIOIIUAM TOJ.

I'narone! say, tell, ask
I'maron fo say wucnonb3yerca B mpsiMoi peun. OH TakKe HUCIOJb3YETCS B

KOCBEHHOW peun, KOrja 3a HUM HE CJIeQYyeT JOINOJHEHHUE, YKa3bIBAIOLIEE HA JIMIO, K
KOTOpOMY oOpalnarorcsi ¢ peubto. Eciu ke nocie fo say umeeTcst Takoe JONOTHEHHE,
TO fo say 3aMeHseTcs raaroyoM to tell. To ask vcnionp3yeTcsl B IpSAMBIX BOIpoOcax, a
TaK)k€ B KOCBEHHBIX BOIIPOCAX M KOMaHAaX:
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Ilpsamasn peus Koceennas peus

“I can fix it,” he said. He said he could fix it.
“I can do it,” he said to me. He told me he could do it.
He asked, “Are you OK?” He asked me if 1 was OK.

He said to me, “Please, don’t go

"?

He asked me not to go.

BripaxeHnus ¢ say | say good morning/evening, etc., say something, say one’s

prayers, say a few words, say so, say no more, say for certain, etc.

Bripaxenus c fell | tell the truth, tell a lie, tell (somebody) the time, tell somebody

one’s name, tell a story, tell a secret, tell somebody the way, tell
one from another, tell somebody’s fortune, tell somebody so, tell
the difference, etc.

Bripaxenust ¢ ask | ask a favour, ask the time, ask a question, ask the price, etc.

1)
2)
3)
4

[Ipsimast peus (Direct Speech) MoxxeT npenCcTaBIsITh COOOM:

noBecTBOBaTeIbHOE Tipeioxkenue (Declarative Sentence / Statement);
BOIIpocUTEIbHOE TIpeaioxenue (Interrogative Sentence);
MoBeNUTENbHOE NIpeioxkenue (Imperative Sentence);
BOCKJIMIIaTeIbHOE Tipeioxenue (Exclamatory Sentence).

Kocsennas peus (Indirect /Reported Speech) npuHumaet JiBe GOPMBI:
['maBHOE MpeIO’KEHUE C TIIaroJioM TOBOPEHHs + MPUAATOYHOE TIPEIOKCHHE:
They say that we will receive the confirmation next week.
[maBHOE TMpenyioKEHHE ¢ TJIAroJOM TOBOpeHHs + WHOUHUTUB C «fon /
Gerund(T'epynouir):
They asked us to send confirmation as soon as possible
He apologized for hurting me.

HpI/I N3MCHCHUH HpHMOﬁ pe€in B KOCBCHHYIO O6p33YIOTC$I NpUAATOYHBIC

MpeIOKeHHsT (CM. BBIIIE), THe JCHCTBYET coOrjlacoBaHWE BpeMeH (Sequence of
Tenses).

BpeMeHa cka3zyeMmbIX MPOCTHIX MPEJIOKEHUN (Statements), TiepelaBaeMbIX B

KOCBEHHOU peun, OOBIYHO U3MEHSIOTCS ciacayrommum 06pa30M:

Direct Speech Indirect / Reported Speech
Present Simple —> Past Simple
I like music. He said he liked music.
Present Continuous — Past Continuous
Is it raining? He asked if it was raining.
Present Perfect - Past Perfect
She has never been there. He said she had never been there.
Have you ever been there? He asked me if | had been there.
Present Perfect Continuous — Past Perfect Continuous
I’ve been waiting for ages. He said he had been waiting for ages.
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Past Simple - Past Perfect
He didn’t recognize me. He said he hadn’t recognized me.
Past Perfect — Past Perfect
We hadn’t met him before that day. They said they hadn’t met him.
Future — Conditional
They will be late. (Future in the Past)
I was afraid they would be late.
can / may — could, might
I can swim. He thought he could swim.
It may snow. They hoped it might snow.
would, could, might, . would, could, might,
ought to, should ought to, should
You could/might be wrong. He thought I could/might be wrong.
must — must/had to
We must go. He said they must go.
He said they had to go.
Conditional Conditional

I would/should like to see it.

I said I would/should like to see it.

Obwuii 6onpoc MPUCOETUHACTCS K TJIaBHOMY MPEIJIOKEHUIO COI03aMHU If WU
whether, cneyuanvhvie 6onpocvl TPUCOCAUHIIOTCA K TJIaBHOMY MPEAJIOKEHHUIO C
MOMOIIBIO TOTO BOIIPOCUTEIBHOTO CJIOBA, KOTOPOE ObUIO B BOIPOCE B MPSIMOM peyH.
[ToMHHUTE, 4YTO B TakKuX NPUAATOUYHBIX MPEUIOKECHUSIX OYyIeT TMOpPsAI0K CJIOB
MOBECTBOBATEILHOTO Npejioxkenus (declarative sentence), T. €. IPSIMON.

KocBenHbie Bonpocsl
(Indirect Questions)

Special Questions

He asked (me) — On cipocuit (MeHs)
He wanted to know — On xoten 3HaTh
He wondered — On nounTepecoBasics

“Where do you live?”

“Where does he work?”

“What is Nick doing?”

“What have you prepared for today?”
“When did you come home yesterday?”
“When will your mother come home?”

where I lived.

where he worked.

what Nick was doing.

what I had prepared for that day.
when | had come home the day before.
when my mother would come home.

General Questions

He asked (me)
He wanted to know
He wondered

“Do you play chess?”

“Does she go to school?”

“Are you listening to me?”

“Have you done your homework?”

I played chess.

if she went to school.

whether |l was listening to him.

I had done my homework

20




(before).
“Did you skate last winter?” I had skated the winter before.

llosenumenvrnoe HaxnoneHue 3aMEHICTCS B KOCBEHHOU peuun I/IH(l)I/IHI/ITI/IBOM.
OTpI/IL[aTeJILHasI (1)opMa MOBEJIUTEIBHOTO HAKJIIOHEHUS 3aMEHSICTCS I/IH(l)I/IHI/ITI/IBOM C
not.

asked
MTOTIPOCHJT to do it.
ordered clienaTh JTO.

He MpHUKa3all me

On told MHE
BeJIe not to do it.
advised HE JieJIaTh 3TOTrO.
II0COBETOBAJI

Bpemena ne usMmensitorcst B kocBeHHOU peun (Imdirect / Reported Speech),
Korja:
a) TOBOPAIIWN BBIpaKAET OOIIEU3BECTHBIC ()AKThI, TIOCTOSHHBIE COCTOSHUS WU
yCTIOBHSI.
“Water turns into ice”, he said. — He said water turns into ice.
b) roBopsImIMii IEpEeIaET TOIBKO YTO CKa3aHHYIO WH(OPMAIIHIO.
“I will call you back”, he said. — He said he will call me back. (nepeckazano
cpasy xe)
— He said he would call me back. (nuadopmarus nepenaercs mo3xe)
¢ Ecnu ropopsmmii nepefaer uHPOpMaIMio, KOTOpas, Kak MOJaramT, BepHa, TO
BpeMs B MPUAATOYHOM IPEIIONKECHUN MOXKET H3MEHHTHCSI WIH OCTATHCSI TEM JKe.
Ho ecnm mnepenaBaemasi uH(pOpMaIus HEBEpHas, TO BpeMs B TNPUAATOYHOM
MPEIOKEHUH 00s13aTCIIEHO H3MEHSIETCS.
“She likes this cell phone”, he said (Bepno) — He said she likes / liked this
phone.
“Canada is a poor country”, he said. (HeBepHo) — He said Canada was a poor
country.
¢ The Past Simple wzvensiercs B the Past Perfect nam moxer ocTaBaTbcsa 0e3
U3MeHEeHMusl.
“I was early for the meeting”, she said. — She said she was / had been early
for the meeting.
¢ The Past Perfect u the Past Continuous OObIYHO OCTarOTCA O€3 M3MEHEHHUS B
KOCBEHHOM peyH.
“I was watching TV while Ann was reading a book”. — He said he was
watching TV while Ann was reading a book.
¢ Bpemena He M3MEHSIOTCS, €CliM TiepegaBaeMasi B KOCBEHHOW pedn WHGOpMaIus
COJICP)KUT MAJIOBEPOSITHbIE TeHCTBHS B MPOLLIOM, YCJOBHbIE MpPeAI0KeHUsI
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TUNA 2/THNA 3 WK IpeajioxKeHus ¢ wish.

“It’s time we went”, he said.— He said it was time they went.

“If we paid our workers better, we would become a popular employer”, he
said.— He said that if we paid our workers better, we would become a popular
employer.
¢ ['naron might (would B yTBepXIeHUsIX) B KOCBEHHOUH peund HE M3MEHSETCs, 3a
UCKJTIOYCHHEM CITy4aeB, KOTAa OH YIOTPEOIIAeTCs A BEIPAKEHUS TPOCHOBI:

He said, “Ann might ring him. — He said that she might ring. (that day)

Ho: “You might post these for me”, he said. — He asked me to post them for
him.

I'maromsr  ought to, should B 3HaueHMM JO/KECHCTBOBAHUA  WIIU
npeanoyioxkeHus (obligation or assumption) B KOCBEHHON pedyH HE U3MEHSIOTCS:

“They ought to / should widen this road”, I said. — I said that they ought to /
should widen this road.

I said, “I should be back by six”. (1. e. s monarato) — [ said I should be back
by six.

Ho ecnu 3tu Tiarosisl (a Takyke must) BhIpakaloT COBET (a HE 00s13aTeNIbCTBO),
TO B KOCBEHHOH peyu UX MOXHO MepeaaTh riarojiom advise + object+ infinitive:

“You ought to / should / must read the instructions”, said Ann. — Ann
advised / warned me to read the instructions.
¢ [Ipu nepenaye npsiMoOil peur KOCBEHHOMW JIMYHBIC MECTOMMCHHSI B HMCHUTCIIBHOM
Y IPHUTSHKATETILHOM Ta/Ie)KaX U3MEHSIIOTCS COTTIACHO KOHTEKCTY.

“I will show you my new PC”, she said. — She said she would show me her
new PC.

HeKOTOpBIC YKa3aTCJIbHbIC MECTOMMCHHUA MW Hapedusd BpCMCHH, MCECTa B
KOCBEHHOU pe€Un NU3MCHATOTCA B 3aBUCHUMOCTH OT KOHTCKCTA:

Direct Speech Reported Speech

this, these that, those, the

now then, at that time, at once, immediately

here there

tonight, today that night, that day

yesterday the day before

last night/week/month/year the previous night/week/month/year
a night/week/month/year before

the day before yesterday two days before

tomorrow the next day/the following day

the day after tomorrow in two days’ time/two days later

next week/month/year the following }week/month year
the next

ago before
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Crnenyer, OqHAaKO, UMETh B BHUAY, YTO TaKyl 3aMCHY HEJb3s MPOU3BOJHTH
MEXaHUYECKH, a TOJBKO B TEX CIydasX, KOTJia 3TOro TpeOyeT CHUTyalus, B KOTOPOM
nepenaéTcsi KOCBEHHAsI PEYb:

1. He said, “My brother works here”. On ckazan: “Moii 6pat paGoTaeT 371ech”.

[Tpu oOparieHny B KOCBEHHYIO PeUb CIEIYET COXpaHUTh here, €Clii KOCBEHHAs
peub iepeaaéTcs B TOM K€ MecTe, T1ie paboTaet Opart.

He said that his brother works here. Oun ckazai, 4ro ero Opat paboTaeT 37ecCh.

2. He said, “I saw her yesterday”. On ckazan: “4 Bunmen eé Buepa’.

Ecnu xocBeHHass peub nepenaércss B TOT ke JCHb, KOrja Oblia MpOM3HECEHa
npsMasi pedb, TO B KOCBEHHOH peuun coxpaHsiercs yesterday:

He said that he saw her yesterday. = On ckazain, uro (oH) Buael €€ BUEpa.

Ecnu ke kocBeHHasl peuyb TepenaéTcs Ha CIEeIyIOIIUNA JeHb WM MO3XKe, TO

yesterday 3ameHnsieTcs Ha the day before.

Introductory verbs
(TmaroJibl, BBOJSIIME KOCBEHHYIO PEUb)

Introductory Direct speech Reported speech
verbs
agreet+to-inf “Yes, I’ll help you.” He agreed to help me.
offer “Shall I open the door?” He offered to open the door.
promise “Of course I’ll pay you.” He promised to pay me.
refuse “No, I won’t go with you.” He refused to go with us.
threaten “Stop crying or I’ll punish you.” |He threatened to punish me if I didn’t stop

crying.

Advisetsb+to—inf
ask

beg

command

invite
order
remind
warn

“You should see a lawyer.”
“Could you help me?”

“Please, please don’t hurt her!”
“Stand to attention!”

“Will you have dinner with me?”
“Leave the cat alone!”

“Don’t forget to ring Ann.”
“Don’t go near the rocks.”

He advised me to see a lawyer.

He asked me to help him.

He begged me not to hurt her.

He commanded the soldiers to stand to
attention.

He invited me to (have) dinner with him.
She ordered me to leave the cat alone.

She reminded me to ring Ann.

He warned me not to go near the rocks.

admit + gerund
accuse sb.of
apologise for

boast of/about
complain to sb of

“Yes, I told her the secret.”
“Y ou took the money.”
“I’m sorry I arrived so late.”

“I’m the fastest of all.”
“I have a toothache.”

He admitted (to) telling/having told her the
secret.

He accused me of taking/having taken the
money.

He apologized for arriving/having arrived
so late.

He boasted of/about being the fastest of all.
He complained to me of having a toothache.

deny “I didn’t take the book.” He denied taking/having taken the book.
insist on “You must come with us.” He insisted on me/my going with them.
suggest “Let’s have a party.” He suggested having a party.

agree + that- “Yes, it’s a big house.” He agreed that it was a big house.

clause
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complain “You’re always lying to me.” He complained that I was always lying to
him.

deny I didn’t take that book” He denied that he had taken the book.

explain “That’s why I didn’t take it.” He explained to me why he hadn’t taken it.

exclaim/remark [“What a sunny day it is!” He exclaimed/remarked that it was a sunny
day.

promise “Of course I’ll help you.” He promised that he would help me.

suggest “You’d better see a doctor.” He suggested that I (should) see a doctor.

Note: admit, advise, boast, insist, threaten, warn, remind can also be followed by a that-clause in
Reported speech.

Practice

Exercise 1. Change direct speech into indirect (with declarative sentences).
He has just said, “I want to speak to you”.

He has said, “We have finished our work™.

He will say, “I will do it at once”.

He said, “This task is very difficult”.

He said to her, “I met him last month”.

He said, “He is going to St. Petersburg tomorrow”.
He said to me, “I have never been here before”.

I said, “I was ill yesterday”.

He said to them, “She will be here in half an hour”.

XA B WD =

Exercise 2. Change direct speech into indirect (with interrogative sentences).
He has just asked me, “Who will come to the concert-hall with me?”

He has asked me, “Will you be at home tonight?”

He has just asked me, “Is it time to go?”

He asked me, “Where are you going?”

She asked me, “Does he always come so early?”

He asked her. “How did you do that?”

He asked me, “Is it raining?”

She asked him, “Have the children returned from school?”

He asked me, “How old are you?”

XA R WD =

Exercise 3. Change direct speech into indirect (with imperative sentences).

I said to him, “Please open the door”.

I said to her, “Copy this text”.

I said to him, “Please don’t be angry”.

He said to me, “Don’t wait for me”.

She said to me, “Don’t be late”.

He said to me, “Please send her the postcard”.

He said to the secretary, “Bring me the fax we have received this morning”.

NN AE LD =
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PA3JEJI 2. CIOBOOBPA3OBAHUE
(WORD-BUILDING)

B aHTIUHCKOM sI3bIKE IMEETCSI HECKOJIBKO CIIOCOOOB CIIOBOOOpA30BaHUS:

1) abdukcamus (1. €. npubaBieHue K coBy cyddukca umu npedukca);

2) xoHBepcus (00pa3oBaHKME HOBBIX CIIOB MYTEM MEpexoja B IPYryro 4acTh peun 06e3
W3MCHCHUS X HAIMCAHMSI ¥ IIPOU3HOIICHHS );

3) cnoBocnokeHue (0Opa3oBaHME HOBOTO CJIOBA IIYTEM CJIOXKEHHUS JBYX CIOB B
OJTHO);

4) I3MEHCHHUE YyaapeHus B CJIOBE (COOTBETCTBEHHO, IOJyYECHHE HOBOTO CJIOBA,
OTHOCSIIETOCS K IPYrO 4acTH PEUH).

CaoBooOpa3oBanme ¢ moMObI0 adppukcannu

OO0pazoBaHue HOBBIX CIOB MOXET MPOUCXOIUTH MPH TTOMOIIH MPUCOCTUHEHUS
K OCHOBe cioBa cypdukcoB win npepukcoB (mpuctaBok). IIpeduxcer
NPUCOCIUHSIOTCS K KOPHIO ciioBa B Hayane, a cyddurcsl — B konue. CiioBa,
o0pa30BaHHBIE C MOMOIIBI0 TPEePHUKCOB WM Cy(PPUKCOB, B OTIMUME OT MPOCTHIX
CJIOB Ha3bIBAIOTCS TIPOU3BOIHBIMHU.

[Tpeduxcel, kak ¥ cyPpPUKCH, MOTYT TIPUCOSAUHITHECS K Pa3TUYHBIM YaCTIM
peuu, U3MEHss IPY ATOM 3HaYCHHE OCHOBBI CJIOBA, HAIIPUMeED:

1. |happy - cuacTnuBbIf

unhappy - HeCcUaCTHBIN

happiness - cuactbe

happily - caacTanBo

2. |help - momonin

helper - TOMOIITHUK

helpful - none3nbIit

helpless - 6ecTIOMONTHBIIA

3. |correct - IpaBUIIBHBIN

incorrect - HePaBUIIbHBIN

Cyppuxcoi
1. Cydduxcol, odpazyoumue cymecTBUTEIbHbIE.

1.1. Cydoduxkcsl, oOpasyroniue CYLIECTBUTENbHBIE, o0o3Hayaronme
MPOU3BOAMTENS ACHCTBUS WU TIPEIMET, C TIOMOIIBIO KOTOPOTO OHO TMPOM3BOIAHUTCA.
Takue cyniecTBuUTeNIbHBIE 00Pa3yIOTCS B OCHOBHOM OT IJIarOJIOB:

-er, -or

to heat HarpeBaTh heater MoJ0TrpeBaTeb,
paguaTop

to construct |CTpONTH constructor CTPOHUTECIb

to explore |uccienoBath explorer HCCJICI0BATEIIb

-ant, -ent

to assist MOMOTaTh assistant MTOMOIIIHUK

to study M3y4arh student CTYJICHT

1.2. Cydduxcel, o6pasyromiye cylecTBUTeNbHbIE, 0003HAYaI0IIUE JHIIO.

-ist, -yst  |yKazvigaiom Ha npogheccuro, Ha NPUHAONEHCHOCIb K NOAUMUYECKOMY
WU HAYYHOMY HANPAGIEHUIO:

to type reyaTaThb typist MaIIMHUCTKA

to analyze |aHanM3UpOBaThH analyst QHAIUTUK, JIAOOpaHT-
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XUMUK, CIICIIHAIUCT TI0
TICUXO0AHATIU3Y

-ian, -ese_ |yKa3vleaiom HA HAWWOHAILHOCMYb UIU RPUHAOIEHCHOCHb K 20P00Y:

Belarusian oesopyc

Japanese SITTOHEI]

-ian Kazvleaem Ha npogheccuro:

electrician |[JIEKTPOTEXHUK

-ee 0003Hauaem aUYO, HA KOMOPOe HANPABIEHO Oelicmaue:

to address |agpecoBathb addressee aapecar

to trust JOBEPSTH trustee JIOBEPEHHOC JIMIIO

1.3. Cyddukcsi, oOpasyroniue OTBJICUEHHBIE CYLECTBUTEIIbHEIE,

o0o3Hayvaronme ooIre MoHATHs (TIPOILIECChI, COCTOSHUSA, CBOMCTBA, KA4eCTBA U T.1.).

Takue CYHICCTBUTCILHLIC O6p33y10TC$I OT TIJIaroJios, IpujIararCjibHbIX U

CYIIECTBUTEIbHBIX.
A. OT IJ1aroJyios:

-ion, -tion, -ation, -sion, -ssion

to connect |COEOUHSTH connection COCIIMHEHHE

to produce |IPOU3BOJUTH production MIPOU3BOJICTBO

to organize |OpraHU30BBIBATH organization OpraHu3anus

to collide |cTrankuBaTbCs collision CTOJIKHOBEHHE

to admit JIOIYCKATh admission JOTyIICHUE

-age

to assemble ‘CO6I/IpaTB ‘assemblage ‘c60p1<a

-ment

to measure |H3MepsTh |measurement [m3Mepenne

-ure

to press |naBuTh pressure |naBreHue

-ance, -ence

to depend |3aBUCETH dependence 3aBUCHUMOCTD

to disturb  |Hapymath disturbance HapylieHue

-ing o0pazyem omanazonvHovle CyuiecmeumenbHble:

to cool OXJIAXKJIaTh cooling loxnaxenne
B. oT nmpustaratenbHbIX:

-ness

effective  |>dppexrnBHbIiT leffectiveness b bexTrBHOCTD

-ity

similar CXOJHBIN |similarity lcxozcTBO

-th 00bIYHO C U3MEHEeHUEeM KOPHEGOIl 21ACHOUL:

long JUIMHHBIN length nma
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C.or npuiiaraTCJIbHbIX U CYIIICCTBUTCIIbHBIX !

-dom

free CBOOOJIHBIN freedom cB00OOIa
king KODOJIb kingdom KODOJIEBCTBO
-ism

patriot lnaTproT [patriotism lmaTpuoTusm
-hood

neighbour [cocen Ineighbourhood lcocencTro
-ship

member _ |wien Imembership lanencteo

2. Cyddukcsl, oOpasywinme npuiararejbHble.

2.1. Cydduxchl, yka3pBamolue Ha HaJIMYHE COOTBETCTBYIOWMIMX KauyeCTB H
cBoiicTB. Takue mpunaraTenbHble 00pa3ylOTCs OT TJIarojioB U CyLIECTBUTEIbHBIX.

A. OT IJ1aroJyios:

-able, -ible
to move JIBUTATh movable IO ABVKHBIN
to extend  |BBITATWBAThH extensible DPACTATUBAEMBII
-ant, -ent
to depend |3aBuceTh dependent 3aBUCHUMBII
to resist COIPOTUBIATHCS resistant COIPOTUBIAIOIIANACS
-ive
to explode |B3pbIBaTH lexplosive B3DBLIBUYATHIN
B. oT cymiecTBUTEIBHBIX:
-al
centre |ueHTD |centra1 |HeHTDan5Hmﬁ
-ful
use [mosnn3a luseful \mone3ubrit
-en

=IC

wood IDEBECHHA wooden IePEBIHHBIN

magnet ImarnuT lmagnetic |MarHUTHBLI

-ar

circle [kpyr |circular [kpyruIBIit

-ous

advantage |mpeuMyIecTBO, Beiroaa |advantageous BBITOTHBIH,
0JIaronpusTHHIMN,
MOJIC3HBIN

Yy

dirt Ipsi3b dirty IPSI3HBIN

-ly
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|day

[nen

[daily

|e>1<eIIHeBHLIﬁ

2.2. Cydduxkc, ykas3plBaroluii Ha OTCYTCTBHUE COOTBETCTBYIOIIUX KAa4eCTB U

CBOWCTB:

-less

wire

|1TDOBOJIOK21

lwireless

|6ecpoBonoUHbIIi

2.3. Cyddukc, yka3plBaIOIUN Ha HAJTMYKME TPU3HAKA B CJIa00M CTEIeHH WK Ha
MIPUHAJJICKHOCTH K HAIIMOHAJIBHOCTH::

-ish
white OelIblil whitish OEJIOBATHIN
Pole HOJISIK Polish OOJBCKUN

3. Cyddukcel, o0pasyouue rjiarojbl 0T NPWJIATraTeJIbHbIX
U CYIIECTBUTEJIbHbIX:

-en

length JUTMHA to lengthen YITUHATH(CS)

weak cna0bIi to weaken 0CNa0JISITh

£y

intense CUJIbHBIN to intensify YCUJINBATh

simple IIPOCTOM to simplify yIpOILIATh

-ize

crystal KPUCTAJLIT to crystallize KPUCTAJITU3UPOBATH
real HACTOSIIIHHA to realize OCYHIECTBIISITh

4. Cydppukxcel, o0pasyonue HApeuns:

Haubonee pacnpoctpaneHHbIM cyddukcom sBusercs cybpdukc -ly. On
OOBIYHO TTPHCOCTUHSACTCS K MpUJIaratelIbHbIM U 00pa3yeT Hapeuus: o0pasa IeHCTBHSL.

1y

practical  |mpakTUuYeCKHii practically MPAKTUYECKU
easy JICTKUH easily JIETKO
-ward(s) |yKazvleaem Hanpaenenue:

inward BHYTDb

onward(s) BIIEpE]

forward(s) BIIEpET

upward(s) BBEPX

eastward(s) Ha BOCTOK

Exercise 1. Read the following sentences and underline the suffixes in the words in
italics. Write out each word and try to decide what the suffix means.
Refer back to the table if you need help.
1. Potential threats include the destruction of computer hardware and software and
the loss, modification, theft, unauthorized use, observation, or disclosure of
computer data.
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3.

. Computers enable the creation of graphics that are so realistic that they appear to

have depth, even though they are actually just two-dimensional images displayed
on a flat monitor, television, or movie screen.

A Trojan horse may appear to be something interesting and harmless, such as a
game, but when it runs it may have harmful effects.

4. Developments in the television and video worlds in 1992 weren't as dramatic as in

5.

6

9.

audio.
The heart of the system is a laser beam optical code reader, a device that
automatically reads coded labels applied to each item of baggage.

. In addition to response to the whole range of optical frequencies, the new detector

is sensible enough to distinguish 25 separate television programs that a single
laser beam might be able to carry.

. The objective of the new broadband microwave station in space is to learn how to

extend the useful life of communications satellites and to avoid or overcome the
effects of radiation.

. Later in 1998 the company suffered further losses stemming from labor contract

disputes with other segments of the company's staff, including flight attendants,
machinists, cleaners, and other employees.

Although some doctors practice nuclear medicine as-a full-time specialty, many
more physicians in such fields as radiology, pathology, and internal medicine use
aspects of nuclear medicine in their work.

10. Beginning in 1995, the shuttle flew a series of missions to the Russian space
station Mir.
The number of the The word The suffix The meaning of the
sentence suffix
1. destruction
2. disclosure
3. depth
4. harmless
5. developments
6. reader
7. sensible
8. useful
, ¢ machinists
10. physicians
11. Russian

Exercise 2. Fill in the gaps with the correct suffix from the following list.

-al -ence -ly -ship
-ance -hood -ment -th
-dom -1ty -0r -ward

a. The growth in numbers of educational television stations in the past year is not the

29




only index of active 1 .

b. A single fiber the wid 2 of a human hair can transmit thousands of telephone
conversations simultaneously.

c. The current flow is caused by the voltage, or potential differ 3, between the
terminals.

d. A conductor allows an electric current to flow through it, but it does not permit the
current to flow with perfect free 4 .

e. Scientists describe this relation 5 between resistance, length, and area by saying
that resist 6  is proportional to length and inversely proportional to cross-
sectional area.

f. An electric current is a move 7 of charge.

g. Substances that do not allow electric current to flow through them are called
insulat 8 s, nonconductors, or dielectrics.

h. The element 9 unit of electricity is the absolute charge on a single electron or
proton.

1. General circulation week 10 papers often contain news of interest to people in a
smaller area than that of a daily paper, an area such as a small city, town, or
neighbour 11__.

j. As an outer-shell electron jumps in 12 to fill the inner-shell vacancy, the atom
emits an X ray, a high-energy photon invisible to the eye.

IMpeduxcnl

1. Ilpedukcel ¢ OTPULATENBHBIM 3HAYCHUEM:

un- He

common OOBIKHOBEHHBIH luncommon |HEOOBIKHOBEHHBIIT

in- nepeo i npehukc in- npespauiaemcs 6 il-, nepeo r ¢ ir-, neped m u p
im-.

capable CIIOCOOHBIIM incapable HECIOCOOHBIN

legal JIeraJIbHbIN illegal HeJlerajJbHbIN

rational panoHAIBHbBIN irrational HepalMOoHaAJIbHbBIN

material BEIIECTBEHHBIN immaterial HEBEIIECTBEHHbIN

possible BO3MOXHBIH impossible HEBO3MOXHBIH

dis- NPOMUBONONONHCHOE UYECHBO

trust J0Bepue ‘distrust ‘HCIIOBepI/IC

un-, dis- u |npuoarom 21a20;1am 3Ha4eHUE NPOMUBONOTIONHCHO20 OCUCHBUSL:
de-

to fasten CBHUHYMBATh to unfasten pa3BUHYMBATh

to charge  [3apspkathb to discharge pa3psixkaTh

to compose |COCTaBIISATh to decompose pasznaraTh Ha
COCTaBHbIE YaCTH

non- He C6A3AHHDIIL C

inductive  |MHIYKUMOHHBIN ‘non—inductive ‘6CSBIHIIyKI_II/IOHHBII‘/'I
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‘Heynpyrnﬁ

elastic yapyrum ‘non—elastic
mis-, mal- |nnoxo, nenpagunvHo, OWIUOOUHO
to calculate |BBIUUCHATH to miscalculate omunbaThCs B pacueTax
to function |nelicTBOBaTSH, to malfunction He cpabaThIBaTh
BBITTOTHATH (DYHKITHH
anti- anmu-, RPOMue-
aircraft camoJIeT lantiaircraft [IpoTHBOBO3AYIIHbI
under- He00CmamouHo, Huice, 0O
to estimate |OLlEHUBATh ‘to underestimate ‘HCIIOOI.ICHI/IB&TL
2. IIpepuKchI € MOJIOKUTETBbHBIM 3HAYCHUEM
re- coenamp CHO8A, 6HOBD
to construct |CTpOHUTH to reconstruct MIEPECTPOUTD,
PEKOHCTPYHPOBATH
over- ceepx, UpesmMepHo, CIUUKOM MHO20
pressure JlaBJICHHUE loverpressure [apesmeproe naBieHue
3. llpedukcol pasmepa:
semi- HANOI08UHY, YACMUYHO
conductor  [IPOBOJAHUK semiconductor [monynpoBoIHIK
equi- aBHbLIL
distant JaJNeKui, OTJaleHHBIN ‘equidistant ‘paBHOOTCTOHH_II/Iﬁ
mini- Mas1eHbKUil
bus aBTO0YyC |minibus MEKpOaBTOGYC
maxi- 001611011, YKA3bl6aem HA 00IbULYIO 8ESTUUUHY
maximum |MaKCMMaJbHO€ 3HAUYECHUE
micro- HEOObIKHOGEHHO  MAIEHbKO20  paszmepa, 6 Qusuueckoi
MePMUHOI02UU 8 MULTUOH PA3 MEHbULE, YeM OCHOBHAA Mepa.
second CeKyHJa microsecond MUKpPOCEKYHAA
(MWITMOHHAS YacTh
CEKYH/Ibl)
macro- 001611011, HEOObIKHOBEHHO 001bUL020 Pa3mepa
economics  [IKOHOMHKA Imacroeconomics [MakpoIKOHOMHKA
mega- Oonbuio20 pazmepa, paHouo3Hwlil, 6 (PUIUUECKOU MEPMUHONOUU
Mepa, 8 MUNIUOH Pa3 00abULAsA, Yem OCHOBHAA Mepa.
watt BaTT ‘megawatt ‘MeFaBaTT
4. Ilpedukchl MOJT0KEHHS:
inter- Medncoy, cpeou, 63aUMHO
changeable |3ameHsieMblii interchangeable B3aMMO3aMEeHsIeMbII
national HallMOHAJIbHBIN international MHTEPHAUUOHAJIbHBIN,
MEXTYHAPOIHBIN
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super- Hao-, ceepx
sonic 3BYKOBOM ‘supersonic ‘CBer3ByKOBoﬁ
trans- uepes
continental |KOHTMHEHTAILHBIN transcontinental TIEPECEKAIOIII  KOHTUHEHT,
TPaHCKOHTHHEHTAJIbHBIN
ex- VKa3zvleaem Ha uzvAmue, UCKIAIOUeHUe U M. N. U3-, 6He-; ObleUIUIL
include BKJIIOYATh, coiepxath |exclude UCKJTII0YaTh, HE BITyCKaTh
B cebe
extra- Ymo-mo 0OnoOAHUmMeENbHOe, C8ePX-
ordinary OOBIYHEIN, extraordinary HEOOBIUHBIM,
OOBIKHOBEHHBIH HKCTpaOpAMHAPHBIN
sub- Huice (Kauecmeo, NoN0IiCeHUuem) noo-
station CTaHLIUSA [substation [moacranmus
infra- HUJice-, n0O0-, uH@pa-
red KpaCHbIN ‘infra-red ‘I/IH(l)paKpaCHHﬁ
eri- 60OKpY?2
pericardium |okoJsiocepAedHasi CyMKa
S. IlpeduKchl BpeMeHH U NOpsAKa:
ante-, pre- |00-, paHbuie-, nepeo-
war BOMHA pre-war JOBOCHHBIN
date JiaTa, 4Ymciio antedate JaTa, MOCTaBJICHHAS
3aTHUM YHCIIOM
rime- nepeuvlil, 2/1a6HbLI
minister MHHHCTP ‘prime-minister ‘HpeMBep-MI/IHI/ICTp
ost- nocne
war BOMHA [post-war [mociieBoeHHbII
retro- Ha3ao
action JEUCTBHUE, peaKIIHs retroaction oOpaTHas peakius,
oOpaTHOE JIeHiCTBHE
6. Ilpepukcel yucaa:
semi- no.y-
circle KpyT, OKPY>KHOCTb ‘semicircle ‘nonpryr
mono- 00HO-, MOHO-
basic OCHOBHO1, OCHOBHEIH | monobasic loHOOCHOBHETI
bi- 0601IHOI
monthly €KEMECAYHbBIN bi-monthly JIBa pa3a B MECII, WU
OJIMH pa3 B 2 Mecsla
tri- mpéx-, mpe-, mpu-
focal dbokycHbIl, poxycHoe |[trifocal TpUDOKATHHBIN
paccTosiHue,
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LIEHTPaJIbHbIN ‘ ‘
quad(r)- uemulpéx-
angle yroJ ‘quadrangle ‘quLIpexyronLHmﬁ
enta- namu-

angular YTOJIbHBIHN, YTIIOBON [pentangular sty ronbHIK

hex(a)- wecmu-

hexagonal |mecTHyrogbHUK

sept(en)- cemu-

septi-

septennial  |cemMuIeTHHIA, TPOUCXOMASIIIUNA Pa3 B CEMb JIET

oct(a)- éocbmu-

angular YTOJIbHBIN loctangular [BOCHMIYTOIBHBIIA

dec(a)- decamu-

metre METp ‘decametre ‘neKaMeTp, 10 meTpoB

multi- MHO20

national HalMOHAJIbHBIN Imultinational [MHOrOHALIMOHATBbHBII

7. Ipyrue npeguKchbl:
ro- 00, 3apanee, enepeo

motion IBUKECHHUE promotion MPOJBUKEHUE,
MOBBIIICHUE (B
3BaHUM)

auto- camo-, agmo-

biography |Ouorpadus autobiography aBroOuorpadus
(Ouorpadwus,
HaIMCcaHHasi CaMHUM
YeJI0BEKOM 0 cebe)

co- o0wHOCmb Oelicmeus

to exist CYHIECTBOBATH ‘to coexist ‘COCYI.HCCTBOB&TB

Exercise 3. Read the following sentences and underline the prefixes in the words in

italics. Write out each word and try to decide what the prefix means.
Refer back to the table if you need help.

1. Manager of the company fired him for incompetence.

2. Unfortunately we were misinformed about the purpose of the fund.

3. A 'mini-computer is a computer which is smaller than a normal computer.

4. A megaphone is a cone-shaped device for making your voice sound louder in

the open air.

5. A submarine is a ship that can travel below the surface of the sea.

6. These courses interrelate in a variety of ways.

7. This gives greater peripheral vision.

8. Protection of the environment is a precondition of a healthy society.
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9. We sat in a big semicircle round Hunter's desk.
10. The university hopes to collaborate with industry.

The number of the The word The prefix The meaning of the
sentence prefix

1. incompetence

2. unfortunately

3. misinformed

4. mini-computer

5. megaphone

6. submarine

7. interrelate

8. peripheral

9. precondition
10. semicircle
11. collaborate

Exercise 4. Fill in the gaps with the correct prefix from the following list.

auto- inter- micro- mono- sub-
de- maxi- mini- multi-

. This is an age of high technology and  mation.

. The knowledge was there somewhere in the depths of his  consciousness.

. Many local papers are prosperous because they enjoy a virtual ~ poly.

. He accused the Minister of seeking to - centralise the Commission.

. The company's main objective is to  mize profits.

. The high way  secting Main Street is a busy crossing.

. Our aim must be to  mize the risks.

.A _ wave oven is _a cooker which cooks food very quickly by short-wave
radiation rather than by heat.

9. Many of the West's large  national companies have operations in Africa.

01N DN KW

Practice

Exercise 1. Translate the following words into Russian. Identify suffixes and
prefixes.

anti-body decode disarm postwar ultramodern

anti-fascist decompose discover prehistoric ultra-violet

coauthor deform ex-champion  reconstruct undress

co-existence depart interaction reread unequal

cooperation disappearance  misunderstand superhuman untrue

Exercise 2. Find suffixes of the words below, identify the parts of speech to which
these words belong.

active dangerous freedom passage understandable

artist different function peaceful useful
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attractive director fundamental pitiless worker

British doubtful heartless professional
capitalism economic industrial silence
childish elementary kingdom successful
creative experiment musician treatment

Exercise 3. a) Form nouns using proper suffixes.
to communicate to create to invent to recognize to transform
to construct to identify to operate to restore to transmit

b) Translate the words with the prefix fore-.
forearm forego foremost forestate
forefather foreknow foresee foretell

Exercise 4. Suffixes.

HELP BOX

» Suffixes change the class of the root word. For example, by adding the suffix -al,
the noun digit is changed into the adjective digital. Suffixes can help you tell if a
word is a noun, an adjective or a verb.

Common adjectival suffixes are: -y, -able, -ible, -ive, -al, -ed, -ful, -ic, -less, -ing.
Common noun suffixes are: -er, -or, -ion, -tion, -ation, -ment, -ness, -ity, -ant,
-logy, -ing, -y, -ure, -sion.

* When using suffixes, always check in your dictionary to see if you need to change
any other letters.

scan — scanner (double n)

A. Look at the HELP box and then use suitable suffixes to make adjectives or
nouns from these words. In some cases, you can make more than one word. Use a
dictionary to help you.

1) colour

2) profession
3) photograph
4) wire

5) blur

6) innovate

7) underexpose

B. Complete these sentences with the word in brackets and one of these noun
suffixes: -tion, -er, -ing, -logy, -ness. Use a dictionary to help you.

1. Kodak is a (manufacture)  of photographic and imaging equipment.

2. To avoid red eyes, use the camera's red eye (reduce)  feature.

3.(Crop)  aphotograph means cutting out the parts of an image you don't need.

4. The (sharp __ of a photograph is a combination of resolution and acutance — the
ability to represent clear edges.
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5. Digital (techno)  is evolving so rapidly that some cameras have a resolution of
12 megapixels — that's 12 million pixels.

Exercise 5. Form other parts of speech from the following words:

to compete to enter to participate to succeed
to complete to evaluate to relate to vary
to depend to graduate to require

Exercise 6. Form the derivatives of the words given in the chart below. Use a
dictionary if necessary.

Noun Verb Adjective
depression
embarrassed
agree
argue
suffer

Exercise 7. Define the parts of speech of the following words:

achieve — achievement

act — active — action — activity
assist — assistance — assistant

celebrate — celebration

city — citizen

contain — container

develop — development

difference — different

discover — discovery — discoverer

educate — education

govern — governor — government

graduate — graduation — undergraduate — post-graduate
literature — literary — illiterate

measure — measurement — measurable

nation — national — nationality

progress — progressive

resistance — resistant

Exercise 8. Fill in the table with the proper derivatives which are possible.

Verb Noun Adjective

to investigate —

measurement

to observe

creative

SUcCCcCsSS
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to require
wide
proof —
to grow —
existence —
safe
to develop —
improvement —
to reduce —
recognition —
unimaginable

Exercise 9. The prefixes e and cyber.

HELP BOX

The prefixes e- and cyber-

* The e- prefix means electronic and we add it to activities that take place on
computers or online, for example e-business/e-commerce — business conducted over
the Internet. Other examples include: e-card, e-learning, e-zine, e-voting, e-
signature, e-assessment, e-cash, e-book and e-pal.

There are often spelling variations, with or without a hyphen, so always check your
dictionary.

* The cyber- prefix comes from cybernetics, and we use it to describe things related
to computer networks, for example cybercafé — an internet cafe. Other examples
include: cybercrime, cyberculture, cyberslacker and cyberspace.

Look at the HELP box and then complete these sentences.

1.A  is an employee who uses his company's internet connection during work
hours to chat with friends, play games, etc.

2.An__ is a postcard sent via the Internet.

3.An __ is asmall magazine or newsletter published online.

4.Ina _ youcan use computers with internet access for a fee.

5.Examples of = include internet fraud, digital piracy, theft of confidential
information, etc.

6. In the future, all elections will be carried out using .

7. You can now sign legal documents online using an .

8. _will revolutionize the way we take exams.

9.  can be used on some websites instead of real money to make purchases. It
reduces the risk of fraud.

10. An __is like the paper version, but in digital form.

Exercise 10. Look at the words in the boxes. Are they nouns, verbs, adjectives or
adverbs? Write n, v, adj or adv next to each word and then complete
the sentences below.
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magnet — magnetic — magnetically —
magnetism — magnetize — magnetized —

1. s the science of magnetic phenomena and properties.
2. Floppy disks and hard drives are __ storage devices.
3. Data is recorded on a disk in the form of  spots called bits.

| fragment — | fragmentation — | defragmenter — | fragmented — |
4. After you create, delete and modify a lot of files, the hard drive becomes with
bits and pieces spread all over the disk.
5. slows down the speed at which data is accessed because the disk drive has to
work harder to find the parts of a file stored in many different locations.
6. To reorganize your hard drive, you can use a disk optimizer or _ ; this will

reorder your files into continuous clusters.

Exercise 11. Look at the words in the boxes. Are they nouns, verbs or adjectives?
Write n, v or adj next to each word. There may be more than one
possible answer. Complete the sentences with words from the boxes.

‘ program — ‘ programmers — ‘ programming — ‘ programmable — ‘

1. 1is the process of writing a program using a computer language.
2. A computer s a set of instructions that tells the computer how to do a specific

task.
3. Most computer make a plan of the program before they write it.

4. A  keyboard allows the user to configure the layout and meaning of the keys.

| compile — | compiler — | compilation — |

5. Programs written in a high-level language require = — that is, translation into

machine code, the language understood by the processor.
6. A source program 1s converted into machine code by software called a .
7. Programmers usually = their programs to generate an object program and diagnose

possible errors.

‘ bug — ‘ debug — ‘ debugger — ‘ debugging — ‘

8. Any error or malfunctions of a computer program is knownas a .

9.A _isaprogram used to testand  other programs.
10. The process of going through the code to identify the cause of errors and fixing

them is called .

Kounsepcus. CioBociaoxenne. U3MeHeHHne MecTa y1apeHUs

I/IHOFIIa CJIOBO MOKCT MCHATH CBOC 3HAUCHHUC W BBIIIOJIHATL HOBYIO
CUHTAKCHUYCCKYIO (1)YHKI_II/HO B MIPCIJIOKCHHUH, HC U3MCHSAA IIPHU 3TOM HAIIUCAHUA U
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npousHoInieHus (koHBepcus). Hanbomee pacrpocTpaHeHHBIM SIBIIIETCS 00pa3oBaHUE
TJIaroJIOB OT CYIIECTBUTCIIBHBIX:
master (xozsaun) — to master (ynpasuamy)
house (dom) — to house (pazmewams)
water (6o0a) — to water (noausamvw)
['1arosiel MOTYT OBITH 0OPa30BaHBI U OT MPUJIATATEIILHBIX:
empty (nycmoti) — to empty (onycmouwamaw)
white (6ensiit) — to white(n) (6eaums)

CnoBOCIIOKEHHE — 3TO OOBEIWHEHUE IMOJTHO3HAYHBIX CJIOB WJIM WX OCHOB B
CJIOXKHOE CJIOBO. BHOBb 00pa30BaHHOE CIIOKHOE CJIOBO IMHUIICTCS CIMTHO WJIM 4Yepe3
neduc:

airfield — aspoodpom (air — 6030yx, field - nozne)

air-base — asuabasza (air— 6030yx, base - 6aza)

airman — asuamop (air — 6030yx, man — MyH#CuuHa)

schoolday — wkoavnwiti denw (school — wkona, day — oenv)
birthplace — mecmo poocoenus (birth — poorcoenue, place — mecmo)

CnoxHBIE CJIOBa MOTYT COCTOSITh M3 JBYX CYHIECTBUTCIIBHBIX, TICPBOC W3
KOTOPBIX MPUOOpETaeT 3HaUCHUE MPUIIaraTeIbHOro. B 3TOM ciiydae ciioBa MUITYTCS
pasznenbHo. Hanpumep: service dress — gpopmennas odedxcoa, odedxcoa 0ns ciyxtcovl
(service — cayacoa, dress — naamoe), shop window — sumpuna (shop — maeasum,
window — ox#o), skim milk — cusmoe monoko (to skim — chumams (HaKuIb, CIUBKH,
U T. A.), milk — mon0ko).

Exercise 1. Read the following pairs of words observing their stress. Translate
them into Russian.

an accent — to accént a contest — to contest pérfect — to perféct
a contract — to contract a convoy — to convoy a récord — to record
a content — to contént a convict — to convict

Exercise 2. Analyze the following words. Identify their parts of speech. Give their
root forms and translate them into Russian.

badly fruitful leader reading teacher
cooperation fruitless movement rebuild teaching
dangerous happiness network retell translation
demoralize high-quality noisy schoolboy unhappy
disagree icebreaker powerful shorten unusual
dislike incorrect, profitable strongly

electricity inventor rainy sunny

Exercise 3. What kind of words are these? Analyze them, identify their component
parts. Translate them into Russian.

All-Union landscape network sometimes vice-president
bedroom long-term newspaper sportsman well-known
birthplace lowland north-west television world-wide
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highland multinational  peace-loving  underground

Exercise 4. Complete each sentence with a word formed from the word in capitals.

Model: My alarm clock didn’t go off and so I overslept this morning. OVERSLEEP

1.1 had been in the country for a year, but I still feel likea .  FOREIGN
2.1 have never felt such great  since the day [ won in a lottery. HAPPY
3. He’s only been in the job for one week so he’s a bit . EXPERIENCE
4.1’ve known him since school days. Our __is very strong. FRIEND
5. It makes me feel bad to see so many  people sleeping in the HOME
street.
6. It hasn’t rained for months and there’s a great water . SHORT
7.1 don’t like this job. I'm  and overworked. PAY
8. Smoking can be very  to your health. DANGER
9. We’ve got all the modern  in our factory. MACHINE
10. ’m really sorry. I think there has beena . UNDERSTAND

Exercise 5. Read the texts A and B below. Chose the suitable word given in the box
to fill in the blank in the text. Change the form of the words according
to the meaning of the text. Remember that each word can be used only

once.
A.

| simple | willing

| ground

| encourage |

I am sure that any person has the ability to learn a foreign language. But most
pupils  need constant  in order to overcome their  fears of speaking another
language. Even the most outgoing of them are often  to speak a foreign language in
the classroom for fear of making mistakes.

B.

| reality | employment | chose

| person |

A few people decide early in life what to do. There is probably no single
“right” job for anybody and the only one that you could do well. Although
circumstances limit one’s , there are still more possibilities than most people .
interests, such as love of travel or computers may point the way to a job. But all
people are afraid of becoming  one day.

Exercise 6. A. Look at the HELP box and then, using affixation, conversion and
compounding, try to make as many words as you can from blog, mail
and print. Use a dictionary and the Internet to help you.

blog

mail

print

Blogger (a person who
writes a blog)

To mail (the verb form)

Printout (the pages produced
by the printer)

B. Choose the correct word in brackets to complete this description of
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a digital voice recorder. Use a dictionary to help you.

HELP box

Word building

We can create new words from existing words in three main ways:
— Affixation (adding a prefix or suffix)

Adding a prefix:

volatile = non-volatile

date = update
Adding a suffix:

erase = erasable

install = installation
— Conversion (turning a noun into a verb, or a verb into a noun, etc.)

network (noun) — to network (verb)

We networked the PCs in the office.

We created a network of all the PCs in the office.

— Compounding (putting two or more words together)
hand + held = handheld

I bought a new handheld computer last -week.

Compounds can be written as two separate words (flash card), as two words joined
with a hyphen (solid-state), or as one word (handheld). Unfortunately, there are no
rules, and some compounds even change spelling over time. For example, web site
began as two words, then became hyphenated (web-site) and is now written as one
word — website. Always check your dictionary or Google if you are not sure.

In pronunciation, compounds normally have the main stress on the first part, and the
secondary stress on the second part, for example video game.

OLYMPUS WS-320M DIGITAL VOICE RECORDER

Slim, attractive, and highly functional, the Olympus WS-32GM digital voice
recorder packs 1GB of internal flash memory into its 1 (lighted / lightweight /
lighten) housing, letting you record up to 277 hours of high-quality audio in WMA
format. It’s ideal for 2 (record / recordable / recording) notes or long lectures,
interviewing people, or capturing song ideas before they disappear. As an added
bonus, the W5-320M can store up to 266 WMA or MPS songs for high-quality stereo
3 (player/ playback/playoff).

The WS-320M features five separate file 4 (folds / folding / folders), capable
of holding 199 files each, so you can organize nearly 1,000 files by subject, theme or
other category. Users also have the choice of four recording modes: HQ for high-
quality audio, LP and SP for extended recording times, and ST HQ for stereo
recording. And thanks to the voice 5 (activation/activate/active) option, users don't
need to press a single button to start recording — the WS-320M will record as soon as
the built-in microphone picks up sound.
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Perhaps the most convenient feature, however, is the built-in USB 6
(connector/connect/connected), which eliminates the need for a USB cable. Once this
is connected, you can 7 (downloadable/download/ upload) music files, images or
documents from your PC, in effect turning the recorder into a small hard drive. You
can even transfer voice recordings to your computer for 8 (store/storage/storeroom)
or multimedia use.

PA3JIEJI 3. CTPAJIATEJIBHBIN 3AJ10T
(PASSIVE VOICE)

3aJjior — 3TO KaTeropus riaroiyia, KOTopas MoKa3blBaeT OTHOIIEHUE AEUCTBUS K
CyOBEKTY WIH OOBEKTY.

HevictButenbHbiil 3anor (The Active Voice) mokas3pIBaeT, 4YTO MPEIMET HIH
JIUIO, ABJIAIONIEECS MOJIeKAIIUM, TPOU3BOAUT JIEUCTBHUE.

The author gives a general conclusion for ABTop Odenaem ~ 0o6mMII BBIBOJA  IJIS
the equilibrium shape of crystals. PaBHOBECHOU (hOPMBI KPUCTAIIOB.

Crpanarensubiii 3anor (The Passive Voice) moka3piBaeT, 4TO IpEeAMET WU
JIUTI0, SIBJISIOIICECS MOISKAIINM, TTOJABEPraeTCs AEHCTBHIO.

A general conclusion for the equilibrium  OGmuit BEIBOA 1711 paBHOBECHOH (HOPMBI
shape of crystals is given by the author.  kpucTaII0B denraemcsa aBTOPOM.

Bpemena  crpamarenpHOro  3aiorac.. OOpa3yloTCs ~— OpH  MIOMOIIU
BCIIOMOTATENBbHOTO TJaroia fo be B COOTBETCTBYIOIIEM BPEMEHH H (POPMBI
npuvacTus npoiieamiero Bpemenu (Past Participle).

Simple Continuous Perfect
Present I am asked [ am being asked |I have been asked
Past I was asked I was being asked |I had been asked
Future I shall/will be asked — I shall/will have been asked
Future-in-the-Past |1 should be asked — I should have been asked

B ctpagatensHOM 3anore ynorpebssieTcsi TOIbKO 1B (PopMbl BpeMeH TPYIIIbI
Continuous: Present Continuous v Past Continuous; popmol Future Continuous v
Future-in-the-Past Continuous OTCYTCTBYIOT. B cTpamaTebHOM 3aJI0T€ OTCYTCTBYIOT
TaKXe BpeMeHa rpynisl Perfect Continuous.

IIpn oOpa3oBaHWM BONMPOCUTEIBLHON (OPMBI BCIOMOTATEIbHBIA TJIAroJ
cTaBUTCs mepen nomnexamum: Is he asked? Ecnu BcnomoraTenbHBIA IU1arolt
ynotpebisiercss B cioxxkHou (opme (shall be, have been, etc.), To mepBas 4acTh
BCIIOMOTaTeIbHOM (hOpMBI rilaroja craBurcs nepea noanexaium: Shall I be asked?
Have I been asked?

[Ipu oOpazoBanuu OTpUIATEIBLHON (GOPMBI YacTUIlA MOt CTABUTCS TIOCIE
BcriomorateinbHoro riarona: I am not asked. Eciu BcriomoraTeiabHBIM TIiaros
ynoTpedsieH B CIOXHOW ¢opMe, TO dYacTUIAa HO!f CTAaBUTCS TIOC]IE IEPBOIO
BcrioMoratrenbHoro riuaroja: I shall not be asked, I have not been asked.
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CrpanaTenbHblil 3a510T ynoTpeOaseTcs:
— KOrja JIMI0, COBEpIIWBIIEE JIEUCTBUS, HEM3BECTHO, HEBAXXHO WJIM OYEBHJIHO W3
KOHTEKCTA.

The most important papers were stolen. WCTIOJTHUTENh HEM3BECTEH

I was advised to rewrite the article. WCIIOJIHUTEIb HEBAXKEH

Experiments are being carried out in the laboratory.  |UCHONHUTENh OYEBUIEH U3
KOHTEKCTa

— KOTJja IeWiCTBHE BaXKHEE, YEM JIUII0, €r0 COBEPIIIHBIIIEE.
The report was prepared on time.

— JUTS BBIJICIICHUS JIMIIA, COBEPIIMBIIICTO JICHCTBUC
Penicillin was invented by A.Fleming in 1928.

JeiicTBUTE/IbHBIE U CTPaJaTeJbHbIE 000POThHI

[IpennmoxkeHre €O CKa3yeMbIM, BBIPAKCHHBIM TIJIAroJIoM B JCHCTBUTEIHLHOM
3ajore, HOCUT Ha3BaHUE JIEHCTBUTEIBHOTO 000pOTa, a MPEIOKEHHE CO CKAa3yEeMBbIM,
BBIPQ)KCHHBIM TJIar0JIOM B CTPaJaTeIbHOM 3aJI0Te, HOCUT Ha3BaHHE CTPaIaTeIbHOTO
obopora.

JleiicmeumenvHulit 06opom Cmpaoamenvuuiii 060pom
John Logie Baird made the first live The first live transmission was made by
transmission in 1924. John Logie Baird in 1924.

B cTpagarensHOM 3amore IUIO WA IIPEIMET, MPOU3BOASIIEE ICHCTBUE,
BBOJIUTCA MPEAJIOToM by.

Young specialists are employed by the company.

The experiment was carried out by the scientist.

[Tocne rimarona B CTpagaTebHOM 3aJloTe YIOTPEOIISIETCSl TAK)Ke JTOMOTHEHUE C
NpeIoroM with Ui BBIPRXEHUs OPYAHS, MPU MOMOIIM KOTOPOTO COBEPIIASTCS
JIeHCTBHE.

The camera was loaded with a black and white film.

Ha pycckuit sI3pIK aHTIHIICKasl TTACCHUBHAS KOHCTPYKIHS MEPEBOTUTCS TPEMS
crocobamu:

1. Coueranuem rnarojia ObITh (B MpOIIEANIEM U OyIylleM BPEMEHM) + KpaTkas
dbopMa IpUYACTHS CTPAATEIBHOTO 3aJI0Ta.

The article was translated. Cratbs ObL1a nepesedeHna.

The article will be translated. Cratbst 6yoem nepesedena.
I'maron-cBs3ka OBITH B HACTOSIIEM BPEMEHH B PYCCKOM MPEIIOKECHUU

OITYCKaeTCsl.

The article is translated. Cratbs nepesedena.

2. I'maroyiom, OKaHYMBAFOIIIMMCS Ha -Csl.
The article is being translated. Cratbs nepeeooumcs.

3. HeomnpeneneHHO-TUYHOM POPMOIA, T. €. 0€3 MOJIeKAaIIETO.
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The article was translated. Cratblo nepegenu.

WNnorpa anrnuiickuil cTpagaTebHbli 000pOT MOXKET NEPEBOIUTHCS ABYMSI WU
JaXke TpeMs CIoco0aMH B 3aBUCUMOCTH OT COOTBETCTBYIOILEIO PYCCKOIO Ijlarojia u
KOHTEKCTA:
I was invited to the conference. 1. 51 6v11 npuznawen va KOHPEPEHIUIO.
2. MeHs npuznacunu Ha KOH(EPEHLHIO.

Ocobennocmu ynompeonenus cmpadameabHbvlX 000POmMo6 8 AH2TUIICKOM A3blKe
B anrnuiickom si3pIKe TOIJICKAIUM MACCUBHOM KOHCTPYKIIUUA MOYKET OBITh:

1) nopsiMmoe AOMOTHEHUE aKTUBHOU KOHCTPYKIIHH;

2) KOCBEHHOE JIOTIOTHEHNE aKTUBHOU KOHCTPYKIIUU;

3) npennokHOE TOMOTHEHNE aKTUBHOU KOHCTPYKITUH.

Axkmuenan gpopma IHaccuenasa ¢popma
They showed us a new device. 1. A new device was shown to us.
OnHu nokazaiu HaM HOBBIN MPUOOP. Hogplit npubop 6b11 MOKa3aH HaM.

2. We were shown a new device.
Hawm mokazany HOBBIY TPUOOD.

We aimed at this result. This result was aimed at.
MBI CTPEMUITUCH K TOMY PE3YJIBTATY. K aTomy pe3ynbTaTy CTPEMUIIHCH.

B ToM cnmydae korga B KadecTBe MOJJICIKAIIETO MACCUBHOW KOHCTPYKIIUH
yIOTpeOIsieTCss  MPEAIOKHOE  JIONMOJHEHUE  aKTUBHOW KOHCTPYKIMH, TPEIIOT
CTaBHUTCS MOCJIE CMBICIIOBOTO TJIaroJa.

He was relied upon. Ha Hero noyiarajiuchk.

[TaccuBHBIE KOHCTPYKITUH @HTJIMHACKOTO SI3BIKA C TOJIJIC)KAIINM, BBIPAKECHHBIM
CJIOBOM, KOTOPOE B aKTHBHOW KOHCTPYKIIMM BBITOTHSUIO ()YHKIIMIO KOCBEHHOTO HJIN
OPEJIOKHOTO  JOMOJIHEHHUS, CIIEAyeT TpH TMEepeBOJe 3aMEHSATh  PYCCKUM
HEOTPE/ICTICHHO-TUYHBIM THPCATOKCHHEM (32 HHMH TIOCHQJIM, Ha HHX 4YacTo
CCBUIAIOTCS | T. J1.), ¥ IEPEBOJ] HA/I0 HAYMHATH C MPEAJIora.

The force was acted upon. Ha 5Ty cuity Bo31€HCTBOBAJIH.
The agreement was arrived at. [Ipumnm K coryiaieHuto.

B nmaccuBHOM QopMe 0COOEHHO YacTO YNOTPEOISIOTCS CIEAYIOLIUE IIaroibl 1
IJIaroJibHbIC (Pa3e0IOrHuecKue COUeTaHus:
a) rJ1aroJybl ¢ MOCIEIOraMu:

to account for o0vsCHAMD, to listen to cnywamo,

to act on (upon) oeticmeosamo Ha, to look after cnompems 3a;

to agree upon 002080pUMbCsl; to look at cmompemvo na;

to aim at cmpemumucsi K, to look for uckamw;

to deal with umems Oeno c, to object to so3pasicams;
paccmampugams 60NPOC; to provide for npedycmompemo,
to depend on (upon) nonaecamoscs Ha, to refer to ccoliamvcs Ha,
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3aeucems om;
to dispose of peanuzosvisams,

to hear of (about) crviuams o,

to insist on (upon) nacmausams Ha;
to laugh at cmueamocs nao,

to rely on (upon) nonacamocs Ha;

to speak about (of) coeopums o,

to send for nocvinamo 3a;

to touch upon xacamwcs, 3ampazusamo,
to wait for sxcoamo.

This book is often referred to.
His proposal was objected to.

Ha 3Ty KHHT'Y 4acTo cChLIArOTCA.
IIpoTHB 3TOTO MPENIOKEHNS BO3PAKAIIN.

0) riarojibHbIE (DPa3EOIOTUICCKUE COUCTAHUS:

to catch(take) hold of cxesamumucs 3a;
yxeamumucs 3a Ymo-1uoo,

to do away with noxonuums c;

to find fault with o66unsams;

to lose sight of mepamo u3 6uoy,

to make application npumenamo,

to make mention of ynomunamy,

to make provision for
npeodycmampusams;

to make use of ucnonvzosamo,

to pay attention to oopawams GHUMAHUE
Ha,

to put an end to noxoHuums c;

to take advantage of socnonvzosamucsi,
to take care of 3a60mumucs o,

to take notice of npunumamso 6o
BHUMAHUE.

His words were not taken notice of-
This material will be made use of-

Ha ero cioBa ne oopamunu enumanus.
DTOT MaTepual oOydem UCno1b306aH.

Korz[a HY>XHO IIPpUBJICYb BHHMAaHHUC K CaMOMY ﬂCﬁCTBHIO, BbIpaKacMOMY
(I)paSCOJIOFI/I"ICCKI/IM COYCTAHHUCM, CYHICCTBUTCIIBHOC BBIHOCUTCS HaA HCpBBIﬁ IJIaH "
rjiarojl IIpuHuMacT (I)OpMy CTPAAATCIbHOIO 3aJIora. HpCI[HO)KCHI/IC MMePCeBOAUTCA

HCONIPECACIICHHO-JIMYHBIM IIPCIJIOKEHHUEM.

Mention has been made...
Application should be made...
Advantage was taken of this fact...

beuio ynomanymeo ...
Cnenyer npumenums...
Bocnonav3zosanuce 3tum haxkToMm. ..

Use is being made of... Ilpumensiom...
Care should be taken... Crnenyet nozabomumocA. ..
Provision is made for... Ilpeoycmampusaemcs. ..
B aHMmiiCkoM s3BIKE HMMEETCS pSJI  IJIarojioB, KOTOpPBIE  SIBIISFOTCS
MEPEXOHBIMHA, T.€. TpPeOYIOT TPAMOTO JIONMOJHEHHS, B TO BpeMs Kak

COOTBETCTBYIOIIIME PYCCKHUEC TIJIaroJjibl SABJAIOTCA HCICPCXOAHBIMU U Tpe6y}0T
MNPpCAJIOKHOIO JOIIOJITHCHUA. K Takum rimarojiaM OTHOCSITCS

to affect smb., smth. enusmo na Koeo-1.,
Ha 4mo-i.;

to answer smth. omgeuams Ha YmMo-J.,

to attend smth. npucymcmeosamsv Ha
yem-i.,

to enjoy smth. nonyyams y0o6onbcmaue
om ye2o-J.,

to influence smb., smth. ewamev Ha
K020-]., Ha YMOo-J.,

to join smb., smth. npucoeounamocsa K
KOMY-JL., K YeMy-JL.,

to need smb., smth. Hyxcoamvcs @
KOM-J., 8 YeM-].;

to watch smb., smth. cieoums 3a kKem-i.,
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to follow smb., smth. cnedosame 3a |3a uem-1.
KeM-1l., 30 YeM-Jl.;

CTpaIIaTCJIBHBIC O60pOTBI C TaAKMMHU TJIarojiaMu IepeBOIATCS Ha pyCCKI/Iﬁ A3BIK
COOTBCTCTBYIOIIIMMHU HCﬁCTBHTCHBHBIMH O60pOTaMI/I, Inmpu 35TOM I1ICPCBOJA CICAYCT
Ha4YMHATL C MMpcajiora:

The question was answered. Ha BOTIpOC OTBETHIIH.
A great number of people attended the = Ha xondepeHIIu TPUCYTCTBOBAJIO MHOT'O
conference. JFO/ICH.

[Ipu oTCyTCTBUM JOMOTHEHUSI C TIPEJIOrOM by Takue cTpajareabHble 000pOThI
MEPEBOJSATCS HA PYCCKUM S3BIK HEOIpPEeIECHHO-IMYHBIMA 000pOTaMu, KOTOPBIC
HAYUHAIOTCS C MPEJJIOKHOTO JIOTIOJTHEHUS :

Your help is needed. B Baieit nomoniy Hy&JarTcs.

Cmpaoamenvhvie 000pomul ¢ hopmanvHviM nooaexcauium it

OO00pOTHI, COCTOSIINE U3 MECTOMMEHHUS if M TJIarojia B CTPaJaTeIbHOM 3aJiore
— it is said, it was said, it is reported, it was reported, COOTBETCTBYIOT B PYCCKOM
S3BIKE TJIarojlaM B 3-M JIMIIE MHOXKECTBEHHOTO YHMCIa C HEOIpenelCHHO-TUYHBIM
3HAUCHUEM: 2080paAm, 2080puiu, cooouwarom u m. n. B takux oboporax it urpaer
POIH GOPMATBHOTO TIOJIEKAIIETO U HE UMEET CAMOCTOSTEIIPHOTO 3HAYCHHSI:

It is reported that the experiment has Cooougarom, 9To SKCIEPUMEHT MPOBE/ICH.
been carried out.

B Takumx 000OpoTax 4YacTO BCTPEUAETCS COYETAaHWE MOJAIBHOTO TJaroja ¢
MH()UHUTHUBOM CTpaJaTeIbLHOTO 3ajora: it can be said moocno ckazamo, it should be
mentioned ciedyem ynomsnymo, it was to be expected naoo 6wi10 oxcuoamo 1 T. 1.

[lpy HanMMuUuM as co 3HAYEHHEM KaK Tepel 00OpOoTaMH TAaKOro TUMa it He
ynotpe0siercs: as is reported kax coodowarom, as was believed xax nonacanu, as
was to be expected xax nado 6vi10 odcudames.

B HEKOTOPBIX clTydasx OIyCKaeTCsl U Ii1aroii-csizka to be: as shown in Table 3
Kak nokazaumo 6 maoauye 3, as stated below kak ykazano nudice, as mentioned above
KaKk ynomsHymo eviuie, as reported in the last issue xax coobwanoce 6 nocieonem
HoMepe JHCYPHANA.

Practice
Exercise 1. Rewrite these sentences in the passive.

Model: Nonlinear effects in the optical link cause significant performance
degradation for the overall system.
Significant performance degradation for the overall system is caused by
nonlinear effects in the optical link.

1. These materials present new capabilities for studying acoustic characteristics.

2. Materials science offers researchers a wide variety of materials with chemical and
physical properties.

3. We provide a comprehensive survey by covering some of the traditional
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methodologies.

4. The analysis provides a simple approach for dealing with local aspects of a signal.
5. The computer program created many graphs of discrete signals.

6. These algorithms employ mathematical, statistical and heuristic methodologies.

7. Fourier analysis easily calculates the frequencies which make up the signal.

8. This approach will provide valuable background for the experiment.

Exercise 2. Rewrite these sentences beginning with the words provided.

Model: Scientists are developing a catalytic converter which detoxifies engine
fumes the world over.
A catalytic converter which detoxifies engine fumes the world over is being
developed by scientists.

1. Researchers are also finding ways to put proteins,| Ways to put proteins

DNA, viruses and other micro-organisms to work in
building nanomaterials.

The group recommended more research along with
new regulations to control the technology.

. Experts are assessing the effect of emerging

materials on health and environment.

The members of the commission are going to
undertake tests on products that ‘contain
nanomaterials.

The inventor has developed a programme of]
research to ensure the safety of products.

The conventional optical fiber communications
systems employ optical fibers to transport
information in optical telecommunication networks.
Traditional ~ WDM = communication  system
comprises a plurality of WDM transmitters.

The article provides a broad overview of the
characteristics of the signal.

More research

The effect of emerging
materials

Tests on products that
contain nanomaterials___

A programme of research
to ensure the safety of
products

Optical fibers to transport
information
A plurality of WDM
transmitters

A broad overview of the
characteristics  of  the
signal

Exercise 3. Fill in each blank with the necessary form of the verb in the Passive

p—

e

Voice.

“Explorer” which __ (launch) last year.

. “Nano”  typically (use) to define structures with a length scale of 1-100 nm.
. Frequency may  (measure) with higher accuracy than any other parameter.
. Pictures of the surface of the planet Venus  (receive) yesterday from space probe

Nanoparticles  (synthesize) in a variety of organic and inorganic materials.
The coders  (adopt) in national and international cellular telephony standards.

. In general, high-quality speech coding at low rates  (achieve) using high-
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complexity algorithms.

7. Phase transitions in polycrystals  (investigate) in detail.

8. Microchannels _ (create) in different materials, including glass, silicon and
polymers.

Exercise 4. Complete these sentences with the passive form of the verbs in brackets.

. Microprocessors  (make) of silicon.

. Call centers __ (use) to deal with telephone enquiries.

. In recent years, most mobile phones  (equip) with Bluetooth.

. GPS __ (develop) in the 1970s as a military navigation system.

. Sorry about the mess — the computers  (replace) at the moment.

. In the near future, the Internet  (access) more frequently from PDAs and mobile
phones than from desktop computers.

7. Networks  (can connect) via satellite.

8. I had to use my laptop this morning while my PC _ (fix).

AN N B~ W=

Exercise 5. A. Practice orally by using impersonal passive structures as shown in
the following example.

Model:  We (the author, they, etc.) have found that
It has been found that

. I must admit that

. He has found that

. Everybody accepts that

. I believe that

. The author hopes that

. Scientists sometimes say that

. Most people assume that

. Physicists recognize nowadays that

O~ ON LN B~ LWDN—

B. Give English equivalents of the following Russian phrases using
impersonal  passive structures and adverbs “widely”, “generally”
where required.

. I'oBopsrt, 4t0

. [Ipennonaraercs, 4ro

. MOXHO HazesaTbCs, 4YTO

. Cnenyer npusHatTh, 4TO

. bpu1O HalWiIEeHO, YTO

. O6menpu3HanHo, 4TO

. CunrarrT, uTO0

. ITupoko pacnpocTpaHEHO MHEHHE, YTO

O ON LN B~ WD —

Exercise 6. Transform the sentences using the Passive Voice.
1. They say that scientists are on the point of making a vital breakthrough.
2. The authors consider that these two methodologies are major elements in a
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3.

4.

powerful set of tools for theoretical and applied analysis.

They show that a detailed analysis of the type of conduction of single crystal films
has been carried out.

We expect that the implementation of new materials will benefit the study of the
phenomenon.

. They consider that semiconductor nanostructures and gold NPs are two classes of

nanostructures.

. Biochemists hope that viruses will be deployed as “nanocameras” to get a clearer

picture of what is going on inside cells.

. We suppose that the signal is severely distorted by added noise.
. Scientists believe that similar concept may be used to quantitatively explain the

unpredictability.

Exercise 7. Choose the most appropriate preposition in bold type. Translate the

1.

W

9,

sentences.
The tight relationship between chaos theory and cryptography has been pointed
out by/with some researchers.

. The rate of the reaction is affected by/on the change in such parameters as

concentration, temperature and pressure.

. The initiative was supported by/with everybody.
. The discovery followed by/with further experimental work stimulated research in

this area.

. Faster speed can be obtained with/by a little extra complexity and cost.
. The conference attended by/at scientists from different countries discussed new

trends and methods in this research.

. Most digital chaotic ciphers are claimed to be secure by/with the authors but

many of them are actually not.

.Some existing schemes have also been found to be insecure from/with

cryptographical point of view.

Exercise 8. Identify passive structures and give Russian equivalents of the relevant

part of the sentence as shown in the following example.

Model: Under these conditions the question cannot be answered unambiguously.

[E—

6.
7.

“The question cannot be answered”... Ha Borpoc Heb3s1 OTBETUTD ...

. This phenomenon has been dealt with by several researchers.
. The conference was attended by all the participants.
. Methods employed in solving a problem are strongly influenced by the research

objective.

. His scientific reports are always followed by heated discussions.
.In several areas of research the efforts of scientists are joined by those of

philosophers and sociologists.
This problem can be approached from several points of view.
The members of the laboratory were consulted prior to this successful operation.
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8. The reaction was followed by measuring temperature.
9. These rules were arrived at independently.

Exercise 9. Identify passive structures followed by a preposition and give Russian
equivalents of the relevant part of the sentence as shown in the
following example.

Model: Such things are not even thought of before the experiment is actually made.
“Things are not thought of ...” O Takux Bemax He AyMaloT...

. This approach has been referred to in an earlier paper.

. I do not think this instrument can be relied upon.

. The data cannot be accounted for by the existing theory.

. This theory has been referred to as the “big bang” theory.

. The best treatment of this material is generally agreed upon.

. Rapid development of information technology has been called for by the needs of
the national economy.

7. His warning was not taken notice of.

8. Application should be made of a new device this year.

9. Provision is made for new means of communication.

AN DN A LN~

Exercise 10. Identify passive structures in the sentences below and give Russian
equivalents of the relevant part of the sentences.

. The results were affected by the presence of impurities.

. Unfortunately no advantage was taken of the fast reaction rate.

. So far no notice has been taken of the obvious advantage of this technique.

. His curiosity was excited when reference was made to still earlier publications.

. Recently the problem has been given close consideration in connection with a

new space project.

6. Mention has already been made of the fact that gold is slowly attacked by these
substances.

7. Several outstanding contributions have been made to the study of crystal growth.

8. There is no doubt that in the course of further scientific development extensive
use will be made of modern computing machines and electronic devices.

DA W =

Exercise 11. Put questions to the words given in bold type.

1. Temperature of the electrolyte was kept at 293 K.

2. The wafers were then cut into pieces and subjected to electromechanical
anodizing.

3. A visual correlation between three clean harmonics is less affected by the noise.

4. A fixed number of harmonics is used for testing the algorithm.

5. The CDM approach to capacity enhancement is based on phase modulation of
partially coherent light.

6. The number of CDM channels can be varied without changing the physical
infrastructure.
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7. The advantages of ion beam techniques in thin film or surface technologies are
pointed out in a lot of publications.

Exercise 12. Translate the following sentences into Russian.
1. Many collision detection algorithms have been developed for solving collision
problem for computer animation of moving objects.
2. Breakthroughs in chip development were needed to solve the problem of faster
chips requiring more power and becoming less efficient.
3. Initial experimental specimens were prepared by vacuum deposing of aluminium
films.
4. In this article mention is made of the acoustic devices designed by our scientists.
5. Around this concentration region the experiment was repeated three times and
phenomenon was definitely confirmed.
6. Electrical signal carrying information is used to modulate the light emitted by an
optical source, typically a laser diode.
7. The modulated light is then propagated through an optical fiber link.
. It is observed that parts of the harmonic structure of speech have been removed.
9. The performance of the proposed algorithm is evaluated and compared with other
noise reduction methods.

o0

Exercise 13. Translate into English.
l.Baxubiii BriIag ObUT  cAeldaH B - U3YYEHHE MPOOJEeMBbl  OOecreueHus
MH(OPMAIMOHHON 6€30MaCHOCTH.
2. B aToli 1abopaTopuu IPOBOJUTCS MHOTO HAyYHBIX UCCIIEIOBAHUIM.
3.0ta wMblcab Obula BHepBble  BbiCKazaHa mnpodeccopoM  OKchopacKoro
YHUBEPCHUTETA.
4. Ba)HOCTb MOJTYYEHHBIX BHIBOJIOB HE Oblja OLIEHEHA.
5. 3a 3KCMIEpUMEHTOM TOCIEA0BATIO UCTIBITAHUE Pa3pab0TaHHOTO YCTPOICTRA.
6. AITOPUTM UCIIOJIB3YETCS Il U3MEPEHUSI HYJI€BbIX TAPMOHUK.
7.1lpu Takux YCHOBHSIX TpeOOBAHMS MOTYT OBITh YAOBIETBOPEHBI TOJBKO
YaCTUYHO.
8. [loTpeOyroTcss = ManpHEWIIMEe UCCIENOBAaHUA JJisi  TMOATBEPXKIEHUS  3TOTO
pe3yJbTara.
9.HenaBuo Mopenb Obula mpeoOpa3oBaHa, M B HACTOSINEE BpPEMsI OHA ILIMPOKO
HCIIOJIb3YETCs Ha TPAKTHUKE.
10. Bce cxemMbl MOXHO JIETKO PAaCUIUPUTH [JIsl MPOEKTUPOBAHUS APYTHMX HOBBIX
YCTPOWCTB.

Exercise 14. Choose the correct verb form.

1. Modern speech-coding algorithms are associated/ are associating with numerical
methods that are computationally intensive and often sensitive to machine
precision.

2. The statistical and spectral properties of speech are defined/ have defined over
short segments.

3. The properties of speech is being related /are related to the physical speech
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4.

5.

6.

production system.

In fact, existing computer chips will be manufacturing/are already manufactured
taking advantage of techniques at the nanoscale.

New and powerful light-emitting diodes (LEDs) may soon replace/ may be
replaced conventional light bulbs, offering huge energy savings.

In the short term, the greatest advances through nanotechnology will come/will
have been come in the form of novel medical devices and processes, new catalysts
for industry and smaller components for computers.

. LEDs are built/are building with nanoconductors, increasingly developed at the

nanoscale.

.Some nanomaterials, such as nanowires and other simple devices have

shown/have been shown to assemble themselves given the right conditions, and
other experiments at larger scales are striving/are being striven to demonstrate the
principles of self-assembly.

.More recently scientists working on the nanoscale have created/have been

creating a multitude of other nanoscale components and devices.

Exercise 15. A. Supply the correct form of the verbs in brackets.

1.
2.

3.
4.
5.
6.
7

8.

These parameters  (extract) from each harmonic subband.

Illegal data access  (become) more easy and prevalent in wireless and general
communication networks.

In order to protect valuable data from undesirable readers or against re-production
and modifications, the encryption techniques . (propose).

The two parameters could be  (view) as the keys to the proposed signal security
system.

The evaluation of the design _ (include) the delay time and the areas cost.

The machine  (try) under severe conditions.

. No stage of the design can _ (complete) in the absence of the precise specification

of the system under design.
Every thing  (affect) by its relations to everything else.

B. Today is Wednesday. Look at the notes Mark wrote yesterday and
early today. Then write: a) what he had done yesterday; b) what he is

having done today.
Tuesday Wednesday Thursday
(today)
the information for the a scientific paper printed | a meeting with the
paper collected scientific supervisor
arranged

the equipment for the a resumé sent the model produced
experiment checked
the obtained results a summary of the article | the device tested
analyzed written
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a. He had the equipment for the experiment checked yesterday.
b. He’s having a scientific paper printed today.
c. He’s going to have a device tested tomorrow.

Exercise 16. Use get in the required form in place of have in these sentences.

I must have I must get this report photocopied and sent off immediately.
They are finally having __ their computer repaired.

We’ll be having  the experiment carried out by a group of specialists.
Why don’t you have  the speed of the reaction changed?

They should have  new laboratory equipment installed.

You need to have  the theme of the research specified.

Have you had  the data checked?

He is going to have __ his experiment repeated next week.

When will he have  all his mistakes corrected?

WXL R W=

Exercise 17. Put in causative forms for the verbs in brackets.

Constant maintenance

The more you own, the more there is to go wrong. You invest in a new hi-fi
system and in no time you have to (it repair) 1 get it repaired. You (a new washing
machine install)2  and you have to buy expensive insurance to maintain it. You buy
a car and need to (it service) 3 regularly. You buy a camera and then spend a
fortune (films develop and print)4 . It’s not only things that need constant attention.
How often we have to (our eyes test) 5, (our teeth fill) 6 and (our chests X-ray)
7 ! But I had to smile last time I went to (my hair cut) 8§ . A bold notice in the
window announced: “All our customers promptly executed!” You certainly wouldn’t
need (any jobs do) 9 after that!

Exercise 18. A. Read the text to yourself and be ready for a comprehension
check-up.

Recently much attention has been given to the study of this phenomenon. In
this paper new experimental observations are presented and discussed. The data have
been obtained assuming a new model of the mechanism involved, which was
suggested in an earlier study by the author. The measurements have been carried out
with a conventional apparatus slightly modified by the author. All possible sources of
error are taken into account and consideration is given to the advantages and
shortcomings of the present approach. The results are analyzed and the analysis is
followed by a comparison of the data obtained with those available in literature. It is
hoped that the disagreement may be accounted for by an improved experimental
technique of the present investigation.

B. Check up comprehension.

1.Is it an abstract, a summary or a conclusion?
2. What was the author’s theoretical contribution?
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3. Did anybody else study the phenomenon? (Find two sentences to support your
answer).

4. Do the author’s results agree with those reported in literature?

5. How does he (she) account for that?

6. How does the author increase the accuracy of his (her) results?

Exercise 19. Read the article and underline all the examples of the passive. What
tenses are they?

A hacker has been sent to jail for fraudulent use of credit card numbers.
Nicholas Cook, 26, was arrested by the police officers near a bank cash point last
month.

Eight months earlier, he had been caught copying hundreds of computer
programs illegally. After an official inquiry, he was accused of software piracy and
fined £5,000.

It is reported that in the last few years Cook has been sending malware
(malicious software) to phone operators and attacking mobile phones to steal business
and personal information. Cook has now been sentenced to three years in prison for
stealing passwords and obtaining money by credit card fraud.

Government officials say that new anti-hacking legislation will be introduced
in the EU next year.

PA3JIEJ 4. HEJIJMYHBIE ®OPMBEI TJIATOJIA
(VERBALS)

Henuunbsie ¢opmbl rinarona: wuHbuuantuB (The Infinitive), repyunuii (The
Gerund), npudactue Hacrosiniero BpemeHu (The Present Participle), npuyactue
npomeniiero Bpemenu (The Past Participle) umerot cieayromiue 0COOCHHOCTH:

1. CoBmemator B ce0Oe NOpHU3HAKU JBYX dacTedl peun (mpuyactue —
NpWiaraTeJbHOr0 M IJIAroNia, TepyHIUW — CYHIECTBUTEIBHOTO U IJaroia,
MH(OUHUTHUB — TJIaroJia v CylleCTBUTENBHOTO).

2. BeipaxkaroT neiicTBue 0e3 yka3aHUs Julla, YUCIA, BPEMEHH U HAKJIOHEHUS,
MO3TOMY B MPEMIOKEHUU HE MOTYT ObITh CKa3yeMbIM, a JIMIIb 3HAYUMON YacThbIO
CKa3yeMoro.

3. Umetot kateropuu 3anora (Active, Passive) u Bpemenu (Present, Present
Continuous, Perfect, Perfect Continuous), KoTopble 00BIYHO YKa3bIBAIOT Ha TO, KaK
MPOTEKAI0 JEHCTBUE MO OTHOIIEHUIO K JIEWCTBHIO, BBIPAXKEHHOMY CKa3yeMbIM.
@opmsl Present u Present Continuous TOKa3blBalOT, YTO JEHUCTBUE NPOTEKAIO
OJTHOBPEMEHHO ¢ aelcTBUeM ckazyemoro. @opmbl Perfect n Perfect Continuous
MOKAa3bIBAIOT, YTO JACHCTBUE MPEIIIECTBOBAIO JECUCTBUIO CKa3yeMoro, NpUYEM
dbopmbl  Present Continuous w Perfect Continuous BbIPpXaIOT JJIUTEIBHOE
neiictBue. (Gopmbl pUYACTHS HACTOAIIETO BPEMEHU U FEPYHAUS COBNAAAIOT).

4. MoryT BBICTYNAaTh B MPEJIOKEHUHU B PA3IMUHBIX (QYHKIUAX: TIOJICKAILETO,
YacTH CKa3yeMOT0, JAOMOJHEHHUS, ONPEACIICHUS U 00CTOATENbCTRA.
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5. MoryT ymnoTpeOasAThCs B COYETAaHUU C 3aBHUCHUMBIMH CIIOBaMH, 00pasys
000pOTHI.

Ynompebnenue.

IIpnuactue

ynorpebnsercs B

MPEITIOKEHUN

B Tpex

(GYHKIUSAX: YaCTH CKa3yeMOTO, ONPEACIICHUS U 0OCTOSTEILCTRA.

lepynnuiik m UHPUHUTHB — B IISITH: TOJAJIEKAIEr0, YacTH CKa3zyemoro,
JIOTIOJTHEHHMSI, OTpENeNIeHUsI U OOCTOSATENbCTBA, MPUYEM B (PYHKIHMH OTNpeeTIeHUS
(mpaBoro) u 006CTOATENHCTBA TIEPE]] TEPYHIUEM 8ce20d CTOUT Npeodioe.

Ilepesoo. Ilpuuactue

MMCPCBOAUTCA

B

3aBUCUMOCTH OT (PYyHKIUHU

B

MIPEIOKCHUH: B (PYHKITUU ONPEICTICHUS — MPUIACTHEM, B QYHKIIUU 00CTOSATEIHCTBA
— JIeeTIPUYACTHEM.
Iepynanii 1 MHGUHUTUB TEPEBOAATCS TaK)Ke B 3aBHCHMOCTH OT (YHKIIMH:
CYIIECTBUTEIBHBIM, HHPUHUTUBOM, JACCTIPUYACTUEM, HHOTA TIPHJIAaraTeIbHBIM.
Bce HenmmuHbIe (hOPMBI I1aroyia MOTyT MEPEBOAUTHCS JIMYHBIMU — B 000pOTaX.
Obopomul. Bee HenmuuHble (GOpPMBI TIarosia oOpasyroT CIOXKHBIE 000pombl —
KOHCMPYKYUU, KOTOPBIE COCTOAT U3 CYUYECMBUMENbHO20 Uil MeCHOUMeHUss 1 00HOU

us

HEeIUYHbIX  hopm

2aazcoila.

MMpCaJIOKCHUCM.

IlepeBonsrcs

NpuAaTOYHBIM WX IIPOCTBIM

O61mast Tabaua HEMMYHBIX TTIAroJbHBIX popM

IIpuyacTre HACTOSIIETO0 BPEMEHH I'epynami Nupunutus
The Present Participle The Gerund The Infinitive
Active Passive Active Passive Active Passive
Present asking being asked asking being asked to ask to be asked
I e

having been

having been

to have been

Perfect | having asked asked having asked asked to have asked asked
Perfect to have been
Continuous o w o o asking o
The Past Participle asked
Cmoco6s! yoTpebenus YnorpeodJenue
1 — MO JIEKAIIEe IO IIeXKAalIee
2 9acTh CKa3yeMoTo 9acTh CKa3yeMoTo 9acTh CKa3yeMoTo
3 — JOTIOJTHEHUE JOTIOJTHEHUE
4 oTpeeNeHne (mpenior) onpeaeneHne ompeneeHne
5 00CTOSITEITLCTBO (mpenyor) 06CTOATETHCTBO 00CTOATENHCTBO
Crioco6sI IepeBoia IlepeBon
1 (omp.) mpuyacTueM CYILIECTBUTEIIbHBIM WH)UHUTHBOM
2 (obct.) meenpuyacTuemM WHQUHUTHBOM CYILIECTBUTEIIbHBIM
JU4HOM (opMoil rinarona
3 JeeTPUIaCTHEM JeeTPUIACTHEM
(060pOTHI)
4 MpHJIaraTeIbHbIM MpHJIaraTelIbHbIM
5 JTUYHOU (OopMOH TI1arosia JTUYHOU (OpMOH TI1arosia

(060pOTHI)

(060poTHI)
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ObopoTsI

«OOBEKTHBIN MAIEK C «OOBEKTHBIN MaJIexkK C
['epynaunanbabie 000POTHI
MIPUYACTHEM WHOUHATABOMY
cymr. (o011 cynr. (TIPUT.11. cyir. (001 11.)
I + (as) Part |(mpemtor)+ ym.(1p )+Gerund I + Inf.
MecT.(0OBEKT.IT.) MIPUT. MECT. MeCT.(0OBEKT.I1.)
1. mpua. mom.IIpe.
MPU. JOTL. TIPEJIIL. (mpemtor)+cymr. (oomr. 1. )+Gerund p p
2. IPOCTBIM IPEJI.
«IMeHUTETBHBIN TTAJICK C TIPHJI. TIPEUL. CO clIoBaMH: mo, | «IMEHUTEIbHBIN MaIex ¢
MIPAUYACTHEM ymo WH(OUHATHBOMY
CYILI.
cy. (00 Im. rJ1arod OOLL.II. rJ1aroj
yu( ) + + (as) Part ( )+ +Inf]
2| mect.(um..)  (cTpaj.3ai.) MecT.  (cTpaj.3ai.)
(um.11.)

1. mpua. npend.;

[IpunaTounoe npennoxeHue
2. IPOCTHIM NpEAJ.

HezaBucumplii mpuyacTHBIN Ob6opor «for + cymr. +
o6opoT + nHOUHUTHBY
cymr.(o0mr.Im. cy. (o0 1.
(withy YOOI for+ Y ) It
MeCT.(MM.IL.) MecT.(00BEeKT.I1.)

1) mpun. npemi. BpeMeHu
) p P p ’ 1) mpun. o6cT. mpet.;
[IPUYKHBI, YCIO0BUs (KOrja, TaKk
2) pOCTHIM

KaK, €CJIM); 2) OTAEJIbHBIM MPeaJl.
MpeI0KEHUEM

(mpuuewm, U, a)

PA3JAEJI 5. ”THOUHUTHUB
(INFINITIVE)

Nndpunurus  (HeompeneneHHas ¢opma TIarojia) IMpeacTaBiseT coOoi
HEJIMYHYIO TJIArojibHYI0 (opMy, KOTOpas TOJbKO Ha3bIBAaeT JIEHCTBUE, HE yKa3bIBas
HU JuIa, HU uncia. UHGUHUTHB oTBEYaeT Ha BOMPOCHI ¥mo denamsv? umo coenams?:
to read unTaTh, IPOYECTD; 0 write NUCaTh, HANKCATh; f0 buy NMOKyNnaTh, KyIUTh.

dopMaibHbIM MPU3HAKOM HHQUHUTHBA SBISETCA 4YacTUlla fo, KOTOpas He
MMEET CaMOCTOSITENIBHOTO 3HAUYEHHUS U HE IpUHUMAET yaapeHus. OqHako yacTuua fo
nepea UHPUHUTHBOM YacTO OIYCKaeTCs.

NubuHUTUB MpoM30IIEN OT OTIVIArOJIbHOTO CYIIECTBUTENBHOIO M COXPaHUII
cBoiicTBa 3TOM Yactu peun. MHPUHUTUB, Kak M Bce HeJIUYHbIE (POpMBI Iiiaroina,
MOJXKET:

a) HMETb MPsMOE JOTOIHEHUE, HAPUMED:
to build reads — ctpouts noporu;

0) ompenenaTbCca HapeuueM, KOTOPOE MHOTJA pacIoJiaraeTcsi MEXIy YacTUIed u

56




cMBbICI0BOM YacThio (split Infinitive), Hanpumep:
to effectively determine — onpenensts Ighphexkmusnvim oopazom;

B) HUMETh CIIOXKHBIC (OPMBI, HATIPUMED:
to be written — OBITH HAIIMCAHHBIM;
to have written — (yxe) Hanucarhb;

to have been written — (yxe) ObITh HAITUCAHHBIM.

DOyHKIUM HHPUHUTHBA B NIPeJ10KEHUHN

Dynkyuu

Ilpumepuoi

1. HHomnexaniee
[Tocne dhopmanbHOTO MOAJIEKAIIETO it

To save money is not easy.
It is important fo obey the laws
of the country.

2. YacThb CJI10:KHOI0 MOoAJIesKaliero

(Complex Subject)

1) nocne rinaronos say, believe, know, expect,
think, state, announce etc.

2) mocne 11arojioB seem, appear, happen, prove,
chance, turn out etc.

3) nocne npwiararenbHbix (un)likely, certain,
sure etc.

She 1s said to have completed the
experiment.
He proved to be a good engineer.

He is sure to be awarded a prize
for his scientific research.

3. YacTb COCTABHOIO IJIAr0JILHOI0 CKA3yeMOro
1) ¢ MOAaIBLHBIMH TJIArOJIaMH

2) ¢ riaarojiaMu, XapakTepu3yOIUMHU
npoTeKaHue neicTeus begin, start, continue,
cease, would, used to etc.

You ought to fulfill the task on
time. She’s started to plan her
business career.

She used to work in
laboratory.

this

4. lonojiHeHHe

1) nocne rinaronoB want, wish, decide, aim, fail,
hurry, manage, offer, prepare, refuse, try,
struggle, hesitate, afford, attempt, deserve, hate,
love, like, prefer, plan, ask, choose, hope,
promise, remember, forget etc.

2) mocne npuiaraTesbHbIX U nnpuyactuii: glad,
pleased, happy, sorry, able, afraid, ready etc.

We were asked to speak to the
manager.

He can’t afford to buy new
equipment.

I am ready o report the obtained
data.

5. HacTth CJ10KHOI0 T0NOJHEHHUS

(Complex Object)

1) mocine rmaronoB want, wish, like, would like,
need, prefer, consider, believe, know, think,
prove, suppose, expect etc. (c to)

2) MOCJIE TJ1aroJioB YyBCTBEHHOTO BOCIIPHUSATHS
hear, feel, see, watch, notice etc. (6e3 to).

I want you to help me with the
assignment.

We often see scientists move
from one field of research into
another.
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6. Onpenesienne
(MHGUHUTHUB CTOUT TIOCJIE ONPEEIIEMOro CJIOBa)

NupunutuB B GQyHKIHUU ONPEIETIECHUS YacTO
BCTpPEUAETCS TAKXKE IIOCIE CIOB: the first, the
second, the third, the last

The problem to consider next is
concerned with the ionization of
gases.

He is always the first o0 come to
the university.

7. O0CTOATEIBCTBO
1) yeau (MHPUHUTUB CTOUT B HAYaJIe U B KOHIIC
MPEJIOKEHUSI C COt03aMu in order to, so as (t0)

2) cneocmeusn (MHGUHUTUB CTOUT B KOHIIC
MIPEJIOKEHUSI, U €My YacTO MPEAIICCTBYIOT
cioBa: enough, too, sufficient, sufficiently)

(In order) to wunderstand the
phenomenon the laws of motion
should be considered.

Some people are too proud zo
admit that they don’t know.

8. BBOaHBIH YJIeH NpeAJI0KeHU S

(OOBIYHO CTOUT B HaYaJIe MPEJJIOKECHUS, BCET 1A
BBIJICIIIETCS 3aISThIMU : to tell the truth, to begin
with, to sum up, to be sure, to make a long story
short, to put it simply, to say the least, to be
honest etc.

To be honest, 1 am not yet ready
with my research.

To begin with, no general
method will be given here.

Ynorpebienue uHGUHUTHBA 0€3 YACTHIIBI f0

Cayuau ynompeonenus

Ilpumepoi

1. ITocre BcmomMoraTelIbHEIX TJ1aroioB do,
shall/will, should/would

I won’t ask him any questions.

2. J1ns oOpa3oBaHUs OBEIUTEIBHOTO
HAKJIOHEHUS

Approach the problem from
different sides.

3. Ilocne riaaronos let, make B cIOXKHOM
JOTIOJTHEHUH *

B 000pOTE «00BEeKMHbLI NAdeiic C
UHGUHUMUBOM)

He made me take special care of
the accuracy of the calculation.

4. Tlocne MOJ@IBHBIX TJIATOJIOB (must, can, may
etc.)

You must put it another way for
everybody to understand clearly.

5. Ilociie r1aro10B 4yBCTBEHHOT'O BOCIIPUATHS
see, hear, listen, watch, feel, notice B c10)xHOM
JIOTIOJIHEHUH B 000POTE «0OBEKMHBLIL NADEHC C
UHGUHUMUBOM

I heard him admit to have made a
similar mistake in his earlier
publication.

6. Ilocnie coueranuii had better, would
rather/sooner, rather/sooner...than

You had better think logically first
in order to write with precision.

7. B Bonpocax, HaunHaromuxcs ¢ Why?

Why not review recent
development in the field of
computer-aided design?
Why worry?

*B cTpagatenbHOM 3aniore make ynotrpeOsieTcs ¢ 4acTULIeH fo:
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He was made to work without any breaks.

DopMbl HHPUHUTHBA

Tenses Jenicmeumenvuotii 3an02 CmpaoamenvHuulil 3a102
Active Voice Passive Voice
Present (to) investigate (to) be investigated
Present Continuous | (to) be investigating -
Perfect (to) have investigated (to) have been investigated
Perfect Continuous | (to) have been investigating -

Present Infinitive — neiicTBue, BbIpa)K€HHOE MHOUHUTUBOM, WU MPOUCXOJUT
OJTHOBPEMEHHO C JICHCTBHEM CKa3yeMoro, Hiu OyJIeT UMETh MECTO. B OyayIiem (eciu
CKa3yeMoe BBIPA)KEHO IJ1arojiaMH TUIIA 0 expect — OKUJaTh, M0Jararh; fo assume —
JIOTIYCKaTh; f0 Suppose — npeanoaraTh, Mojararb:

I have never known him to take an active part in the work.

We expect him to take an active part in the work.

Perfect Infinitive — neiicTBue, BBIPAXXECHHOE€ WH(PUHUTHBOM, MPOUCXOIUT
paHbllle ACHCTBUS CKa3yeMOoTo, HalpuMep:

Such information is unlikely to have been available from the user.

Present Continuous Infinitive — neiictBue UHQPUHUTUBA NMPOUCXOJUT B TOT
MOMEHT, 0 KOTOPOM TOBOPHUTCS B MPEAJIOKCHUHN, HATIPUMED:

I have never known him to be working at this problem.

Perfect Continuous Infinitive — 1nuTenbHOe JelicTBUE HMHPUHUTHBA
COBEpIIACTCS B TEYCHHWE OTpPEe3Ka BPEMEHHW, MPEANISCTBOBABIIETO JEHCTBUIO,
BBIPQ)KCHHOMY TJIarojioM B IMYHOH opMe:

He is known to have been working on this problem for many years.

Passive Infinitive — neiictBie WHQUHUTUBA, MEPEBOIUMOrO CKa3yeMbIM B
MPUIATOYHOM MPEIIOKEHUH, TIEPEXOIUT Ha MOAJIekKallee, HalpuMep:

I know him to have been informed about the meeting.

Practice
Exercise 1. Write various forms of the infinitive.

a) Present Infinitive Passive (to translate — to be translated)

to detect to establish to predict to receive to verify
to discount to observe to prove to suggest

b)Present Continuous Infinitive Active (to translate — to be translating)

to add to describe to discover to record to utilize
to compare to develop to gather to test

c¢) Perfect Infinitive Passive (to translate — to have been translated)

to achieve to create to generate to represent to support
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to bring about  to examine to provide to send
d) Perfect Continuous Infinitive Active (to translate — to have been translating)

to accumulate  to conquer to explain to improve to process
to acquire to discuss to explore to participate

Exercise 2. Find the infinitive in the sentences, define its form and function.
1. To develop the supercomputer highly developed electronics and new materials
were required.
2. This method is not accurate enough to give reliable results.
3. To explain this simple fact is not so easy.
4. The question of the procedure is yet to be settled.
5. The device to be tested has been made in our lab.
6. To begin with, one must be curious about the world around him.

Exercise 3. Use the correct form of the infinitive of the verb in brackets.
1. Everything is just the way it used (be). Nothing seems (change).
2. The money for charity is supposed (raise) by the organizers of the party.
3. He admits (make) a similar mistake in his earlier publication.
4. One can expect the scope of research (expand) steadily.
5. The engineer made the reaction (run) at reduced pressure.
6. These variations were found (make) little difference in the results.
7. They claim (inform) of this possibility before the experiment.
8. Science 1s known (contribute) to every aspect of people’s life.
9. The product has been proved (affect) the overall yield.
10. Nowadays we see many new areas of research (come) into being as a result of
unexpected break.

Exercise 4. Paraphrase the following sentences using the infinitive active or
passive.
1. She was sorry that she had missed so many classes before the exams.
2. You should give this matter top priority.
3. It has been found that semiconductors exhibit magnetic properties.
4. We know that the first digital optical disks were produced in 1982 as disks for
music.
5. The scientist reported that he had spent six years on the problem.
6. They should regard the study as contributing to fundamental knowledge.
7.He was deeply disappointed that the final results of his research had turned out
unsatisfactory.
8. It is concluded that the model provides a very good fit to the experimental data.
9. You should strictly define all the responsibility.
10. Experience shows that this strategy has produced better results than more
traditional one.
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Exercise 5. Use the infinitives given below as subjects:

to explain to give up to know to lose to operate to see
to explore to imagine  to learn to mention  to search to speak
1.1t 1s hard __ peaceful coexistence of nations without all-round scientific

cooperation among the states.
2.1t 1s often difficult  the long-term consequences of scientific advance and its
applications.
. It takes time __ the subject - matter thoroughly.
. It takes long  the possibility for using alternative sources of energy.
. It would be rather difficult  this complex device.
. It appears advisable  about an improved version of this method.
. It takes time __ this phenomenon.

~N O\ L &~ W

Exercise 6. Use the infinitives given below as predicates:

to ask to deny to keep to produce to take
to become to encourage to measure to reach to try
to control to go on to offend to return

1. The mission of scientists is  knowledge.

2.The new apparatus was  all the ‘temperature changes during the
experiment.

3. The main task of a scientific supervisor i  his postgraduate students to do
research.

4. The important thing is  a different approach to the problem.

5.His aimis __ these preliminary calculations secret.

6. The usual way to evaluate the electrical conduction properties in these connections
is _ the contact resistance.

7.Our planis __ obtaining information from a server.

Exercise 7. Use the infinitives given below as objects:

to air to calculate to lock to promote to show
to be to evaluate to measure to retire to verify
to begin to give to obtain to see off

1. Many subsequent researchers have attempted _ this micro-contact model.

2. Today universities are interested  the development of science and technology.

3. A contact model for a rough surface with a soft coating was used  the effective
area in the study.

4. A stereomicroscope was used  the apparent contact area.

5. A three-dimensional surface topography measurement system was conducted  the
pad surface roughness.

6. The measured surface roughness was used ... the effective contact area.
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Exercise 8. Paraphrase the following so as to use the infinitives as attributes.

I.

2.

O 0 3 O

Technological developments have created the opportunity which frees mankind
from arduous labour.

Our ability which helps to communicate fast and easily has made life more
enjoyable.

. The developed world has a responsibility which enhances partnership activities in

science.

. The needs which improve performance and reduce chip size made copper replace

aluminum interconnection for deep integrated circuits.

. There are many considerations that may be taken into account in determining

space velocity.

. He was the first man who presented the case for this line of research.
. He was the first scientist who took the floor at this conference.

. There is one more important factor that can be considered.

. The researcher was the last who left the laboratory.

Exercise 9. a) Answer the questions. Use the infinitive phrases given in brackets as

1.

2

6.

9.

10.
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adverbial modifiers of purpose.

Why do scientists utilize existing knowledge in (to predict how things will
new scientific investigations? behave).
. Why do scientists use mathematics? (to analyze the data and help
them interpret their results).
. Why do scientists pursue research in basic science? |(to satisfy the thirst for
knowledge).
. Why do scientists conduct research in applied (to achieve some kind of
science? practical or profitable gain).
. Why do scientists communicate their results with |(to discuss findings and
other scientists by publishing them in science debate issues).
journals?
Why do scientists employ methods of induction in |(to generalize from the
developing a hypothesis? experiment’s results to

predict future outcomes).

. Why do scientists employ methods of deduction? |(to infer new facts from

experimental results).

. Why does this study measure the circuit contact (to evaluate the electrical
resistance? conduction of various
thermosonic wire bonding
methods).
Why was the micro-contact theory used? (to determine the effective

contact area).

Why did they propose the classical micro-contact |(to describe the phenomena
model? acting at the contact interface
between two surfaces).




b) Use the infinitive as an adverbial modifier of purpose.

1. Scientists use computers in order to ...

2. He had to work hard in order to ...

3. A number of devices were developed in order to ...

4. 1’1l take a map so as not to ...

5. He left early so as not to ...

6. She set her alarm clock so as not to ...

7. He revised hard for the test in order to ...

8. Scientists used only local materials, in order to ...

9. Take special care of the accuracy of the calculation in order to ...
10. Consider the following analogy so as not to ...

Exercise 10. a) Combine the following pairs of sentences into one using the
infinitive as an adverbial modifier of result. Use too or enough where
necessary.

. The program is diversified. It can excite the interest of most graduate students.

. The concept was advanced. It could not be appreciated by contemporary scientists.

. The consequences were disastrous. They might exceed anything imaginable.

The advantages of such an approach are evident. They could not be taken for

granted.

The theory is not detailed. It can’t give a complete description.

6. This method is accurate enough. It can give reliable results.

B LN =

e

b) Paraphrase the following sentences so as to use the infinitives of
resullt.
. The analysis has been so extended that it can be taken into consideration.
. A new theory was so advanced that it could produce a revolutionary change in our
understanding of the process.
. The paper is so detailed that it enables any other scientist to repeat the research.
4. The technological advance was so great that it could make life easier or more
enjoyable.
5. The achievements of the past few decades are so great that science has come to
occupy such an important place in the life of the society.
6. The information was so valuable that it should be included in a scientific journal.

N =

W

Exercise 11. Translate into English.

1. Bonrpoc ObLT CMIIIKOM CJI0OKHBIM, YTOOBI PEIIaTh €ro TaK MOCIEITHO.

2. OH 10CTaTOYHO YMEH, YTOOBI MTOHSATH 3TO.

3. Ilpennonoxkenue OBLJIO CIUIIKOM HEOXHUJAHHBIM, YTOOBI €ro MOXHO OBLIO
MIPUHATH BO BHUMAaHHUE.

4. IIpoGneMa 10CTaTOYHO MHTEPECHA, YTOOBI BO30YAUTH HHTEPEC UCCIICIOBATEIICH.

5. JlaHHBIX OBLIO HEAOCTATOYHO, YTOOBI PEIIUTH ATY MPOOIIEMY.

6. OTO IPEANoN0KEHNE HE TaK BaKHO, YTOOBI paCCMaTPUBATh €TI0 CEPhE3HO.

7.3Ta uaes 10CTaTOYHO OYEBUJIHA, YTOOBI BOCTIOIB30BATHCS €IO.
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Exercise 12. Choose the correct variant. (Infinitive with to and without to).

NN DN Bk~ W=

8.

. Scientists expect lasers (solve) the problem of controlled thermonuclear reaction.

. I heard this concept (mention) during the conference.

. Such information is unlikely (have been) available from the user.

. They were made (carry out) mathematical and statistical analysis.

. They made him (leave) the problem out of the scope of his research.

. Some people seem (be) disappointed with science.

. Laser is known (be) a device producing an intensive beam of light by amplifying

radiation.
We saw them (make) practical measurements using expensive equipment.

Exercise 13. a) Make up sentences:

Model: not easy / write instructions in Java

It’s not easy to write instructions in Java.

1) expensive / set up a data-processing area

2) advisable / test the programs under different conditions

3) unusual / write a program that works correctly the first time it’s tested
4) important / use a good debugger to fix errors

5) easy / learn Visual BASIC
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b) Choose the correct word (a-c) to complete these sentences.

. We use high-level languages because machine code is too difficult , understand
and debug.
a) read b) reading c) to read
. I went on the course  how to be a better programmer.
a) learn b) to learn c) for to learn
. He refuses  the project with me.
a) do b) doing c)to do
. The engineers warned the employees not  the cables.
a) touch b) touching c) to touch
. They may not __ to the conference.
a) come b) coming c) to come
. Spyware can make your PC _ more slowly.
a) perform b) performing c) to perform
. The program is too slow  the simulation.

a) do b) to do c) for doing

NudpuHuTHBHBIC 000POTHI
(Infinitive Constructions)

1. O0beKTHBIH HH(PUHUTHBHBIN 000POT
(Objective Infinitive Construction)

He thinks the results to be good.



(momtesxaree) (ckazyemoe) (COXXHOE TOMOJIHCHHUE)
(0OBEeKTHBIN MHPUHUTUBHBIA 000POT)
On TyMaer, YTO PE3yJIbTaThl XOPOIIHE.

OOBEKTHBI HHPUHUTUBHBIN 000POT COCTOWT M3 CYIIECTBUTEIBHOTO (B 00IIEM
nanexe) (the results) uiu MectouMmeHus (B OOBEKTHOM TajieKe) U MHPUHUTHUBA
CMBICIIOBOIO TJ1aroja (fo be).

ITocne rnaroisioB fo see, to hear, to feel, to watch, to observe, to notice, to
make, to cause, to let vnpuHUTUB yroTpedIIsIeTCs O€3 fo.

OObexkTHBIE ~ WMHOUHUTHBHBIA ~ 000pPOT, Kak MpaBUJIO, MEPEBOIUTCS
MPUIATOYHBIM JTOTIOJHUTEIBLHBIM MPEIOKESHUEM, TOICKAIIUM KOTOPOTO SBJISCTCS
JOTIOTHEHHE, a CKa3yeMbIM — HH(O)HHUTHB aHTJIUHCKOTO MPEIIOKCHUS.

OObeKkTHBII HMHPUHUTUBHBIA O000pPOT YMOTPEOSETCS IOCIE CICAYIONINX
TJIaroJioB:

to allow to consider to find to make to see to want
to assume to demand  to hear to permit to show to wish
to believe to enable to know to prove to suppose

to cause to expect to like to request to take

to command to feel would like  to require to think

We made this reaction run at reduced pressure.

2. Cy0ObeKkTHBII HHQUHUTUBHBINA 000POT
(Subjective Infinitive Construction)

C0XHOIOJUMHEHHOE TIPEIJIOKEHHE c TJIaBHBIM MIPEIOKEHHEM,
BBIpQXKEHHBIM O€3JIMYHBIM 00OpPOTOM THTNA it is said, it is reported, it seems, it is
likely, MOXHO 3aMEHUTH MIPOCTHIM MPEIJIOKEHUEM

It is considered that the students conduct research well.
The students are considered to conduct research well.
(momtesxaree) (ckazyemoe) (MHGUHUTHUB)
CYUTAIOT, 9TO AT CTYACHTHI MPOBOIAT UCCIIEIOBAHUE XOPOIIIO.

CyObeKTHBII HMHPUHUTUBHBI O0OPOT yHOTPEONSEeTCS CO  CIEeAYIOIUMHU
rjlarojaMu B IIaCCUBHOM (opme:

to assume  to consider to find to know to see to suppose
to believe to expect  to hear to report to show to take (momaratsb)
to claim to estimate to hold to say to state to think

A number of methods has been supposed to provide this representation.

CyObeKkTHBII HMHPUHUTUBHBI O0OPOT yHOTPEONIeTCsl CO  CIEAYIOIHUMHU
rJIarojamMu B akTUBHOU (opme: fo appear, to happen, to prove, to seem, to turn out,
a TaKke ¢ oboporamu: to be certain, to be (un)likely, to be sure.

These two methods turned out to be incompatible in effectiveness.

This theme is likely to stimulate the researcher’s interest.
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3. O6oport for + cynecTBUTe/IbHOE (MJIH MeCTOUMEHHE) + HHPUHUTHB.

Kak u BO BceXx HE3aBHCHMBIX 000pOTaX, B O3TOH KOHCTPYKIIMH IEPEa
WHQUHUTHUBOM €CTh CJIOBO, OOO3Hayaromiee ICHCTBYIONIEE JHIO0 WA TPEIMET,
KOTOPOEC BBOJHTCS NPEIJIOTOM for W TIPU IEPEBOJEC CTAHOBUTCS ITOJJICKAIIAM
NpUIATOYHOTO TpeiokeHus. CIoBO for TOMOTaeT ONpPENeIUTh HAadalo PYCCKOTO
MPUIATOYHOTO TIPEIJIOKCHUS, BBOAUMOTO COI03aMH ¥Mo0Obl, B KOTOPOM HH(PUHUTHUB
CTAaHOBHTCS CKa3yeMBbIM.

For this method to be valuable it must be improved.

Exercise 1. Identify the Objective with the Infinitive Constructions. Translate the
sentences into Russian.

We know the scientist to investigate this problem thoroughly.

The scientific supervisor wants his postgraduate student to attend the conference.

One may assume the information to be correct.

The results of the investigation are very difficult to accept.

They consider the results to be satisfactory.

We proved this suggestion to be wrong.

A e

Exercise 2. Paraphrase the sentences using Objective with the Infinitive
Constructions. Make all the necessary changes.

Model 1: 1 know that she has an interest in the company.
I know her to have an interest in the company.

Model 2: She heard that he mentioned the problem several times.
She heard him_mention the problem several times.

1. We did not know that he was responsible for this experiment.

2.1 heard that all collaborators of your department combine activities in research with
experimental work.

3. Nowadays we see that scientists move from one field of research into another.

4. Most scientists expect that major developments in the near future will take place in
electronics.

5. We know that our present age is the age of the scientific and technological
revolution.

6. She heard that he enjoys making reports at scientific conferences.

7. The students saw that the device began to operate.

8. I felt that the results were satisfactory.

Exercise 3. Identify the Complex Subject. Translate the sentences.

Model: 1. The secret was believed to_have been lost. 1lonaranu, 4To cekper ObLI
yTepsiH.
2. She appeared to_be supporting the suggestion put forward by her
collaborator.
Oxazanoch, 4TO OHA MOJJCPKUBACT MPEJIOKECHNE, BBIIBUHYTOE €€
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COTPYAHHUKOM.

. A number of methods has been supposed to provide this formal representation.

. The conditions seem to have been poorly chosen.

. This hypothesis is likely to stimulate the researcher’s interest.

The fact happened to become known to everybody.

The results obtained are considered to be satisfactory.

These two methods turned out to be incompatible.

The study of single electrical circuits does not seem to have given rise to the
phenomenon.

=

Exercise 4. Change the sentences so as to use Complex Subject.
Model: 1t is said that he knows several oriental languages.

1. It appears that the possibility of explaining this theory wasnot excluded.

2.1t seems that the studies of single electrical circuits haven’t given rise to the
phenomenon.

3. It was proved that these assumptions affected the system capacity.

4.1t is unlikely that the development of such a unit is a success.

5. It is certain that the above mentioned reactions proceed smoothly.

6. It turned out that this reaction led to good results.

7. With the advent of nuclear weapon it seemed that some people were disappointed in
science.

Exercise 5. Identify the for-Complexes. Translate the sentences.

1. The problem is far too involved for one to be able to solve it.

2. Two hours was sufficient for the reaction to occur.

3.1t is necessary for the investigator to apply the knowledge gained from scientific
publications to the problem under exploration.

4. Preliminary experiments showed that the time required for the specimen to reach
thermal equilibrium was quite long.

5. Under what conditions will the reaction proceed sufficiently rapidly for the method
to be practical?

6. Here is one more important point for the speaker to explain.

7. There is a tendency for the method to be used in all the experiments.

8. There 1s an apparent tendency for science to become more and more mathematical.

Exercise 6. Practice the for-Complex after adjectives. Study the examples, then
rewrite the sentences.

Model: He was impatient. He wanted the knowledge gained from the library to be
applied to the problem under exploration.
He was impatient for the knowledge gained from the library to be applied to
the problem under exploration.

1. The researcher was impatient. He wanted the expected results to materialize.
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2. The postgraduate student was dissatisfied. He expected the subject of study to be

examined from a new fresh approach.

3. The scientific supervisor was disappointed. He would like his students’ papers to be

published.

4. They were anxious that the researcher should rewrite some parts of his/her thesis.
5. The applicants were worried that they should undertake a preliminary course.
6. He was excited that he should begin his scientific experiment.

Exercise 7. Choose the phrase A, B, C, which best completes the following

1.

English sentences.
Coolmraercs, 94To UCCIe0BaHNE TPOXOIUT YAOBICTBOPUTEIBHO.
The investigation...
a) 1s proceeding satisfactorily;
b) 1is to proceed satisfactorily;
c) 1s announced to proceed satisfactorily.
. [To-BuMOMY, 3TH YCJIOBHUS BEIOpAHBI TIOXO.
These conditions...
a) have to be poorly chosen;
b) seemed to be poor;
c) seem to have been poorly chosen.
. Bo3aMOXHO, OH IIpeycren B peIIeHny dTON 3aJauH.
He was likely ...
a) to succeed in solving this problem,;
b) to succeed to solve this problem;
c) to succeed solving this problem.
. CYHTAIOT, 9TO TH SBJICHHS B3aUMO3aBUCUMBI.
These phenomena ...
a) are interdependent;
b) are believed to be interdependent;
c) are to be interdependent.
. OKa3anock, 4To 3TO BEIIECTBO 3arps3HEHO MPUMECSIMHU.
This substance turned out...
a) be contaminated with impurities;
b) to be contaminated with impurities;
c) contaminate with impurities.

Exercise 8. Change the sentences so as to use different constructions with the

infinitive.
1. It is considered that light is some kind of wave motion of electromagnetic origin.
2. It is believed that the new method has given good results.
3. It was concluded that the reactions are similar in their behaviour.
4. It appears that the reaction involves a rearrangement.
5.1t turns out that peaceful coexistence of nations is unthinkable without all-round
scientific cooperation among nations.
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6. It is certain that progress in science requires various types of cooperation.
7.1t is likely that our ability to communicate fast and easily has made life more
enjoyable.
8. It is assumed that all cultures contribute to scientific knowledge.
9.1t is reported that science is doing much to eliminate diseases and hunger.
10. It was proved that this theory is correct.
11.1t is assumed that people’s knowledge is well-organized and facilitate the
understanding of new information.
12. It is expected that this scientist will be involved in this project.

Exercise 9. Translate into English. Use the constructions with the infinitive.
1. MBI BuieIM BO BpeMs OIbITa, Kak TeMIlepaTypa ObICTPO majaia.
2. OH noJiaraet, 4To €ro aCCUCTEHThI CKOPO 3aKOHYAT OIIbIT.
3. Ilo-BuaMMOMY, OH XOPOIIO 3HAET ITO MPABUIIO.
4. Baiil coBeT oKa3ajcs MOJe3HBIM.
5.Tlony4yeHHBbIE pe3yabTaThl, OKa3aJlOCh, MPEKPACHO - COTVIACYIOTCA C MPEKHUMHU
JTAHHBIMU.
6. B 3T0i1 cTaThe, MO-BUAUMOMY, CYIIECTBYET MTyTaHUIIA B TEPMHUHAX.
7. CuuTaroT, 4TO ATH CTYACHTHI MPOBOJAT HAYYHbIE UCCIEAOBAHUS XOPOIIIO.
8. Ero 3actaBmjiv mpOBECTH IKCIICPUMEHT.
9. EMy Mo3BOJIMIIM OITYOJIMKOBATh CTaThIO.

The Infinitive and the -ing Form

Exercise 1. Below is a list of verbs which can take either the to-infinitive or the
gerund with little change of meaning. Read them and translate into

Russian.
advise bother dread intend love plan start
allow continue  forbid leave neglect prefer study
begin dislike hate like permit propose can’t bear

Exercise 2. Match the line on the left with the line on the right. Analyse the use of
the to-infinitives or -ing forms.

1. They stopped reading the article a) because it didn’t contain any valuable
information

2. They stopped to read the article b) to get ready for the conference

1. She remembers submitting a) the paper three weeks before the
conference

2. Please remember to submit b) the paper three weeks ago

1. Try combining a) practical work with scientific research

2. Itried my best to combine b) practical work with scientific research
but it was no use
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1. I prefer taking a postgraduate course a) next year
2. I’d prefer to take a postgraduateb) to working at a plant
course
1. On Mondays I like to attend a) lectures of this professor but I’'ll be
away then
2. [Tlike attending b) lectures in the morning
3. I’ dlike to attend the c) lectures

1. I believe that what I said was fair.a) saying it
I don’t regret
2. Iregret b) to inform you that your application
form has been refused

1. Please go on a) making experiments. I don’t mind
waiting
2. After discussing the methods used,  b) to talk about the hypothesis
the researcher went on

Exercise 3. Write each pair of sentences as one. Use the correct verbal forms.

Model: The scientific supervisor didn’t send his abstract. He forgot.
The scientific supervisor forgot to send his abstract.

1. The postgraduate students once attended the lecture of Zhores Alferov. They’ll
never forget it.

2. She did research in the field of microelectronics but she failed to defend her thesis.
She regretted it.

3. She has failed her exam. I regret it but I have to tell her about it.

4. There wasn’t enough time to finish my experiment. I tried my best.

5. You want to prove this theory and do a scientific experiment. You should try.

6. They should tell us about the conference. They remember it.

7.1 met him at the scientific conference two years ago. I can remember it.

Exercise 4. Expand the words or phrases in brackets. Use both the to-infinitive and
the -ing form whenever possible. The first one has been done for you.

1. What does the decision maker try to obtain / try obtaining by solving the problem?

2. Being absent-minded he often (forget / register) the results of the experiment.

3. He can’t find a good job, he (regret / not take) postgraduate courses.

4. After discussing experimental data the researcher (go on / talk) about a new method.

5. As he hasn’t finished his experiments research work (need / improve).

6. Please forgive me for interrupting you but would you (mind / repeat) that last
sentence?

7. The speaker said he would confine himself (try / answer) four questions.

8. Would you please (remind me / call) her tomorrow?
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Exercise 5. Put in the to-infinitive or the -ing form of the verbs.
1. The development of science is likely (lead) to many undesirable consequences
unless great effort is made (control) the application of scientific discoveries.
2.Science could (be) developed in a new way (become) a meaningful social
activity.
3.1 would (be) glad (see) my son (do) science.
4. There will (be) a growing tendency for scientists (occupy) themselves with
problems which affect fairly directly the lives of people.
5. There seems (to exist) a great need (develop) science.
.(cite) but a few examples, there are such problems as urban development,
education and the prevention of war.
7.1 don’t deny (say) that.
8. Having suggested the scheme myself I now feel committed (try) (make) it work.
9. She was allowed (renew) her student visa.
0. They appreciate (have) this information.

o)

1

Exercise 6. Make sentences from the notes. Use either the to-infinitive or the -ing
form.

Model: always /complicated / the / was / solve / a / he / first / to / problem/
He was always the first to solve a complicated problem.

. Science / be / seem / in / people / to / disappointed / some.

. Making / can / mistakes / avoid / nobody.

. Make / how / don’t / we / to / the / know / reaction / occur.

. Mentioning / one / is / worth / point / there.

. To / two / the / failed / scientists / from / return / expedition.

.Him / his / at / the / let / flootr/ supervisor / the / conference / take / scientific.
. Succeeded / a / flexible / building / we / in / system.

. To / would /ages / this /take / master / it / subject.

. Was / to / out / the / made / experiments / he / carry.

. Hours / on / the / report / for / went / writing / she.

SO0 AN N KW
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Exercise 7. Complete the second sentence so that it is as similar in meaning as
possible to the first sentence, using the word given. Do not change this
word.

1. ’m sorry but we have not accepted your application. (regret)
I...
2. I'think it would be a good idea to participate in this symposium. (suggest)
I...
3. The supervisor succeeded in persuading his postgraduate student to |(managed)
write a scientific paper.
The supervisor ...

4.1 can’t wait to get your next message. (forward)
I...
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5. The students were not allowed to look into their notes. (let)
The teachers ...

6. It looks as if this article was published many years ago. (appears)
This ...

7. One of the things I hate is people talking during the lecture. (stand)
One of the things I ....

8. The professor said that they had to make detailed observations. (insisted)

The professor ...

9. The lecturer arrived forty minutes late but they were glad they had |(worth)

waited for him.

The lecturer ...

10. The chairman made an effort to call the meeting to order but it was |(tried)
no use.

The chairman ...

Exercise 8. Write the correct form of the verbs given in brackets. Sometimes more
than one answer may be possible.

Einstein: an ordinary child

Einstein was not a remarkable child. He began 1 (take) piano lessons at the
age of six. He didn’t seem 2 (be) particularly talented. He liked 3 (day-dream)
and 4  (play). He didn’t enjoy 5 (talk) very much; in fact, he waited till he was
three before 6 (start) to talk. In spite of not 7 (have) a very exciting childhood,
Einstein later appeared 8  (have) a vivid memory of it. He remembered 9  (be)
impressed by how a compass works and by the mysterious force which made the
compass needle 10 (point) in a given direction.

Exercise 9. Choose the most suitable form.
1. Most of the scientists (invited / inviting) to the conference were (leading / led)
specialists in various branches of radioengineering.
2. Experiment is a test (carried out / being carried out) to gain new knowledge.
3. The number of electronic computers (used / having been used) in any (given /
giving) field of human activity is an indication of the degree of its modernity.
4. When (giving / given) advice to others, think whether you would follow it
yourself.
5. She avoided (expressing / to express) her opinion in public.
6. Before (discussing / to discuss) the method it is necessary (getting / to get) some
additional information.
7. They succeeded (in solving / to solve) the two problems.
8. They suggested (performing / to perform) an experiment (proving / to prove) their
point.
9. There are two approaches to the solution of the problem, one (being / to be) used
in analytical investigations, the other in simulation.
10. The change in velocity resulted from the force (acting / to act) from outside.
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Exercise 10. Use the required form of verbals.

1. The success of any research depends largely on (define) precisely its objective.

2. It is sometimes very difficult (make) people (see) your point.
3. By (realize) the threat to our environment we have made the first step to its

preservation.
4. Unfortunately the advantage of (join ) efforts for a complicated job is not always

understood.

5. The scientist (recognize) a problem does the first step to its solution.

6. Nobody can avoid people’s (discuss) their mistakes.

7. These advanced concepts have been immediately applied to practice, (give) rise to

a new branch of technology.

8. Research is searching without (know) what you are going to find.

9. We have overcome the difficulties by directly (consider) all the strategies.
10. The human race can continue (benefit) from science for centuries to come.
11.1t’s no use (try) (interrupt) him. You’ll have (wait) till he stops (talk).

PA3JEJI 6. IPUYACTHE
(PARTICIPLE)
DopMbI IPUYACTHSH
Voice Active Passive
Tenses
Present doing being done | BeIpaXkaeT AENCTBHUE, IPOUCXOIALICE
Participle OJHOBPEMEHHO C JIEUCTBUEM, BBIPAKEHHBIM
(Participle I) CKa3yCMbIM
Perfect having done | having been | BeIpakaeT nelcTBHe, MPEAIIECTBOBABIICE
Participle done JNEUCTBHIO, BBIPAXKCHHOMY CKa3yEeMbIM
Past - done BBIPAXKAET JICMCTBUE, POUCXOIAIIEE
participle OJIHOBPEMEHHO C IEMCTBUEM, BBIPA)KECHHBIM
(Participle 1) CKa3yeMbIM, PAHBIIIC HJIH MO3XKE ITOTO

JIENCTBUSA
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DYyHKIUN IPUYACTUSA

HACTOAIIEr0 BPpEMECHHU H

NpUYIacTUA MPpOIICAIIEro BpEMEHH

Present Participle

Past Participle

B pynkuun

onpeacJacHust

Present Participle Active nepeBonutcs
MIPUYACTUEM JAECHUCTBUTEIBHOTO 3aJI0TA €
cybbukcamu -yuy, -roud, -auy, -au, -6ul, -l
WM OTIPE/ICTTUTEIBHBIM MTPHIATOYHBIM
npeioxkeHueM. MoxXeT CTOSITh epej
OTPEJIeNIIEMbIM CJIOBOM MJIH MOCJE HETO.

Past Participle nepeBoUTCS MPUYACTHEM
CTpaJaTeabHOTO 3a1o0ra ¢ cypduxcamu-
OKOHYAHUSIMHU -HHbLIL, -eMbLIl, ~-UMbLU, -WIUTICA,
-euiuiica. MoXeT CTOSITh TIepe1 ONpeIeIIIeMbIM
CJIOBOM HJIM TIOCJI€ HETO.

a) mepe onpen

CIIACMBIM CJIOBOM

Confflicting reports have been published. —
beimn onmyGnkoBaHbl npomueopeuawiue opyz
opyz2y cooOIeHus (UIIU: Komopble
npomueopeuam opyz opyzy).

The perfomed work showed good results. —
Ilposeoennan paboTa nana XOpoIIue Pe3yabTaThl.

b) noce onpenenseMoro cioBa

A number of animals living in the soil feed on
plants. — Llenblil psiz 5KUBOTHBIX, HCUBYUAUX 6
3emne (WINA: KOmopble Jcugym 6 3emie),
MUTAIOTCS PACTEHUSIMU.

Present Participle Passive nepeBoauTcs
MIPUYACTUEM CTPAJATEIBHOTO 3aJI0Ta C
cypbuKcaMu-OKOHYAHUSIMU -UgUUCA, -6UIUTICA,
-Mblil WY OTIPEAETUTENbHBIM IPUAATOYHBIM
MIPEI0KEHUEM:

The plant being built in our district will
produce radio sets. — 3aBoJ1, cTposIIIUIicA
(KOTOpBIii CTPOUTCH celluac) B HallleM palioHe,
OyZeT BbIITyCKaTh paAMONPUEMHHUKH.

The experiment done in our laboratory was a
failure. — DxciepumMenT, nposedennwiit (Vnu:
Komopblii 0bL1 npoéedex) B Halllel 1abopaTopuu,
OKa3aJIcsl HeY/TagHbIM.

B ¢pynkuuu o

OCTOATEILCTBA

Present Participle Active nepeBoanuTcs
neenpuyactueM ¢ cyhduxcamiu -a, -1, -ae, -ue
WA 00CTOSATEIbCTBEHHBIM ITPHIaTOYHBIM
MIPEUIOKEHUEM.

Past Participle ctout B Hauaje WA B KOHIIE
TIPEUI0OKEHUS (€CITH OKa3bIBACTCS B CePEeIUHE, TO
BBIJICIISICTCS 3aIIATHIMK) U MOYKET BBOJIUTHCS
cotozamu when ‘kozoa’, if ‘ecau’, as ‘kax’,
though ‘xoms’, unless ‘ecnu ... ne’ v until ‘noka
... HE’, once ‘pa3 yic’, ‘KaKk moavko’ v 1p.
[TepeBouTCs, KaK IPABUIIO, TPHIATOTHBIM
00CTOSITETLCTBEHHBIM ITPEITIOKEHUEM, a HHOTIA —
npu~+CyIECTBUTEIILHOE.

(When) reading books I make notes. — Yumas
(Wnn: Kecoa s yumaro) KHUTY, s J1eJar0
MTOMETKH.

Written in pencil the article was difficult to
read. — Tak Kak cTaTbsl Obl1a HANUCAHA
KapaHJalioM, €e TpyIHO ObLIO UMTATh.

This universal motor was adopted (as) being
more economical. — 3TOT yHUBepcalnbHbIN
MOTOP OBUT IPUHSAT, MAK KAK OH AGNAEMCA
00J1e€ YKOHOMUYHBIM.

Once said a word cannot be unsaid. — Pa3 yxc
CIIOBO CKA3aHO, €TO HEIlb3sl BEPHYTh Ha3al (He
CKa3athb).

Present Participle Active c coro3amu when
Ko020a v while ¢ mo épema Kak NepPeBOIUTCS:

Most of the liquid ethers decompose slowly if
kept at room temperature. —

a) JeenpuyacTiemM (WiK J1eenpuyacTHbIM

BonbmuHCTBO KUAKKUX 2PUPOB pasziaraeTcs
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000pOTOM); TIPH 3TOM COIO3 OITYCKAETCS;

0) MpUIATOUYHBIM MPEAJIOKEHUEM C COI03aMU
Ko020a, 6 mo pemsa Kak;

B) Hpu-+CyIECTBUTEIBHOE.

When combining chemically hydrogen and
oxygen form water. — Bcmynaa B XUMHUYECKYIO
peaxiuio, BOAOPOI U KUCIOPO 00pa3yroT BO1Y.
(Kozoa 6000poo u kucnopoo ecmynarom 6
XUMUUeCcKyr peaxkyuro, OHu 00pa3yroT BOJY.)

MEJUICHHO, eCc/1d XPAHAMmCsl P KOMHATHON
TeMIepaType.

Present Participle Passive nepeBoauTcs
00CTOSTEIILCTBEHHBIM TPEIII0KECHUEM BPEMEHH
WA TIPUYHHEI (PEeKe IPUIACTHBIM 000POTOM CO
CJIOBOM Oydyuu)

Being built of coloured stone and plastics the
cinema will look fine. — Tak kax kunomeamp
cmpoumcsa 13 IBETHOTO KaMHS U IJIacTMacc,
OH OYZIeT BBITJIAJICTh OUY€Hb KPACHBO.

Perfect Participle Active nepeBoutTcs
JeerpUYacTHEM COBEPIICHHOTO BHU/IA C
cypduxcamu -ae, -ue 1 NpUAATOYHBIM
MIPEUIOKEHUEM.

Having repaired the engine the mechanic
showed it to the engineer. — Ompemonmuposas
MOTOp, MEXaHHK MTOKa3ai ero nwxkeHepy. Mau:
Ilocne mozo kak MexaHVK OTPEMOHTHPOBAI
MOTOD, OH ... .

Perfect Participle Passive niepeBoautcs
MPUIATOYHBIM MTPEUIOKEHUEM C COI03aMH MaK
KaK, nocjie mozo KakK, Ko2oa.

Having been repaired the engine began
operating better. — Ilocne mozo kak momop
ObL1 OMpemMoHmupoean, oH cTan paboTarb
JydIIe.

B ¢pyHKIMH YacTH CKa3yeMoro

Present Participle Active BO BpeMeHaXx I'pYIIIIbI
Continuous u Perfect Continuous nepeBoaurcs
TJIaroJIoM B TUYHOM popme

Past Participle siBrisieTcs 4acTblO CKa3yeMoOro B
CTpa/IaTeIbHOM 3aJIOT€ W BO BPEMEHAX I'PYIIITBI
Perfect, mepeBoiuTCs I71ar0J10M B JIMUHOM popme

We are developing a new program. — Msl
(ceitvac) paspabamoléaem HOBYIO IPOTPAMMY.

[ was asked to come. — MeHst nonpocunu npuiiTu.

He has been working in the laboratory since
early morning. — OH padomaer B nabopaTopun
C paHHEeTO yTpa.

I have asked a question. — {1 3adan Bompoc.

The estimates are considered in their article. —
OTH OLICHKH PACCMAMPUBAIOMCA B VX CTATHE.

Cnoco0b1 nepesona npuyactuii I u I1

Active Passive
Present Participle using being used
BBIpAXKaeT ICUCTBHUE, B (pyHKIIMHN B (QyHKITUHU
MIPOUCXOAIICE OTHOBPEMEHHO C | 1) ompeneneHus: 1) onipenenenust:
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JEUCTBUEM, BBIPAKEHHBIM npuMeHstowull (MHOT 1A MIPUMEHSIOWULCAL,

CKa3yeMbIM -8ULUIL) MIPUMEHSGUUULCA, KOTOPBIXA
( -yw, -rtowy, -gpuy, -, -6, | npuMeHsiercs (-uquiics,
-ut) -6UIUILCA, ~-MbLIL)
2) 06CcTOSATENbCTBRA: 2) 06CcTOSATENbCTBRA:
npuMeHsis (-a, -1, -ae, -ue; Oyay4u MPUMEHEH, KOoT1a
MIPUIATOYHBIM MIPUMCHSICTCS
MPEUIOKEHUEM; TIPH +
CYIIIECTBUTEIILHOE)

Past Participle Used

BBIPKAET JICUCTBHE, B pyHKIIMN

MIPOUCXOISITIIEE OTHOBPEMEHHO C 1) onpenenenus:

JEMCTBUEM, BBIPAKEHHBIM MIPUMEHsIeMblil, IPUMEHEHHBIU
He ynoTpeoisercs N 2 Y -

CKa3yeMbIM, paHbIlI€ WIH M103%KE (-HHbLIL, -eMblil, -UMBLIL, ~MbliL,

3TOTO IEUCTBUS -uuiica, -6UIUICA)

2) o6cTosATENbCTRA: KOT' /1A

NpUMEHWI (Ipu +

CYIIECTBUTEIIBHOE)
Perfect Participle having used having been used
BEIpaXKaeT JCHCTBHE, B (DyHKIIMU OOCTOSATENBCTBA: | B QYHKIIMU OOCTOSTEILCTBA:
MPE/IIECTBOBABIIEE ICHCTBUIO, | TIPUMEHUB (-a8, -A8, -U8, - MOCIIE TOTO KaK MPUMEHWIIH,
BBIPAXKEHHOMY CKa3yEMBIM: GUIUCD) TaK KaK IPUMEHUIIH, KOT1a
MMPUMCHUIIN

Practice

Exercise 1. Complete the sentences using one of the words in the box.

interesting / interested, boring / bored, exciting / excited, exhausting / exhausted,
surprising / surprised

. He works very hard. It’s not surprising that he is always tired.

. The teacher’s explanation was . Most of the students didn’t understand it.

3.1 often visit international exhibitions. I’m particularly __ in equipment operating in
a strong electric field.

4. The lecture was . I fell asleep.

N —

5.1 asked my colleague if he wanted to participate in the annual conference but he
wasn’t. .

6. ’ve been working very hard all day and now I'm .

7. Pm starting a new research next week. I’'m quite  about it.

8. This scientist is a very __ person. He knows a lot and he’s carried out lots of
different experiments.

Exercise 2. Use participles given in brackets as predicative.

(Demanding, disappointing, astonishing, irritating, annoying, disgusting,
appalling, exciting, rewarding).

Translate the sentences into Russian.

1. The voice of the chief engineer was  and as always .
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2. The effect of the researcher’s words was .

3. Can’t you fix that dripping tap? It’s getting on my nerves — it’s really .

4. Environmentalists think that the destruction of the rainforests is .

5. People who drop litter are .

6. People who like computer games are really .

7. We agree that the results of his investigation of a strong electromagnetic field are

8. Career of a scientist can be .

Exercise 3. Change the sentences using Present Participle or Past Participle
attributively.
Model: That man is a master student (he is talking to Prof. Smith).

The man talking to Prof. Smith is a master student.

. The researcher works at our laboratory. He is testing the model.

. The investigator doesn’t use a dictionary (he is reading the article).

3. The scientist lived in London for a year (he was training to be a highly qualified
specialist).

4. The students waited at their desks (they felt nervous).

5. The lecturer gave out the questions (she told the students not to open the booklet).

6. The students opened the test booklets (they looked anxiously for the easiest
questions).

7. The scientist works in our lab (she is making a speech).

8. The man is a famous scientist (he asks about the experiment).

9. The phenomena are thoroughly investigated (they occur during solar flares).

N =

Exercise 4. Use the participles given in brackets as attributes (asking, realizing,
joining, working, walking, doing, helping, standing).
1. He had left a note on the table = them to come.
2. Some problems can be solved only by the world scientists  their efforts.
3. The original idea of a discovery is often the product of one man  in a group
environment.
4. The snobs at the institute could not tolerate electrical engineers __ around with
their dirty hands and spoiling the purity of the scientific atmosphere.
. This is achieved by the lecturer  research between lectures and other duties.
. The apparatus __ on the table in the corner of the laboratory is quite new.
. The young man __ the professor in his experiment studies at the university.
. Such problems can be solved only by a scientist fully  the possible danger.

0 31 O\ D

Exercise 5. Use the participles given in brackets as attributes: (written, attended,
affected, followed, enjoyed, agreed upon, formulated, referred fto,
thought of).

1. This guide,  especially for students of English as a foreign language,
demonstrates the basic sentence patterns of contemporary English.

2. The plants by the cold produced low crops.
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. The conference __ by scientists from different countries discussed new trends and

methods in this field of research.

.One of the rights by University scientists is that of combining research with

teaching.

. The discovery __ by further experimental work stimulated research in this area.

. Mathematics, mechanics, statics and geometrical optics  as classical disciplines
started mathematical traditions in the history of natural science.

. The heads of the laboratories were asked questions _ and __ by a group of
sociologists.

. The physicists showed that particles = as “elementary” were in fact “non-
elementary”.

Exercise 6. Make one sentence from two using an -ing clause.
Model: The investigators had no experience. They couldn’t conduct the experiment.

e BN B o) RNV, I SR OS IN \O)

The investigators couldn’t conduct the experiment having no experience.

. Electronic computers perform both arithmetic and logic operations. They make it

possible to control the process under rather complicated conditions.

. Mercury (Hg) has a great specific gravity. It is used in barometers.

. My colleague participated in the scientific conference. He was awarded a diploma.

. People struggle for peace. They want to live without the danger of war.

. The researcher saw his colleague. He raised his hand to attract his attention.

. The laboratory assistant was tired. He couldn’t join us.

. The head of the laboratory was charged with an important task. He thought about it.
. Water has a high heat transfer coefficient and a high heat capacity. It is the most

efficient agent.

Exercise 7. Make sentences beginning with Having .
Model: The laboratory assistant finished her work. Then the laboratory assistant went

1.

home. — Having finished her work the laboratory assistant went home.
The researcher learnt it. Then he changed the schedule of experiments.

2. The scientists increased the rate of the reaction. Then they achieved unexpected

03N n A~

results.

. The workers finished the operation of welding. Then they began assembling

devices.

. The investigator changed the program. Then he began to perform a new operation.

. Ice was warmed to 0° (zero). Then it began to melt.

. They developed a new type of robot. Then they felt quite satisfied.

. We evaluated the data. Then we turned to their interpretation.

. We gave an indication of the methods used in this type of analysis. Then we

mentioned some of the earlier results.

Exercise 8. Make sentences beginning with -ing or not -ing. Sometimes you need to

begin with having done (something).

Model: 1 felt tired. So I went to bed early. — Feeling tired, I went to bed early.
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W

7.

8.

9.

10.

. She is a foreigner. So she needs a visa to stay in this country .
. The Curies investigated the mysterious uranium rays. — They encountered great

difficulties.

. The scientist recognizes a problem. He makes the first step to its solution.
. Becquerel had reported of his discovery of rays of unknown nature. — He excited

the curiosity of Marie Curie.

. You are students of science. — You are probably sometimes puzzled by the terms

“pure” and “applied” science.

. The scientists had used modern installations and techniques. — They succeeded in

solving a complicated engineering problem.

The physicist realized the necessity for a different approach. — He abandoned the
project.

Mathematics is independent of all observations of the outside world. — It attempts
to build logical systems based on axioms.

The present work is essentially a study of radio communication. — Nevertheless,
it does provide an overall picture of general communication behaviour.

He didn’t know the language and he had no friends. — He found it hard to get a
job.

Exercise 9. Change the sentences using Past Participle as an_adverbial modifier.

Translate the sentences into Russian.

Model: When a body is heated, it usually expands. — When heated, a body usually

1

2.

3.

4,

5.

6.
7.

8.
9.
10.

1.

expands.

. If these raw materials are properly treated, they can provide us with all necessary

substances.

Though this formula is generally criticized, yet it does describe the essential
characteristics of the process.

An electronic computer forms an impressive complex device when it is viewed
as a whole.

When these theories (hypotheses, models) are sufficiently validated, they become
the working laws or principles of science.

Though the hypothesis of the Continental Drift was first presented to scientific
community in 1912, it was not until 50 years later that it gained general curiosity.
Unless the pressure is otherwise stated, it is atmospheric.

When the biosphere is viewed as a terrestrial envelope, it obviously has
somewhat irregular shape.

A body at rest remains at rest unless it is acted upon by an external force.

Once the process is started, it is difficult to stop.

If metal, glass, paper, fabrics and the like are properly cycled, they will provide
raw materials for different industries.

If the elements are arranged according to their atomic weights, they exhibit an
evident periodicity of properties.
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Exercise 10. Use the participles given in brackets as parts of complex objects

(burning, standing, smiling at me, beating wildly, boiling, reading
“The Moon and Sixpence”, gathering, opening, whispering, playing

chess).

1.1 looked up to see my mother ...

2. He glanced up to see the door slowly ...

3. He awoke to smell something ...
4. He arrived to find me ...

5.1 came up to the stove to see the milk ...

6. One night she awakened to hear somebody ...
7. We looked into the window to see them ...

8. They turned to notice Jack ...
9. He woke up to feel his heart ...

10. We looked out of the window to see ...

Ipuuacmuotii o6opom Have + object + Past Participle (Participle II)

Ooboport 3HaveHue IIpumep IlepeBon
Have + object + Past | O3Ha4aer, 4To Ha pycckuit  s13bIK
Participle Oeiicmeue, o0opoT MOJKET
Have something done | BelpaxkxeHHOE nepegooumoca  mak
CKa3yemuim, T. €. JHce, Kak 21azon @

rJ1aroyioMm to have u
Past Participle,
COBEpIIIACT He CaMO
nuno (noonexcawiee),
a Kmo-mo 0py2oii 01
Hezo. I'aroi to have

I have had my watch
repaired.

We have the device

nepghexkmmnoii ghopme.

S nmouyumHMI  4Yackl.
(kmo-mo opyzoit
HOYUHUI  Yacvbl TIO

MOeH pochOe).
Ham yxe nouununu

MMEET 3HAUCHUE repaired. npubop (MBI 3TOTO
«BACMAagIANMb», TOOUITHCH ).
«coenamv mak,
umoo vy
Get + object + Past | 1. MoxHO I think you should gef | 1 nymato, Tebe Hamo

Participle
Get something done

YHOTPEOIATh 6Mecn o
have something done
(rmaBHBIM 00pa3zoM B
Pa3rOBOPHOM peyH).
2. B HEKOTOPBIX
CIIydasix 6Mecmo
riaroja have
UCIO0JIb3YETCsI I1aro
get B 3HAUCHUU
«0obusamuvc.

B 3TOM 3HaueHUH
MOJXKET YIOTPeOIATHCS
riiaroj make.

your hair cut.

We got the device
repaired.

You must make
yourself respected.

MTOCTPUYBCS.
Ham (Bce xKe)
nOYUHUNU npuodop

(MBI 3TOTO TOOUITUCH).

Bb1 nomkHBL  coenamp
mak (0o6umubcs
mozo), 4TOoOBl  Bac
YBaKaJIH.

Exercise 11.

1. Jill had the roof repaired yesterday.
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Where did you have your hair done?

We are having the house painted at the moment.
Tom has just had a telephone installed in his flat.
How often do you have your car serviced?

Why don’t you have that coat cleaned?

I want to have my photo taken.

Exercise 12. Use_the participles given in brackets as_parts of complex objects

OO L B~ LW —

O

(known, extended, printed, changed, heard, finished, represented,
kept, leff).

. Can we have the programme  ?

. They had the problem __ out of their research.

. Where did you get your (visiting) cards  ?

. You must make your news .

. They had the range of observations .

. I had this work  quickly.

. We had our research group  at the symposium.

. They had the discussion __ within reasonable limits.
. He couldn’t make his voice .

Exercise 13. State the forms and functions of the participles. Translate the

1
2
3
4.
5.
6.
7.
8.
9.

10.
1.

12.
13.

14.
15.

sentences into Russian.

. The amazing thing about the whole situation was that they were able to live for a

long time without water.

.Having been asked to lecture in Moscow he was unable to be present at the

meeting.

. You should have your eyes tested.

Shocked by the poverty of my own vocabulary, I went to the British Museum.

All these threatening changes in our environment are brought (about) by no one but
man himself.

Given sufficient densities, the radio wave curves and is finally reflected from the
gas layer.

Let me know what you would like done.

Having been given all the necessary information he got down to work.

A fascinating by-product of space exploration is turning science fiction into
science fact.

I don’t intend to have my professional reputation compromised.

Once brought into being by evolution from an inorganic environment, the living
matter has profoundly altered the primitive lifeless earth.

Having been sent to the wrong address the letter didn’t reach him.

Being asked when they could expect an answer he said it would take them about a
week.

They believed that they could get their candidate elected.

Having been tested in operation the new installation will be recommended for
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practical application in research laboratories.
16. Scientifically speaking, energy is the capacity of doing work.

The Objective Participial Construction
(Complex Object)
(I saw him working in the library)

OOBEeKTHBIA TAJEkK C MPUYACTHUEM COCTOUT U3 JAOMOJHEHHUSs], BHIPAKECHHOTO
CYILIECTBUTEIBLHBIM B OOIIEM Majieke WU MECTOMMEHHUEM B OOBEKTHOM MaJiexke (me,
us, you, him, her, it, them), n npuuactus L, I1.

nojJiexkamiee + ckazyeMoe + oOonoanenue + (as) Participle I, IT
(cymiecTBUTEILHOE
WU MECTOUMECHHE
me, us, you, him, her,

it, them)
rJ1aroJi- TIEPEBOIUTCS MIEPEBOIUTCS
XapaKTepUCTHKA, IO UIEXKALIM CKa3yeMbIM
Acti\‘/e/ \ /
JAI0T TJIABHOE TIPEIJIOKCHHE B ITPUIATOYHOM IPEIOKECHUN

OTOT 000pOT BHITIONHSAET (HYHKIHIO CIIOKHOTO JOMOJHEHUS U TEePEBOIUTCS
JOTIOJTHUTENbHBIM TPUAATOYHBIM MPEIJIOKEHUEM.

We disliked the problem being treated Ham He HpaBuioch, 4TO 3Ta nmpodaeMa
in this way. TPAKTOBAJIACh TAKUM 00pPa30M.

[Ipu mnepeBoje NPEeMIOKEHUS C TaKUM OOOPOTOM MEXKIY CKazyeMbIM U
JIOTIOJIHEHUEM CTaBUTCS COIO3 ¥mo WIN 4mofwsl (UHOTA Kak), NOJJIEKallee CO
CKa3yeMbIM  00pa3yloT IJIaBHOE MPEIJIOKEHHUE, JIONOJHEHHE  CTaHOBUTCS
MOJJIeKAIINM, a IMPUYaCTHE — CKa3yeMbIM NPHUJIATOYHOIO MPEJIOKEHUS, BpeMs
KOTOPOT'O - OIPENEAeTCS C Y4YeTOM BpPEMEHHU CKa3yemMoro W (opMbl HpHYACTHUSA,
HanpuMep:

We saw the engines being packed in Mpl BUsieny, KAaK MOTOPbI YIIAKOBBIBAJIU
cases. B SIIIHUKH.

[Ipu mepeBoje HalO MOMHUTBH, YTO MECTOUMEHHE (me, us, you, him, her, it
them), KOTOPOE CTAaHOBUTCS IMOJJICKAIIUM MPUIATOYHOTO MPEIJIOKEHUS, B PYCCKOM
SI3bIKE COOTBETCTBYET MECTOMMEHHUIO B UMEHUTEILHOM MajexKe (4, Mbl, 6bl, OH, OHA,
OHO, OHU), HATIPUMED:
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We saw him looking for something in Mpl Buaenu, Kak OH HCKaJl YTO-TO B
the laboratory. nabopaTopuu.

Corw3 as (ecnmu oH crout mnepen mpudactueM | wmm II) momken momoub
O0OHapyXUTb 000POT, HO MPU MEPEBOJIE OMYCKAETCS, HATPUMED:

They thought the reactions as being of Onu cuutanu, 4ro peakuus Obljia MEPBOro
the first order. nopsiKa.

3TOT 060POT B OCHOBHOM YHOTPEOIISIETCS B CIEIYIONINX CIydasiX:
1. Tlocne riarojioB, BBIPAXKAIOIIMX YYBCTBEHHOE BOCIIPUSTUE: 10 See BUACTH, f0
watch HaOmonath, fo hear cnbliath, fo feel 4yBCcTBOBaTH, fo find HaXOIUTh,
OoOHapyXUBaTh, f0 notice 3aMevaTh.

I saw the cases opened and samples f 6uder, xkak BCKpBUIM SIIUKH U B3sJIU
drawn. 00pa3sIisl.

2. [locne rnarojioB yMCTBEHHOM NEATEIbHOCTH, MHEHUS, CYXICHUS: fo assume, to
consider cuutathb, pacCMaTpuBaTh, to0 understand nionumarh, to discover HaXOIUTh,
y3HaBaTh, f0 imagine BOOOpaxaTh, IPEJICTABIATH ceOE U JIp.

We consider matter as being built up of Mubl cuumaem, 4To MaTepus COCTOUT W3
atoms. aTOMOB.

3. Ilocne rnarojioB, BhIpAXKAIOIIUX KEJIAHUE: f0 want XOTEThb, to wish xenatb, to
desire xxenatb u Jp.

He wants the work done immediately. = On xouem, uToOBI paboTa ObUIa ceraHa

HEMEJICHHO.
The manager wishes the cases counted 3aBenyrouuii orceraem, 4YTOOBI SITUKH
and weighed. OBLIA COCYUTAHBI U B3BEIIICHBI.

4. Tlocne rnarona fo have B 3HAaUEHUH «3aCTABISITh, «CAENATh TaK, YTOOBI», U IJ1aroJya
1o get B 3HAUCHUU «J100UBATHLCSY.

We have the equipment installed. Hawm yxe ycmanosunu o6opynoBaHue.
We got the equipment installed. Hawm (Bc€ xe) ycmanosunu 000py10BaHHE
(MBI 3TOTO TOOUBAJIUCH ).

The Subjective Participial Construction
(Complex Subject)

HpeIIJIO)KCHI/IC C TaKuM O60pOTOM HMCECT CJICJIYIOI_HI/Iﬁ MopsAa0K CJIOB:

nojJiexaiee + ckazyemoe (in Passive) + (as) Present Participle (Participle I), Past
Participle (Participle II).

83



omnexkamee + ckazyemoe + (as) Participle I, 11

They were vy Sseen leaving

IJ1aroJi-XapakTeprucTuKa, 0ObIYHO
Passive, BEIHOCUTCS Briepes], 00pas3yeT

TIAaBHOC MMPCAJIOKCHUC

\

OO0pa3yroT NpuaaTOYHOE PEITI0KEHNE

O6opor «momiexaiiee c mnpudactuem» (Complex Subject) B pycckom
nepeBojie 00pa3yeT NPUAATOYHOE TONOJHUTEIBHOE MPEIIIOKEHHUE.

They were seen leaving the station. Bunenu, kak onu yxoouau co CTaHIIVN.

[Ipn mepeBoje TpEIIOKEHUS C TaKUM OOOpPOTOM CKa3yeMO€ BBIHOCHTCS
Briepel U odopmisiercss Kak IVIaBHOE  (OOBIYHO - HEOMPEEICHHO-TUYHOE)
MIPEIOKCHHE; TIOJJIC)KAIEe aHTIIMICKOTO TPEIJIOKCHHASI CTAHOBHUTCS TOJIJICKAIIIAM,
a TpUYACTHE —  CKa3yeMbIM TIPUIATOYHOTO HPEIIOKCHHSI, KOTOPOE BBOJIUTCS
COI03aMU umo, 4moosl U MHOTJA Kak (CJIOBO das, €CIIH OHO €CTh B aHIJIUHCKOM
MPEIIOKCHAH, HE TEePeBOAUTCH). A TaKKe BO3MOXKEH TIEpPEBOJ IMPOCTHIM
MPEJIOKCHHEM C BBOJHBIMH CJIOBaMU KaK U36eCMHO, éepoamno W T.1. llpwm
MEPEBOJIC MPUYACTHUS TJIAar0JIOM-CKa3yeMbIM IPUIATOYHOTO TPEIJIOKCHHS BPEMS €TI0
OTIpECISICTCS C YIETOM BPEMEHHU CKa3yeMoro U (GOpMbl IPHYACTHUS, HAIPUMED:

These elements are mentioned as having VYnomunaemcs, 49to mu Inemenmut

been found twenty years ago. Obllu OMKpPLIMBL ABANATH JIET HA3a/I.
Omu Inemenmul, Kax YNOMUHAEMCA,
OblLIU OMKpPBIMBL TBAATH JIET Ha3a/.

This phenomenon is postulated as having Iloctynupyetcs, umo 3mo se1eHue

arisen from excessive heating. 603HUKN0 B PE3yJIbTaT€ YPE3MEPHOTO
HarpeBaHusl.

The class of regulators can be thought of MoxHo cuutath, umo 3Imom Knacc

as composed of three parts. PETYIATOPOB COCMOUMm U3 TPEX YacTeH.

B MMpCHIIOKCHUAX C 060p0TOM «rmomjrckamee € HIpu4aCTucM» JIMIO (I/IJII/I
HpCIIMeT), COoBCpIIaromee I[CﬁCTBHC, 0003HaYEHHOE CKa3yCMbIM, nin HC
YIIOMHHACTCA (3Ha‘{I/IT, 9TO HC UMCCT 3Ha‘{CHI/I$I), HJIX BBOOUTCA MPCAJIOTOM by II0CJIC
CKa3zycMoro. B sTtom ClIydac CymCCTBHUTCIIBHOC, BBOJAUMOC IIPCIJIOTOM by, CICaycCT
BBIHCCTHU B I'JIaBHOC IPCAIJIOKCHUC BMCCTC CO CKa3yCMbIM U, CCJIIM BO3MOJKHO, CACIIATh
MMoJJIC)KaIlM, HaAIIpuMep:

The problem was recognized by many Mmnozue yuenvlie npusnanu, 4YTO ITa
scientists as being of great importance.  mpo6yieMa UMEET OrPOMHOE 3HAUYCHUE.
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O6opoT «moaJIekKaIiee C MPUYACTHEMY YIOTPEOJSIETCS €O  CICAYIONUMHU

rylarojaMyd B CTpaJlaTelIbHOM 3aliore: fo See BUJCTh, to hear cnwiiath, to feel
4yBCTBOBaTh, fo watch HaOmonaTh, to find waxonuth, OOHApYXHUBaTh, fo leave
OCTaBJIATh, IOKUJATh, 10 nOtice 3aMeUaTh, fo report cooO1IaTh, to show TOKa3bIBaTh,
to catch noBUTH, MOWMATh U HEKOTOPBIMH JAPYTHUMU TJIarOJaMHu.
PaccmaTpuBaemblii 000pOT CO CJIIOBOM as YIOTPEOJISIETCS ¢ TiarojaMu to accept
MIpUHUMATh, fo consider paccMaTpuBaTh, CUYUTaTh, t0 explain OOBSACHITH, t0
guarantee TapaHTUPOBATH, f0 mention yIOMUHATh, to regard paclleHUBATh, CUUTATh,
to speak of ynomuHaTh, KacaTbcs, fo think of cuurtath, to treat oOpamatbcs,
paccMaTpuBaTh, to understand TOHUMATh U C HEKOTOPBIMH JAPYTHUMU TJIarOJaMHu.

The Nominative Absolute Participial Construction

O6oport DyHKIWMSA ITpumep ITepeson
CamocmoamenvHulil [lepeBonuTcs
npuuacmmuulii 060pom npuUOaAmMoOYHbIM
COCTOMUT: obcmoamenscmeen-
HbIM npeodiodice-
CyuiecTBUTEIBbHOE Huem; 1P STOM
npuuacmue
0e3 mpeaJiora npUYaACTHE 0 (SaHHTaH) AL IHCKOTO
(wmu mectoumenue  + Partitiple 1 obopoTa
B MMCHUTCJIBHOM TIEPEBOAUTCA JIUUHOU
nanexe I, he, they ...) ¢dopmoi 2nazona,
. . 9 (3ariTas) T. €. CKA3yemvim
something + doing
MPUIATOYHOTO
(I, he, they ...) MIPEAJIOKEHUS B TOM
epemenu, 6
KOMOpOM BBIPAKEHO
cKazyemoe
AH2UIICKO20
npeonodceHus.
CamocrosTenbHbIi 000pOT CamMocTosATeTbHBIN
UMEET ceoe cobcmeenHoe, MPUYACTHBIN
camocmoamenvHoe 00OpOT yale BCEro
nooaexcauiee (0TCr01a U evipasicaem epems,
Ha3BaHUE) U gcez20a npuuuny, yciosue
omaoensaemca 3anaAmoi WIn
(MHOT 12 TUPE UM CKOOKaMu). | conymcmeyoujue
oocmoamenscmea.
B ¢ynkmun Ilepesooumca
oocmoamenscmea npuoOamouHbvIM
npuuuHLl, o6cmosamenvcmeeH-
epemenu, ycioeus HbIM npeonodce-
000pOT CTOUT 6 Huem, KOTOpoe
Hauane BBOJIUTCSI COIO3aMHU
npeonoicenus. Max KaK, NOCKObKY,
Kozoa, nocjie mozo
KaK, Xxoms, eciu 1 Jip.
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a) B dyakumm

The book being

Iockonvky 3ma

oocmoamenscmea | written in simple | kHuca nanucana
npUYUHBL English, it is npocmoim
suitable for AHTUICKUM
beginners. A3bIKOM, OHA XOPOIlIa
JUTS. HAYMHAFOIIIHX.
The professor Tak kax npogheccop
being ill, the Ovl1 Dos1en, TEKIUIO
lecture was put OTJIOKHITH.
off. Perfect Participle
ecezoa nepeeooumcs
npoweomum
epemenem.
The storm having | Tak kak ypazan
ruined their paspymiui ux oom,
house, they had MM TIPUIIIOCH €T0
to repair it. PEMOHTUPOBATb.
0) B dbysakiun The experiment | Ilocne mozo kak
oocmoamenvcmea | having been onvim ovL1
eépemenu carried out, we npoeeoeH, Mbl
had a short rest. HEMHOTO OTAOXHYJIH.
B) B dynKIIMN Circumstances Ecnu
oocmoamenvcmea | permitting, we obocmoamensvcmea
ycnoeus shall start Nn0360J151m, MBI
tomorrow. IIOE€IEM 3aBTpa.
B pynkuun [IepeBoautcs
COnymcmeyouux CamMocmoamenbHbvim
obcmoamenvcme MIPEUIOKECHUEM C
000pOT CTOUT 6 COYMHUTEIIbHBIMU

KOHUe

COI03aMH 4, Ho, U,

npeonoHceHu. npuuem v oe3
con3sa.
The students were | CTyneHTsI ucanu
writing a test, KOHTPOJIHHYIO
each doing their | paboty, npuuem
own variant. Kaxcowlil 6bINOIHAN
C6OIl sapuanm.
CamocTosATenbHbIN Ob6oport [lepeBouTCS TOUHO
MPUYACTHBI 00OPOT Mod#cem | paBHO3HAYCH TaK Xe, KaK 1
6600umuvca  npeonozom with | abCoTIOTHBIM He3asucumblil
unu  without, KOTOpPBIII HE | MPUYACTHBIM npuYacmHL
MIEPEBOIUTCSL. oboporawm, obopom ¢ nauane
BBIPKAIOITUM npeonoicenus.
With + cymectBuTenpHbBIe + | COIYTCTBYIOLINE
npuuacmue, (3ansras) 00CTOATENBCTBA
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B ¢ynkun

With research

Ilo mepe mozo kak

With something doing HPUYUHBI CTOUT 6 involving more HayuHoe
Hauane and more people, | uccneoosanue
(3amsTas MOXET | HPed10XHCeHUs. the profession of | mpedyem yuacmusn
OTCYTCTBOBATb) a scientist has 6ce Donbuiezo uucna
become one of the | 1r00eit, npodeccus
most popular YYEHOTO CTAaHOBHUTCS
nowadays. OJIHOU W3 CaMBbIX
MOMYJISIPHBIX B HAaITH
JTHH.
B ¢ynkmun Mathematization | MaTtemaru3amus
conymcmeyromux | of science is HayK{ HaOII01aeTCs
oocmoamenvcme witnessed in BO BCEX 00JIaCTAX, U
000pOT CTOUT 6 almost all cneyuaniucmol 6
KOHUe branches, with obnacmu
npeonodceHus. specialists in 2YMAHUM APHBLX
humanities HAyK cheuiam
hurriedly joining | éxnrouumascs ¢
the process. Imom npoyecc.
CamMocTosATeTbHBII Haubonee
MPUYACTHBIA O00OPOT MOJXKET | XapaKTepHOe
yHOTPEOIATHCA 0e3 | 3paueHIe —
npuuacmus onucanue
6HewHOCmU,
noeeoenus uau
6HYmMpEHHe20
cocmoanua auyd,
0003HAYEHH020
(IpeAcTaBIEHHOTO)
noonexcawium.
1) ¢ nmpemiorom with B dynxun [TepeBoauTcs
With something ... ,(3aniTasl) | COMYTCTBYIOIIHX CaMOCTOSITEJIbHBIM
00CTOAITEILCTB npeaioKeHueM WiIn
CTOHT B KOHIIE AeenpuYaCTHBIM
MIPEAJIOKEHUS. odoporTom.
I found him ready | On ObuI TOTOB U
and waiting for 0KHJIaJl MEHS, 8 pyKe
me, with his stick | y nezo 6vi1a nanka.
in his hand.
2) 6e3 npensora (otaensercs | B dyHkiumn Crout ¢ nauane
3aIsTOM) oocmoamenvcmea npeonosicenus,
epemenu MIEPEBOIUTCS
NPUIATOYHBIM
00CTOATEJILCTBEH-
HBIM MpeIosKe-
HHEM BpeMeHH.
Breakfast  over, | Kozoa konuunu

he went to his
office.

3aempakamas, OH
yILIEN B CBOM
KaOWHET.
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B ¢ynkun
CONYymCmEyIouux
oocmosamenvcme

He went home
alone, his heart
full of strange
emotions.

[IepeBoaurcs
CamMOCmOoAmenIbHbIM
npeonodcenuem,
oeenpuyacmHsim
000pomom M
cyusecmeumeibHbm
(MecToumMeHueMm) ¢
npeoozom «cn.

OH oTnpaBuics
JIOMOM OJWH, Oyuia
ezo ovina
nepenoainena
CMPAHHBIMU
yyecmeamu.

CamMocTosATenbHBII
[IPUYACTHBIA 000POT
CylIecTBHTeIbHOe+
Particple 11,
something done,

BCTPEUACTCA PEAKO

B ¢ynxmun
oocmosmenvscmea
eépemeHu

The work
finished, we went
home.

[TepeBoauTcs
npUOAmM OYHHIM
obcmosamenscmeen-
HbIM npeodiodice-
Huem.

Koraa padora 0b11a
3aKOHYeHa, Mbl
YL JOMOM.

CamocTosTenbHbI 000pOT
MOJKET YIOTPEOIATHCS:

a) c obopotom There is
There + being +
cyuwiecmeumenvHoe
(mpunararenbHOE),

0) ¢ popmaTbHBIM
nouIekanmmMm It
It + being ...,

B ¢ynkmun
oocmosamenvcmea
HpUYUHBL

There being no
trams at that
hour, we had to
walk.

It being very cold,
I decided to stay
at home.

IlepeBouTcs TOUHO
TaK Xe, KaK u
He3asucuMmblil
npuyacmmwli
00opom 6 Hauane
UJIU 6 KOHYe
npeoIodceHus.

Tak kax ¢ amo
eépemsa mpameau He
xoounu, HaM
MIPUIILIOCH UIITH
IEIITKOM.

Tak kax 61710 oueHw
X07100HO, 51 PELINI
0OCTaThCd A0Ma.

Exercise 1. Study the form and the translation of the Absolute Participial
Construction.
1. The day being warm, we opened the window. Tak kak JeHb ObUI TEIUIBIM, MBI
OTKPBUIH OKHO.
2. She began to speak, with her voice trembling. Ona Hayana roBoputh, €€ rojoc
ApOKad.
3. We were waiting for him, with his bags in our hands. Msl ero oxuganu, B pykax
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y Hac ObUIN €ro CYMKH.

4. He listened to her, standing at the fireplace, head bowed, motionless. On ciyman
ee, CTOsl Y KaMHHa HEeTIOJBU)KHO, CKIIOHUB TOJIOBY.

5. The notes being written in German, we couldn’t understand them. Tak kak
3anmucH ObUTH CJIeJIaHbl HA HEMEIIKOM SI3bIKE, MbI HE MOTJIA WX IOHSTh.

6. Newton discovered the laws of motion, these laws being the basis of practical
mechanics. HpIOTOH OTKpPBUT 3aKOHBI ABHIKEHUS, U 3TU 3aKOHBI JIETJIH B OCHOBY
MPAKTUICCKON MEXaHHKHU.

7. The experiment over, we left the laboratory. Korna sxcrniepumeHT ObLT 3aKOHYEH,
MBI YIILJIK U3 JIaOOpaTOpUM.

8. A knock had come to the door, and there being nobody to answer it, my mother
went out. [TocnbImancs CTyK B IBEpb, U, TaK Kak O0JIbIIIe HEKOMY ObUIO OTKPHITH,
BBIIIIJIA MOSI MaMa.

9.The duty completed, he had three mouths’ leave. Korma sta pabGora Oblia
3aKOHYCHA, OH MOJYYHJI TPEXMECSUHBIA OTITYCK.

10. The question being very difficult, no one could answer it. Tak kak Bompoc ObLI
OYEHb TPYJIHBIM, HUIKTO HE CMOT Ha HETO OTBETUTb.

11. All the other factors being equal, the video channel occupied by a three-colour
television system must be three times as wide as that required for an equivalent
black-and-white system. Ilpu npouyux paBHBIX YCJIOBHUSX BHJICOKAHAN s
TPEXIBETHOW TEJIIEBU3MOHHOW CUCTEMBI JIOJDKEH OBITh B TPU pasa IIHpe, YeM
KaHaJl, HEOOXOIUMBIN JIJI1 COOTBETCTBYIOIIEH YePHO-0€I0i CUCTEMBI.

12. Solid particles are injected into lower atmosphere from a number of sources, with
combustion of fossil fuels making a major contribution. [ImoTHBIE YacTHIIbI
BHOCSITCS B HIDKHHE CJIOHW. aTMOochephl M3 pPa3HbIX HCTOYHHUKOB, NPUYEM
CTOpaHHe UCKOTAEMOT0 TOIJINBA COCTABISIET 3HAUUTENBbHYIO (OOIBIIYIO) TOJTIO.

Exercise 2. In the following sentences find the Absolute Participial Construction.
Identify the subject of the construction and translate the sentences
into Russian.

1. Numerous -experiments having been carried out at the orbital station, it became
possible to develop new methods of industrial production of new materials.

2. The first steam engine built in the 17-th century, people began to use them in
factories.

3. The inventor was demonstrating his new device, with the workers watching its
operation attentively.

4. Many substances are semiconductors, germanium and silicon being the most

important of them.

. Transistors are very sensitive to light, some of them reacting even to starlight.

. The cell being charged, a certain quantity of electricity is passed through it.

7. Marie Curie used deductive reasoning in order to proceed with her research, this

kind of “detective work” being basic to the methodology of science.

8. Fundamental and applied sciences are commonly distinguished, the former being

concerned with fundamental laws of nature, the latter engaged in application of

AN D
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the knowledge obtained.

9. Some scientists do not distinguish between pure and applied mathematics, the

distinction being, in fact, of recent origin.

10. Nanomaterials are typically between 0.1 and 100 nanometers (nm) in size — with

1 nm being equivalent to one billionth of a metre.

12. At different stages of research the scientist would be interested in different

9.9

questions, the “how’s” and “why’s” being most difficult to find answers to.

Exercise 3. Paraphrase the sentences using the Absolute Participial Construction.
Model: When the experiment had been carried out they started new investigations.

1.

The experiment having been carried out, they started new investigations.
When the work had been completed, they had a rest.

2. After the true size of the Earth and the true distance to the Moon had been

9.

10.

calculated, Newton solved the problem of universal gravitation.

. When Becquerel had discovered radioactivity, scientists obtained a means of

studying and explaining the structure of the atom.

. When the boiling point has been reached, the temperature of the water cannot be

increased any more.

. After the model has been tested successfully, it can be recommended for mass

production.

. When vast masses of statistical evidence had been collected, Parkinson’s law was

deduced from a study of these ideas.

. If the positive pole has been brought near the negative pole, the latter attracts it.
. After the new method had been studied in detail, it was introduced into our

research.

When the traveled distance had been given in meters and the time in seconds,
speed was measured in m.p.s., that is, in meters per second.

After the difficulties had been overcome, we went on making further
experiments.

Exercise 4. Use the required form of the participles as parts of complex objects.

I.
2.
3.

I watched Prof. Brown  down the path toward the other men (to hurry).
He was surprised to hear such words by the chairman (to utter).
I want a short abstract  at once (to send).

4.1 heard the foreman  the worker what to do (instruct).

5.
6.
7.
8.
9.

10.

Sheleft him  everything in the laboratory (arrange).

I found the researchers  the equipment for tests (prepare).

The student listened to the lecturer  about the transistor design (speak).

The investigator has his laboratory equipment  (repair).

All electrons may have their k-values  systematically by the applied field
(change).

We often have our old devices  (service).

Exercise 5. Paraphrase the following so as to use a complex object.
Model: He was explaining the phenomenon in terms of multiple reflections. I heard
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it. I heard him explaining the phenomenon in terms of multiple reflections.

. They were discussing successful results of the experiments. I heard it.

. The first series of experiments were completed. We found it.

. She was speaking on the subject of high radiation intensity. We heard it.

. They were doing the experiment. He watched it.

. The new technological processes were greatly changed. He found it.

. Listen, our new device is making so much noise. Can you hear?

. The lecturer was describing Rutherford’s theory. We heard it.

. The methods of measurements differed greatly from the old ones. He found it.

01N DNk~ WLWIN -

Exercise 6. Reorder these jumbled sentences to make sense.
1. He, did, have, his, device, tested?
2. Has, Tommy, his, experiment, by, done, his, assistant.
3. He, having, is, typed, the, report, his, secretary, by.
4. Tony, the, unit, had, fixed.
5. When, you, have, will, new, your, equipment, installed?
6. Bruce, have, his, devices, may, repaired.
7. Had, I’ve, whole, report, the, rewritten.
8. Having, she’s, her, assistant, colleagues, taught, computer science.
9. Can’t, have, you, the, apparatus, repaired?

10. Should, you, have, a, installed, telephone.

Exercise 7. Match the following English sentences and the translation.

A.

. He watched the temperature gradually rising.

. We disliked the theory of relativity being treated in this way.

. We consider matter as being built of atoms.

. The laboratory head found them testing new gadgets.

. By whom did you have your apparatus installed?

. The investigator heard his name mentioned in this connection.

. We know the problem of working principles of lasers having been solved long
ago.

. We know him working at the problem of inductive logic since 1986.

. We know the researchers being invited to all our meetings.

10. They thought of the reaction as being of the first order.

NN DN R~ W=
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1. Ham He HpaBUIIOCH, UTO TEOPUSI OTHOCUTEIBLHOCTH TPAKTOBAJIACh TAKUM 00Pa30OM.

2. OH cienui (3a TeM), Kak MOCTETNIEHHO MOBBIIIATIACh TEMIIEpATypa.

.3aBenytouuii  aboparopueil 0O0HApyX U, YTO OHHM MCHBITHIBAIM HOBBIE
yCTPOMCTBA.

4. MblI cuuTaem, 4To MaTepust COCTOUT U3 aTOMOB.

5. Kto ycranoBui Tebe anmapatypy?

6. MccnenoBaTenb cibliial, Kak B CBSA3HM C 3TUM YIOMHHAJIOCH €r0 M.

7. MBI 3HaeM, 4yTo MPoOJIEMy MPUHLUIIOB PAOOTHI JIa3epOB YK€ IaBHO PEILINIIH.

W
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8. MBI 3HaeM, 4TO MCCJIEIOBATENIM MPUTJIAIIAIOTCS (MX MPUTJIAIIAIOT) Ha BCE HAIU
coOpanus.
9. MBI 3HaeM, 4yTo OH padoTaeT Haj MpoOIeMOi MHIYKTUBHOM JOTUKH ¢ 1986 T.
10. OHu cumnTany, 4YTo peakuus ObuIa MEPBOTO MOPAJIKA.

Exercise 8. Translate the following sentences into Russian.
1. We observe the experimenter testing his equipment.
2. The researcher has just had his paper published.
3. Mr. Brown watched his colleague conducting the research in the laboratory.
4. The majority of atoms have all their electrons shared.
5.1 found the chief engineer gone.
6. Bohr recognized the substance as having a condensed-ring system.
7. They have their equipment tested every month.
8. We consider each hydrogen atom as having a unit positive charge.
9. We may think of this molecule as being just like one of benzene.
10. They got the design reexamined.
11. We have the device repaired.
12. We have the program debugged.

Exercise 9. Use the required form of the participles as parts of complex subjects.
1. This phenomenon is postulated as  from excessive heating. (arise)

. The class of regulators can be thought of as = of three parts. (compose)

. The problem was recognized by many scientist as  of great importance(be).

. The plant is found  in the East Indies (grow).

. This data set should intuitively be considered as  of two clusters (consist).

. The reaction may be written as by the following mechanism (proceed).

. The results were interpreted by Arnauch as  to the formula mentioned (point).

. This method was mentioned as _ good results (afford).
9. Active centres are not to be envisaged as  fixed positions on the surface

(occupying).
10. Only those substances can be considered as  mixtures (be).

(e BN B ) RNV, I SR OS I O]

Exercise 10. Paraphrase the following so as to use a complex subject.

Model: We heard a typewriter clattering in the next room.
A typewriter was heard clattering in the next room.

1. We observed the experimenter testing his equipment.

2. We watched them completing the experiment.

3.1 heard him explaining the phenomenon in terms of multiple reflections.

4. We found the first series of experiments completed.

5. We noticed them examining a source of white light.

6. We watched the researcher testing the heated gas under very high pressure.

7. We saw them demonstrating the gadget operating.

8. We heard the investigator explaining differences and similarities between the two
phenomena.
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9. We found the researchers examining spectra-analytical method.

Exercise 11. Reorder these jumbled sentences to make sense.
1. You, packing, should, new, see, devices, them, the.
2.1, them, this, heard, problem, discussing.

3. We, definitions, all, made, found.
4.1, him, the, saw, device, checking.
5. We, finishing, the, found, them, measurement.
6. We, the, measurements, found, completed.
7. We, the, found, changed, frequency.
8. You, feel, temperature, can, the, rising.
9. You, see, can, changed, the, value.
10. We, the, could, operating, hear, machine, properly.

Exercise 12. Match the English sentences and the translation.
A.
1. Protons were observed leaving various elements.
2. Every day he could be seen working in the laboratory.
3. The lecturer was heard mentioning his name.
4. The problem of constructing heterostructure lasers is known having been solved
long ago.
5. The scientists are heard discussing this proposal thoroughly.
6. Pr. Brown was heard delivering a lecture on elementary particles.
7. Concrete parts were seen being fabricated at the works.
8. He was found measuring the substance density.
9. The monitor was seen indicating computer failure.
10. Our colleague was heard proving his new theory.

B.
1. Kaxxap1it eHb €ro-MOKHO ObLIO BUJIETH 3a paOOTOM B TaOOpaTOPHHU.
2. BBUIO CIBINTHO, KaK JICKTOP YIIOMHHAJ €T'0 M.
3. 3BecTHO, uTO Mp0o0IeMy CO3/IaHus Ja3ePOB HA TE€TEPOCTYKTYPE TaBHO PEIIHIIN.
4.Bpi0 CHBIMNHO, Kak mpodeccop bpayH duTaeT NEKIUI0O MO 3JIEMEHTApHBIM
JacTHIIAM.
5. ChBIIIHO, YTO YUYEHBIE TIIATEIHHO O0CYKIAIOT 3Ty MpodIemy.
6. O0HapYKIITH, YTO OH H3MEPSET TUIOTHOCTDH BEIECTBA.
7. BbL10 BUAHO, Kak OETOHHBIE OJIOKH M3TOTABIMBAINCH HA 3aBO/IC.
8. B0 BHJTHO, KaK MOHUTOP YKa3bIBaJI Ha COOM BBIYMCITMTEIIBHON MalTHUHBI.
9. BBUTO CHBINIHO, KaK HaIll KOJIJIEra IOKa3hIBAET CBOIO HOBYIO TEOPHIO.
10. HaGromanm, Kak IpOTOHBI BEUICTAIOT U3 PA3IUYHBIX 3JIEMEHTOB.

Exercise 13. Translate the following sentences into Russian.
1. A quadratic cost function is assumed established for the system.
2. The permanent income is often taken as having been established.
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. The problem can be thought of as being a multivariable generalization of the

classical problem.

. The engineer was seen writing a full report on the work of the commission.

. The engines were seen being carefully tested in the laboratory.

. The laboratory assistant was seen examining pulse ionization chambers.

. The researcher was found studying the phenomenon of vibration.

. The lecturer was heard discussing possibility of electronic interband transition.
. The investigator was found measuring distance-velocity dependence.

. This theory is postulated as having arisen from experimental data.

Exercise 14. Match the English sentences and the translation.

A.

NN kW -

12.

A WN —
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9.
10.
1.
12.
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. The door and the window of the vacant room being open, we looked in.

. It being now pretty late, we took our candles and went upstairs.

. There he stood, his face to the south-east — his cap in his hand.

. George rose and strolled out of the lawn, all his dogs following him.

. There being no vacant seats, I had to stand.

. The article being ready, I’ll show it to you.

. With the temperature falling rapidly and the wind getting stronger, we were not

able to carry on our research.

. The text was not difficult, many words having been learned before.
. He turned and went, we, as before, following him.

10.
11.

She sat silent and still, with her eyes fixed on the ground.

I lay idly in a big chair, talking now and then, listening; listening sometimes with
my eyes closed.

All things considered, there is little hope of their help.

. JKOpIK IOJHSICS U yILIEH C JIyXKalKu, U BCE €ro co0aKy MOoCIe10BalIN 3a HUM.

. OHa cuzena Moiya U HEMOIBUYKHO, OITyCTHB IJ1a3a B 3€MIIIO.

. Tak xak 1Bepb U OKHO MYCTON KOMHAThI ObLIIM OTKPBITHI, MbI 3aTJISIHYJIA B HEE.

. 51 cunen IeHUBO pa3BaNMBIIKCH B OOJBIIOM Kpeciie, BpeMs OT BPEMEHH BCTymMasi B

pasroBop, Cityliasi, HOPOU ciylasi C 3aKPhITHIMU TJ1a3aMHu.

. Tak kak OBLIO JOBOJILHO MMO3JHO, MbI B3SIJTU CBEYH U MOIILIN HABEPX.
. Tak kak He ObUTIO CBOOOAHBIX MECT, MHE TIPHUIILIOCH CTOSTh.
. IlpunasB BCE BO BHUMaHUE (yUUTHIBasi BCE) MbI MOHSIINA, YTO HA UX MOMOIIL Majo

HaOCKABI.

. Tak Kkak TEMIICpaTypa 6BICTp0 magajla v BCTCP YCWIMBAJICA, Mbl HC MOIJIH

MIPOBOJUTH UCCIIEIOBAHUSI.

Texct He ObUT TPYJIEH, TaK KAK MHOTHE CJIOBAa ObUTH BBIyYEHBI 3apaHee.
OH NOBEPHYJICS U BBIIIEN; KaK U MPEXKJE, MBI ITOCIEIOBAIM 32 HUM.
OH CTOsJ1 TOBEPHYBILKCH K IOT0-BOCTOKY, C IIANKON B PYKE.

Korna crates OyAeT roToBa, s MOKaxy e BaM.



Exercise 15. Make up sentences using the following phrases as Nominative
Absolute Constructions.

There being no time to lose; the concert over; it being late; with his eyes wide open;

such being the case; there being nothing else to do; with his back towards the door;

their being a severe storm at sea; without a word spoken; all things considered; it

being the weekend.

Exercise 16. Translate the following sentences into Russian.

1. Her aunt having left the room, I asked her for some personal help.

2. With the mortgage paid, they could afford to go abroad for their vacation.

3. There being no further business, the meeting was adjourned.

4. She walked on, with her eyes straight ahead.

5. It being very cold, we couldn’t go for a swim.

6. The sun having risen, they continued their way.

7. There being no other traffic, the driver can maintain a constant speed of, say, 60
km/h (kilometers per hour).

8. The pressure removed, the air springs back to its original volume.

9. When considered dynamically, the biosphere appears an arena of complex
interactions among the essential natural cycles of its major constituents, with
continuous fluxes of these constituents entering the biosphere, or being released
by it.

10. She stood with her arms folded, staring thoughtfully.

11. Then arrangements made, the apologies and thanks started over again.

12. She advanced two more strides and waited, head half turned.

13. The choice made, she ran up to him.

14. All things considered, there 1s only one way out of this confused situation.

PA3JIEJI 7. TEPYHIUI
(GERUND)

FCpYH,Z[I/Iﬁ — HCJIM4YHasA (1)OpMa rjiarojia, BbIpaKaromias JICCTBUE KaK mponecc u
06J1a11a10ma51 CBOMCTBaAMHU KakK CYIICCTBUTCIBHOI'O, TaAK M TJ1aroja:

increasing — YBEIIUYCHUE;
obtaining — MOJIyYECHHE;
heating — HarpeBaHHue.

DopMbI repyHaus

Dopma Jeiicmeumenshulit 3an02 | CmpadamenvHulil 37102
Active Voice Passive Voice
Present (Non-Perfect) writing being written
Perfect having written having been written
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Ynorpedaenue popm repyHaus

Dopma Ynompeonenue Ilpumep Ilepesoo
Present Jiia BeIpaXkeHusl AEUCTBUS, He was interested in OH uHTEepecoBacs
(Non- OJIHOBPEMEHHOTO C JielicTBUEM, |collecting rare minerals.|koinekyuonuposanuem
Perfect) BBIPQ)KCHHBIM B TIPEJIOKECHIH PEIKUX MUHEPAJIOB.

TJIar0JIOM-CKa3yeMbIM

Jlist BIpaXKeHUs IEUCTBHS, We intend of shipping |Mbl HamepeHbI

OTHOCSIIIErocs K mpouuiomy i [the goods in May. Omzpy3ums TOBAPHI B

OymyieMmy, ¥ He CBSI3aHHOTO C Mae.

KaTeropuen Bpemeny riuarona- |Loading heavy weights |Ilozpy3ka TsKenbIx

CKa3yeMoro B IIPEIJI0KECHUHI requires great skill. rpy30B Tpedyet
0OJIBIIIOTO UCKYCCTBA.

Perfect Jnst BBIpaKeHUS IEUCTBUA, I don’t remember Sl He moMHIO0, 4TOOBI S €TO

MIpeIeCTBYIOLIEro aeiicTBU0, |having seen him paHbllie guoen.

BBIPAKEHHOMY TIJIaroJjioM- before.

CKa3yeMbIM B MPEUI0KCHUN

['epynnuii 0ObIYHO MEPEBOAMUTCS HA PYCCKUI S3bIK HEONpeAeseHHON (hopmoil
rjlarojaa, UMEHEM CYIIECTBUTEIBHBIM, IEENPUYACTUEM WM TJArojioM B JIMYHOU
¢dbopme B cocTaBe MPUAATOYHOTO MPEITIOKEHUS.

DOyHKUMU TePYHAMS B NPeII0KECHUN

Dynkyuu Ipumepoi Ilepesoo
1. Hoanexamee* Defining problems precisely [Tounoe onpeodenenue
requires patience. (nocmanoexa) 3aga4d Tpedyet
TEpIICHUSI.
Learning rules without Yuume npasuna 6e3 npumepon
examples is difficult. TPYIHO.
2. IIpsiMoe nomoTHEHHE The turbulent flow of gases  [TypOyiieHTHOE TeueHue ra3oB
produces cooling. BBI3BIBACT OXAAMHCOCHUE.
3. Ipennoxuoe nonoHenune** |We thought of starting MpbI O TyMBIBAJIH O TOM, YTOOBI
another series of experiments. [Hauams e1e OJHY CEPUIO
OKCTIEPUMEHTOB.
4. Onpenenenne There are different ways of  |FImeroTcst pa3imaHbIe CIIOCOOBI
(dacto ¢ mpemnioramu of, about,  |solving this problem. paspeuienus 3Tou mpoOIEMBbI.
for, in, at) I saw no harm in asking a few |l He Bumen HUKaKoOro Bpeaa B
questions. TOM, YTOOBI 337]aTh HECKOJIBKO
BOIIPOCOB.
5. O6cToATEILCTBO After saying this he left the |Ckazae 510, OH BbIIIIEN U3
a) ¢ mpeyioramMu on(upon) — room. KOMHATHBI.
nocne, after — nocne, before —
nepeo, in — 6 mo épemsa Kak s
BBIPOKCHUS BPEMCHH
6) ¢ peuIoramu for — 3a, Excuse me for not completing|V13BuHuTE 32 TO, YTO S HE
through — uz-3a,owing to — the experiment on time. 3AKOHYUl SKCTIEPUMEHT
onazooaps, uz-3a 1Jis BHIPAKEHUS BOBPEMSL.
TIPUYHHBI
B) ¢ npeuioroM by co 3nauenuem |He improved the article by  |On ynyummuin cratsio, uzmenus
nymem, npu ROMoOWU JJis changing the end. OKOHYaHHE.
BbIpa)KeHUs oOpa3a AelCTBUS
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r) ¢ npeioramu besides - kpome,
instead of — emecmo, without —
oe3, apart from - nomumo s
BBIPAKCHHUS COITyTCTBYIOLTNX
00CTOSITENILCTB

Besides being clever, he is
very industrious.

Kpowme Toro, uro oH ymeH, oH
OYEHb TPYIOTIOOMB.

1) C TPYIIIIOBBIMH TMIpEIOTamMu for
the purpose of/ with the object of/
with a view to — c uenvio, 011
mMo20 umoobl NI BEIPAKEHUS
()51

negotiations.

A Russian delegation arrived
in Minsk with the object of
conducting trade

B Munck npubsina pycckas
Jenerauust Uisl e0enus
TOPrOBBIX TIEPETOBOPOB.

€) ¢ mpemyioramMu without — oe3, in
case of/ in the event of — ¢ ciyuae

ecnu, subject to — npu ycnoeuu
JUTS. BRIPDOKEHUS YCIIOBHS

This offer is made subject to
receiving your confirmation
within 10 days.

OT0 npeIoKeHNUe CAeNIaHo pU
YCIIOBUH HOJIyYeHUsA BAIIETO
NOATBEpKieHus B TeueHue 10
JHEH.

6. UMenHast 4YacTh COCTABHOI'O

CKa3yeMoro way.

car.

He is against doing it this

His hobby is driving a sports

OH IpOTHB TOTO, YTOOBI
0elams 3T0 TaKUM 00pazoM.
Ero xo60u — osrcoenue
CIIOPTUBHOW MallIMHBI.

7. YacTh COCTABHOIO

J1aroJibHOro CKasyemMoro document.

He finished writing a business

OH 3aKOHYMII Rucamp EI0BOI
JOKYMEHT.

*Kak mnpaBuio, repyHaud B (QYHKIUMU MOMJICKAIIETO CTOMT B Hayale
npemnokeHus. OTHaKO OH MOKET TakKe CTOSATH II0CIIE CKazyemoro. B 3ToM ciydae

nepea CKazyCMbIM CTOUT MCCTOMMCHHUC

it WM KOHCTpyKuUMsi there is. Taxoe

ynoTpebJieHrne repyHIusl YaCTO BCTPEUYAETCS [TOCIHE BbIpaXXEeHU: it is (of) no use, it is
useless, it is (no) good, it is (not) worth, there is no point in.

**B (QyHKIMU TPEAJIOKHOTO JOTOITHEHUS] TePyHIUN YIOTpeOJsIeTCsl Mmocie
MHOTHX TJIarojioB, TpWiaratelbHbIX W MPUYACTUM, TPeOYIOLUUX OIpeaesIeHHbIX

npcaJioros:

to accuse of OOBUHATH B

to agree fo coriamartbCs
to approve of o100pATH

1o assist in IPUHAMATH Yy4acTHUE B

to blame for Bo3iiarath BUHY, OOBUHSTD B
to complain of xxanoBaTtbcsa Ha

to congratulate smb. on no31paBIATh C

to consist in(of) 3aKI04aTHCS B, COCTOSITH
u3

to count on pacCUUTBHIBATh Ha

to depend on(upon) 3aBUCETH OT

to feel like ObITH CKJIOHHBIM, XOTETh

to give up O0TKa3aTbCs

to look forward to
HeTepIeHUEeM

to look like BuITIA1€TH KaK, MOXOAUTH HA
to miss an (the) opportunity of ynyctutb
BO3MOKHOCTb

to object to Bo3paxxatb IpOTUB

to persist in yIOPHO MPOJOIKATh YTO-]I.
to praise for XBaIUTh 3a

to prevent from npensTCTBOBAaTh, MEIIATh
(cmenarp 4TO-J1.)

to punish for Haka3bIBaTh 32

OXKHnNJaaTb C

to rely on nonaratbcsi Ha

1o sentence for IpUroBapuBaTh 32
to speak of ynomuHartsb o

to stop from ynepxuBatb(csi) OT
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to have no difficulty in(with) ve numMmethb
3aTpYAHECHUN B

to hear of ycnplath 0, y3HaTh O

to  help in 1nomorath, OKa3bIBaTh
COJCUCTBUE B

to insist on(upon) HacTauBaTh HA

to learn of y3HaBathb 0

to succeed in ynaBaTbCsl, UMETh yCIIEX B

to suspect of T0103peBATH B
to thank for 6naronaputs 3a

to think of nymats 0

to be afraid of 60sTbCS YETO-1I.

to be aware of 31aTh, oTIaBaTh ce0€ OTUYET
B
to be busy in(with) ObITb 3aHATHIM YEM-JL.

to be capable of 6b1TH CIOCOOHBIM Ha

to be conscious of ObITb 4YyBCTBYIOIINM
YTO-J1., 0CO3HABAThH YTO-II.

to be fond of moOuUTHL 4TO-1.

to be guilty of 6bITb BUHOBHBIM B

to be indignant at BO3MymaThCA 1O
MOBOJlY YEro-JI.
to be ignorant of He 3HaTH 4ETO-II.

to be keen on ObITh YBICUECHHBIM YEM-II.,
CUJIBHO KEJIAIOIIUM YTO-JI.

to be proud of TopANTHCA YEM-IL.

to be responsible for oTBe4aTh 3a YTO-II.

to be sorry about coxaneTs o
to be sure of ObITh YBEpEHHBIM B

to be(get) accustomed to  ObITh
MIPUBBIYHBIM K (IPUBBIKHYTH)

to be(get) used to ObITb TPUBBIYHBIM K
(TIPUBBIKHYTBH)

to be absorbed in ObITb YyBICUECHHBIM
(TIOTJIOIIEHHBIM ) YeM-]1.

to be engrossed in ObITH YBIEUECHHBIM

(TOTJIOIICHHBIM ) YeM-J1.

to be pleased (displeased) with (at) 6bITh
JOBOJIBHBIM YeM-JI.
to be surprised
YIUBISATHCS YeMY-JI.
to be tired of ycra(Ba)Th OT yero-i.

(astonished) at

to be worth (while) ObITH IOCTOMHBIM
(3acy>KMBaOIIMM) YETO-J1.

I'marouibl, 32 KOTOPBLIMH OOBIYHO CJIEAyeT repyHauil

to admit nonyckatb, HpU3HABATh

to appreciate BBICOKO IICHUTh, IOHUMATD,
IIpUHUMATh BO BHUMaHHE
to avoid vzberathb

to burst out (crying/laughing)
pa3pa3uThCs (Cae3aMu/CMEXOM )

to consider paccMaTpuBaTh, 00 yMbIBaTh
to contemplate pasrisabpIBaTh,
00JTyMbIBaTh

to delay 3anepxuBaTh, NPEMATCTBOBATH

to deny oTpuLaTh

(can’t) help ne ™Moub ynepxxarbcs, He
MOYb IIPEIOTBPATUTH
to imagine BooOpaxath, 1mojaraTh

to involve  BOBIEKaTh,
BKJIIOYATh B ce0sl, COAEPKATh
to keep (on) mposiomkaTh (€1aTh 4TO-I1.)

BBI3BIBATH,

to leave off nepecraBath (J1€J1aTh 4TO-I1.)
{0 mention yioMUHaTh, CChUIAThCS Ha
to mind BO3paxaTb, HMETh YTO-THOO
MIPOTHUB

t0 miss TIPOIYCTHUTb,
4ero-Ji.

YKIIOHUTBCA OT

98




to detest HEHaBUJCTD,
MATaTh OTBPAILICHHE

to dislike ve moOUTH

to endure TIOABEpraThCs
MIPOJIOKATHCS

to enjoy 1iony4aTh YJI0BOJIBCTBUE OT
to escape n36exaTh

to excuse U3BUHATHCSI

to face cToATH MIEpe YeM-I1.
to fancy  moJarars,
HPaBUTHCS

to finish 3aKOHYUTH

to forgive npoiaTh

HC BBIHOCHUTD,

yemy-I.,

BOOOpaXKarh,

to postpone OTKJIaAbIBaTh

1o practice IPaKTUKOBATHCS, YIPAKHATHCS
to put off oTKIIaIbIBATH

to recollect BcnoMHHATh, TPUIIOMUHATH
to resent BO3MYIIIAThCs, OOMKAThHCS

10 resist CONPOTUBIIATHCS, TPOTUBOCTOATh
to risk puckoBathb

(can’t) stand (1¢)BBIHOCUTH

to suggest nnpeajiaratb
to understand noHUMAThH

I'aarogasl, 3a KOTOPBIMU cJIey
0e3 pasHULbI

eT repyHauil Wiv UH(PUHUTHB
B 3HAYECHUH

1 |begin, start, continue, cease He began working/to work.

(n1Be —ing GhopMbI OOBIYHO HE The days are beginning to get shorter.
yIoTpeOJIIOTCS)

2 |can’t bear, can’t afford I can’t bear waiting/to wait.

3 |intend I intend writing/to write an article.
(ecnu 3a riarosnom intend crienyer I intend him #o take over the department.
JOTIOJTHEHUE, YIOTPEOIIsIeTCs
uHOUHUTHUB. Takast KOHCTPYKIIHS
ynoTpedsieTcs TONbKO B (POpMaJIbHOMN
peyn.)

4 \advise, allow, forbid, permit, He advised me to apply at once.
recommend He advised applying at once.

(ecnu 3a riaronamu ciemyer
JOTIOJIHEHHUE, YIOTPEOIIsIeTcs
WHOUHUTHUB, €CITU TIOTIOJTHEHHS HET,
yIoOTpeOISIeTCS TePYHINIA. )

5 |need, require You need to improve your knowledge of
(32 BBIICYTOMSIHYTBIMHU J1aroJIaMH English.

MOXET CJIeI0BaTh HH(ODUHUTHUB C fo0, Confidential information needs
repyHaui uiu nHQUHUTHUB B TAaCCUBHOM |protecting/to be protected.
dbopwme.)
I'narogbl, 32 KOTOPBLIMH cJIeAyeT repyHAUN UM HMH(PUHUTUB
¢ pasHMLEeH B 3HAYCHUM
1.|[forget + to-inf (3a0b1Th uTO-1. cAenath) |I’m sorry, I forgot to switch off the

orget + -ing form (3a0bITH O TIPOIILIIOM

computer.
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COOBITHH - y1'[OTp66JI$ICTCSI TOJIBKO B
OTPHUIATCIIbBHOM CMBICJIC)

I’1l never forget using the Internet for
the first time.

2.[remember + to-inf (He 3a0bITh uTO-11.  |Remember to read the instructions.
cenaTh) I remember reading about the
remember + -ing form (Bciomuuth 0 |earthquake in the papers.
MIPOIILJIOM COOBITHH)

3.|mean + to-inf (HamepeBaThCs YTO-II. She means to find a job abroad.

CIeJaTh)
mean +-ing form (BKII0YaTh B ceO4,
COJIEPIKaTh)

Studying harder means getting better
marks.

.\go on+ to-inf (3aKOHYUTH JeaTh YTO-II.

1 Ha4aTh AejIaTh YTO-JI. CIIe)
g0 on + -ing form (TIPoI0TKATh)

After finishing his BA, he went on to
get a master’s degree.

He went on talking about his
experiment.

5.|regret + to-inf (coxxanetp) I regret to say that you have failed your
. exam.

regret + -ing form (BICKasaTh I regret being unfair to my colleagues.
COYKaJICHHE TI0 TTOBOJTY TOTO, UTO YK€
C/ICJIaHO, U3MCHHUTHh MHCHHE O TOM, YTO
CIeJIaHo)

6.\would prefer+ to-inf (oco6oe I’d prefer to have an early night tonight.
MPEANOYTEHHE) I prefer doing everything myself to
prefer + -ing form (oOuee asking somebody’s help.
MIPENIOYTECHHE) I prefer to do everything myself (rather)

prefer + to-inf + (rather than) +inf
without to

than ask for somebody’s help.

7.|try + to-inf (nenathb Bce 0T ceOs He tried hard to cope with his new job.
3aBUCAIIIEE, MBITATHCS )
try + -ing form (cnenath 4To-J. B Try phoning John at the office if he’s
MOPSJIKE SKCIEPUMEHTA) not at home.
8.|want+ to-inf (xoTeTh) I want to find a better job.
want + -ing form (Hy>XJ1aTbCsl B TOM, The device wants reparing.
9TOOBI ICHCTBUE, BEIPAKCHHOE
repyHanem, ObUIO CENAaHO)
9.|stop + to-inf (BpeMeHHO TIpepBaTHCH) I stopped to give explanations to my
stop + -ing form (3aKOHYUTH, group mates.
MIPEKPATUTD ) I can’t stop him talking to the press.
10.|be sorry+ to-inf (coxxanetb) [’m sorry to hear that you have failed
be sorry for + -ing form (u3BuHATHCs) [the exam.
I’m sorry for misunderstanding/having
misunderstood what you said.
11.|hate + to-inf (coxanetb, uyBcTBOBaTh |l hate to interrupt you, but I must talk

ceOs1 HEeJIOBKO I10 moBoay TOro, 4To

coOupaenibCs CAENATh)

to you.
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hate + -ing form (4yBCTBOBaThH I hate making you feel uncomfortable.
COYKaJICHHE TI0 MTOBOJY TOTO, UTO

IS 111)
12.|be afraid + to-inf (605THCS1 YTO-I1. She was afiaid to protest. (so she kept
CIeTaTh) quiet).

be afraid of + -ing form (6osatbcs Toro, [She didn’t tell him about the experiment
YTO JIEUCTBUE, BEIpAXKEHHOE TepyHaueM, (because she was afraid of upsetting
MO>KET MMPOU3OUTH ) him.

CJ105)KHBIH repyHAMATBHBIA 000POT

CnoxxHbI TepyHAMAIBbHBIA O00OPOT — 3TO COYETAHHE MPUTAKATEIHHOTO
MECTOMMEHUSI WJIM CYIIECTBUTEILHOIO B MPUTSKATEILHOM WM OOIIEM MaJexe C
repyHJHeM, BBICTYNalOIIee B TMPEIOKEHUU KaK €IUHbIN - (CIOXKHBIN) dWiIeH
npemsiokeHus. Takue 000pOTbI  OOBIYHO TMEpPEBOASTCS Ha PYCCKUU  SI3BIK
IIPUIATOYHBIM IPEAJIOKEHUEM.

Kak enuHbIil 4ieH NpenyioKeHUs CIOXKHBIM TepyHAHAIbHBIA 000POT MOXKET
BBITIOJIHATD B MPEJIOKEHUU PA3IUUHbIE (DYHKIINUU:

Dynkuyuu Ilpumepoi Ilepesoo
1. Caoxuoe John’s doing it at once is CoBeplilieHHO HE0OX0ANMO,
nojJjie;Kaniee absolutely imperative. yT0OBI JI>)KOH cliena 3To
HEMEJICHHO.

2. CroxHoe The potential of a conductor. |[loTeHtuan mpoBoHUKA

JAOMOJTHEHHE rises because of the electrons |noBwIIaeTCsA M3-3a TOrO, YTO
being crowded upon a AJIEKTPOHBI CKAIIMBAIOTCS Ha
conductor. MIPOBOJTHUKE.

3. Cio:xkHO€ The process of one substance |IIporiecc cMemMBaHUS OJTHOTO

onpejaeseHne mixing with another is called [BemiecTBa ¢ Apyrum Ha3bIBaeTCS
diffusion. b dyzuei.

4. Ci0:xxHO€ By our increasing the VYBenuuuBas JaBlI€HUE, Mbl

00CTOSITEILCTBO. |pressure we increase the force |yBenuunBaeM cuily TpeHUs.
of friction.

Practice

Exercise 1. State the form of the Gerund. Translate the sentences into Russian.

1.1 don’t think the collection of essays is worth reprinting.

2. Getting several viewpoints is vital.

3. Can you recall having mentioned the fact to anyone?

4. After having been rejected by a dozen magazines, the article was published in
The Globe.

5. Walking, riding, flying, dancing and so on are all familiar examples of
motion.

6. Each specimen is tested again after being lowered into the acid.
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7. We know of wood having been used as structural material in prehistoric
times.
8. Apologizing for having stayed so long he asked Andrew to proceed with his
investigation.
9. After all the data being obtained, the crystal was taken from the oil-bath.
10. Induction is a method of charging a conductor from a charged object which
does not require bringing the two into contact.

Exercise 2. Use the correct form of the Gerund of the verb in brackets.
Translate into Russian.
1. Why do you avoid (see) me?
2. He tried to avoid (see).
3. We insist on (send) him there at once.
4. He insists on (send) there instead of me.
5. Do you mind (examine) the first?
6. The equipment must go through a number of tests before (install).
7.1 don’t remember (ask) this question.
8. We know of the work (carry out) in this laboratory.
9. He liked to do things without (disturb) anyone or (disturb).
10. You never mentioned (speak) to them on the subject.
11. This is the result of our (not specify) input or output variables for the network.
12. In spite of (meet) with failure they continued experimenting.

Exercise 3. Join two sentences to make one sentence using the Gerund. Use the
following expressions: it is (of) no use, it is useless, it is (no) good, it is
(not) worth (while), there is no point in.

Model: Don’t worry about it. It’s no use.
It’s no use worrying about it.
There is no point.in worrying about it.

Don’t speak of the matter. It’s useless.

Consider the purpose of the investigation. It may be useful.
Don’t buy a second-hand car. It’s a waste of money.

Don’t try to escape. It’s no use.

Don’t learn rules without examples. It’s useless.

Don’t study if you are feeling tired. There is no point.
Think over the effects I have just described. It’s useful.
Don’t even try to persuade him. It’s a waste of time.

XA B WD =

Exercise 4. Complete the sentences using the Gerund or the Infinitive of the verb
in brackets. Remember the usage of the preposition to in every case.
1. I’m accustomed to (work) hard.
2. In addition to (be) a tool of science, mathematics is also an art form.
3. We are looking forward to (carry out) this investigation.
4. This allows fine technological operations to (automate).
5. He can’t get used to (log on) with a password.
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6. Our boss objects to (use) any different method.
7. Are you accustomed to (ask) questions you cannot answer?
8. They objected to (use) greater voltage in this case.
9. A PC 1s powerful enough to (support) high level language programming.
10. He objected to (pay) expensive telephone calls for Internet access.
11. He said he wasn’t used to (speak) in public.
12. Hard work is the key to (pass) examinations.
13. 1 want to (upgrade) my computer.
14. He was the first to (realize) the difficulty of the situation.

Exercise 5. Complete the sentences using by+tthe Gerund. Use one of the

Sfollowing:
adjust the position of the rods. tell the truth
burst into tears use a powerful crane
change resistance use a search engine
drive too fast use blue laser light
slide down a rope. work regularly
strike the half-hour

. You can put people’s lives in danger .

. You can improve you English .

. They escaped .

. You will achieve a lot .

. She frightened her friends .

. Balancing is done .

. The hall clock greeted us .

. The reostat controls current strength .

. We were able to discharge the boat in 24 hours .
10. DVD drives read DVD disks = .

11. You can find information on the Internet .

OO LN B~ WD —

\O

Exercise 6. Write the correct preposition and write the correct form of the
Gerund.

. He always depends  (get) help from other students.

. Why did they insist  (do) everything themselves?

. Did Mr. Johnson finally succeed  (solve) that problem?

. You shouldn’t rely  (get) assistance from other people.

. Our teacher doesn’t approve  (study) late at night.

. He’s really quite capable  (complete) the work by himself.

. She was proud  (finish) the work in such a short time.

. Mr. Foster constantly worries  (lose) his position.

. The bad weather prevented them  (leave) last Friday.

. I’m not particularly fond  (attend) lectures.

.You can access many free and legal music files = (download)  (visit)
www.mp3.com.

—_ O O 0 JON LNk LW~
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Exercise 7. Here are some common set expressions with the Gerund. Match them
with the explanations below.
1.It's no use crying over spilt milk a. No one knows/No one can tell.
(proverb).
2. There's no knowing/telling (what he'll b. 1 don't need to tell you.
do).

3. It goes without saying ... c. People often have strange likes and
dislikes.
4. There's no accounting for taste. d. There's no point in making fuss about

something we can't put right.

Exercise 8. Match A and B. Translate the sentences.

A B

1. We very much appreciate a) my leaving till the next day:.

2. He strongly denied b) their meeting that afternoon.

3. We enjoyed c) her taking more responsibility.

4. The chairman suggested d) the band's playing very much.

5.1 agreed to delay e) our postponing the question till later.

6. He should consider f) your helping us.

7.1 can't excuse g) your meeting Miss Brown!

8. You must pardon h) our escaping.

9. Would you mind 1) Jim arriving so late.
10. 1 can't bear j) you /your bringing me breakfast in bed.
11. They can't prevent k) Jane practicing in the room next to yours?
12. Please forgive ) him/ his whistling when I'm trying to

concentrate.

13. I really miss m) her not answering our invitation.
14. Fancy n) my not getting up.

Exercise 9. Choose the Gerund or the Infinitive to complete the sentences.
1. My friend promised (return) the book very soon.
2. Most people enjoy (write) letters to their friends.
3. Have you ever considered (try) something different?
4.1 would appreciate (hear) from you as soon as possible.
5. Would you mind (wait) for 15 or 20 minutes?
6. We don’t dare (suggest) that possibility to them.
7.1 can’t stand (listen) to his complaints any longer.
8. Don’t switch off without (close down) your PC.
9. Please stop (interrupt) me in the middle of a sentence.
10. Smith claims (be) an expert on that particular subject.
11. You needn’t learn how to (program) in HTML before (design) web pages.
12. Why do you always put off (write) to your friends?
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Exercise 10. Supply the correct forms of the Gerund or the Infinitive. Give two
forms where both are possible.

1. Do you remember (use) a smartcard for the first time?

2. Remember to post the letters on your way home.

3.1’d prefer (pretend) I didn’t hear what you just said.

4.1 prefer (borrow) books from the library to (buy) them.

5. Ann was afraid (add) an extension board herself.

6. ’m afraid of (lose) sensitive information.

7. She began (test) the sample.

8. We had to postpone (upgrade) his PC.

9. He tried to (hack into) the system without (know) the password.

Exercise 11. A. Look at the HELP box and decide if the —ing form in these
sentences are gerunds, present participles or adjectives. Write g, pp
or a.

HELP box

The —ing form
We use the —ing form in three ways:

1. Rendering includes lighting and shading.

2. We are designing a new car on a computer.

3. They use special applets to create amazging fractals.

In 1, rendering is a gerund (see below), acting as the subject. Lighting and
shading are also gerunds, acting as the objects. 4 gerund refers to an activity or
process.

In 2, designing is a present participle. This is used in continuous tenses (in the above
example, the present continuous) and reduced relative clauses.

... a representation showing the outlines of all edges.
(= which shows the outlines...)
In 3, amazing is an adjective.
We use gerunds in the following ways.
As the subject of a verb
Compositing is combining parts of different images to create a single image.
As the complement of the subject
Compositing is combining parts of different images...
As the object of a verb
[ enjoy editing pictures.

As the complement of a verb
This course involves painting and drawing in various media.

Some verbs are followed by the gerund, not by the infinitive (e.g. avoid, fancy,
finish, give up, hate, imagine, involve, keep, look forward to, mind, suggest,
enjoy)
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. PCs generate graphics by performing mathematical calculations on data.

. Business people use graphics to make information more interesting visually.

3. Graphs and diagrams can be more effective ways of communicating with clients
than lists of figures.

4. She is designing a logo for the company.

. If you need to make a presentation, I suggest using PowerPoint.

6. The Internet is a network linking other networks.

N —

9,

B. Correct the mistakes in these sentences. There are seven
mistakes in total.

. Computer animation is the process of create objects which move across the screen.
. Texturing involves add paint, colour and filters to drawings and designs.

. You can open the colour palette by click on the corresponding icon.

. CAD programs are very fast at to perform drawing functions.

. A lot of time and money is saved by test a car design before to make the product.

. To render refers to the techniques used to make realistic images.

NN AW =

Exercise 12. Translate the text paying attention to the role of the Gerund in the
sentences.

Automation in the research process.

Our goal should be automating the routing and thereby leave more time for the
creative process.

With that word of caution, let’s proceed by arbitrarily dividing research into
three stages and examining each stage to find what functions of the research process
might be automated without endangering creativity. Stage one includes the dreams,
the ideas, the exploratory work, selecting the problem, setting the objective, testing
technical feasibility, and searching the literature. Stage two involves planning the
experiment, conducting the experiment, checking the alternates, data taking, and data
evaluation. Stage three is the solution of the problem — drawing conclusions and
making recommendations.

Although there is a great deal of creativity involved in state one, there are also
opportunities for automation. The burden of keeping up with the literature even in
one’s own restricted field is becoming heavier with each passing year. The mass of
reading necessary to make a literature search has increased immensely. Advances in
computer technology have made possible storing and quick retrieving essentially all
the scientific literature.
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